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Disabled 0, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 1, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 2, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 3, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 4, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 5, Hold=35, Fit Intercept vs 18*Chip+Chan
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| Enables off, ADC Mean vs 18*Chip+Chan |
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Enable 0, Hold=35, DAC=0, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=14000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=16000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=18000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=20000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=22000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=24000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=26000, ADC Mean vs 18*Chip+Chan

14000

12000

10000

8000

6000

4000

||||||||||||||||||||||||r$||
s
®
[
?
%
.0
[ ]

2000

f

0 20 40 60 80 100
Enable 0, Hold=35, DAC=26000, ADC Noise vs 18*Chip+Chan
40 —
35—
- ®
30 :—
25
20f- + +
+
10f $
NS A A
55 o ¢
: | | | | | | | | | | | | | | | | | | | | | | |
0 20 40 60 80 100




Enable 0, Hold=35, DAC=28000, ADC Mean vs 18*Chip+Chan

16000

14000

12000

10000

8000

6000

4000

2000

I|III|III|III|III|III|III|[‘I|I

20 40 60 80 100

Enable 0, Hold=35, DAC=28000, ADC Noise vs 18*Chip+Chan

45

40

35

30

25

N
o

[EEN
a1

=
(@]

o wul
o -y

%
} ’
i i

20 40 60 80 100




Enable

0, Hold=35, DAC=30000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=32000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=34000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=36000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=38000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=40000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=42000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=44000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=46000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=50000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=52000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=54000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=56000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=58000, ADC Mean vs 18*Chip+Chan
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30000

25000

20000

15000

10000

5000

o

BRRRARRNRARRNRRRRRRRRRERRRRS N
s
°
°
]
s
°
$
°
°

20 40 60 80 100

Enable

0, Hold=35, DAC=60000, ADC Noise vs 18*Chip+Chan

30

25

20

15

=
o

Fy

o1

C3||||||
)
o
N
o
o
o
0
o
H
o
S

+
e &Mﬁ#ﬂé ﬁ@




Enable 0, Hold=35, DAC=62000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=0, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=14000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=16000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=18000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=20000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=22000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=24000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=26000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=28000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=32000, ADC Mean vs 18*Chip+Chan
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1, Hold=35, DAC=36000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=40000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=44000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=46000, ADC Mean vs 18*Chip+Chan

25000 |—
e® @ ® o° () (] ®
B ® o L ® ¢ o oo
20000 |—
15000 —
10000 [—
5000 |—
o T e P P i PRSI it . . |
0 20 40 60 80 100
Enable 1, Hold=35, DAC=46000, ADC Noise vs 18*Chip+Chan

35

30

25

20

15

10

5

o Y
a&éﬁgﬁm@s&ﬁ*ﬁ@m

0 20 40 60 80 100



Enable 1, Hold=35, DAC=48000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=52000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=58000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=60000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=62000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=64000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35

, DAC=0, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=16000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=18000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=20000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=22000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=24000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=28000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=30000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=34000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=36000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=38000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=40000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=42000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=44000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=46000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=48000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=50000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=52000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=54000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=56000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=58000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=60000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=62000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=64000, ADC Mean vs 18*Chip+Chan

3000060 G0 o o 00 o o ® o o

o
25000
20000

15000

Enable 2, Hold=35, DAC=64000, ADC Noise vs 18*Chip+Chan

100 |—
B ®
80—
60—
40— +
20 :— é ¢ .

}
g.

o
o
N
o
N
o
()]
o
0]
o
H
o
o



Enable 3, Hold=35, DAC=0, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=14000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=16000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=18000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=20000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=22000, ADC Mean vs 18*Chip+Chan

12000

10000

8000

6000

4000

prrrprrrprrrpr et ie T
°
$
s
°
°
®

2000

0 20 40 60 80 100
Enable 3, Hold=35, DAC=22000, ADC Noise vs 18*Chip+Chan
20—
18—
16 — ®
- ® ¢ ¢ o
14 — o ® ®
1215

10

o
j +§+§+H+++




Enable 3, Hold=35, DAC=24000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=26000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=28000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=30000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=32000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=34000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=36000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=38000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=40000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=42000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=44000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=46000, ADC Mean vs 18*Chip+Chan

25000
o

.‘00.‘0‘.0.
20000

15000
10000

5000

III|IIII|IIII|IIII|III‘|I

o YIRS oo PADERD i o P NGRS . . |

20 40 60 80 100

o

Enable 3, Hold=35, DAC=46000, ADC Noise vs 18*Chip+Chan

35

30

25

”HHW

15

10

hi i *ﬁ Wgﬁ*ﬂ*ﬁéﬁéﬁ? P XY

I




Enable 3, Hold=35, DAC=48000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=50000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=52000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=54000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=56000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=58000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=60000, ADC Mean vs 18*Chip+Chan
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Enable

3, Hold=35, DAC=62000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=64000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=16000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=18000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=20000, ADC Mean vs 18*Chip+Chan
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4, Hold=35, DAC=22000, ADC Mean vs 18*Chip+Chan
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4, Hold=35, DAC=24000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=26000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=28000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=34000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=38000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=40000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=42000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=44000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=46000, ADC Mean vs 18*Chip+Chan
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4, Hold=35, DAC=48000, ADC Mean vs 18*Chip+Chan
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Enable

4, Hold=35, DAC=52000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=54000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=56000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=58000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=60000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=62000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=64000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=0, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=14000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=16000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=18000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=20000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=22000, ADC Mean vs 18*Chip+Chan

12000

10000

8000

6000

4000

2000

-2000

|
1
;

CD|||||
N
=)
D
o)
o
o
0
S

Enable 5, Hold=35, DAC=22000, ADC Noise vs 18*Chip+Chan

100
- °
80—
60—
40—

20_— é Qé
g "l QM?.MM




Enable 5, Hold=35, DAC=24000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=26000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=30000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=32000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=34000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=36000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=38000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=40000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=42000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=46000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=48000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=50000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=52000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=54000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=58000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=60000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=62000, ADC Mean vs 18*Chip+Chan
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Chip 0, Channel 0, Enable 0!, Hold=35, ADC Mean vs DAC | X° / ndf
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Chip 0, Channel 0, Enable 1, Hold=35, ADC Mean vs DAC |
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Chip 0, Channel 0, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 36.66/ 23
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| Chip 0, Channel 0, Enable 4, Hold=35, ADC Mean vs DAC
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Chip 0, Channel 0, Enable 5, Hold=35, ADC Mean vs DAC |
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Chip 0, Channel 1, Enable 0, Hold=35, ADC Mean vs DAC | x° I ndf 45.19/23
pO0 746.2 £ 0.7286
— pl 0.003882 + 2.294e-05
1000 — o
- °
- o®
950 —
900 [—
850 [—
800 [—
:. ®
750%
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
Chip 0, Channel 1, Enable 0, Hold=35, ADC Noise vs DAC
1 1 1 I 1 1 1 1 I 1 1 1 1 I
50000 60000 70000

||||||||||||TIIII|\)III|III TTTTTT
—@—
—@—
—@—
-0~
—@—

10000 20000 30000 40000 50000 60000 70000

o
[



| Chip 0, Channel 1, Enable 1, Hold=35, ADC Mean vs DAC
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Chip 0, Channel 1, Enable 3!, Hold=35, ADC Mean vs DAC
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Chip 0, Channel 1, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf
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Chip 0, Channel 1, Enable 5, Hold=35, ADC Mean vs DAC | X° / ndf
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Chip 0, Channel 2, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 1, Channel 6, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 1, Channel 8, Enable 0, Hold=35, ADC Mean vs DAC
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Chip 1, Channel 17, Enable 0, Hold=35, ADC Mean vs DAC
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pO 375.9 + 0.7302
pl 0.003631 + 2.256e-05

600

550

500

450

400

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

e
- @
- @

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 2, Channel 1, Enable 1, Hold=35, ADC Noise vs DAC

11
10

9

r

o
Juny
o
Ol
o
o

| Chip 2, Channel 1, Enable 1, Hold=35, ADC Residuals vs DAC |

hﬂm

JI II|II ITIII| III|I FI|I

10000 20000 30000 40000 50000 60000 70000

o



Chip 2, Channel 1, Enable 2, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

560

540

520

500

480

460

440
420

N
o
o

pl

20.24 /23
375.2 £0.7612
0.002745 + 2.278e-05

[

w
0]
Omi
|
- @

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 2, Channel 1, Enable 2, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

20000 30000

10000

o

40

000

50000

60000

70000




| Chip 2, Channel 1, Enable 3!, Hold=35, ADC Mean vs DAC | X° I ndf 5655 / 23
= po 555.2 +1.071
- pl 0.4974 + 4.167e-05
30000 — A A
- o®
25000 —
20000 —
15000 (—
10000 (—
5000 |—
e® ° | | | | | | |
O 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 1, Enable 3!, Hold=35, ADC Noise vs DAC

i)
XYY R °,* * ééééééééo‘

30

20

10

1 I 1 1 I 1
10000 20000

o

| Chip 2, Channel 1, Enable 3!, Hold=35, ADC Residuals vs DAC |

.

Ny 040000000000
0000000 ®eccoe,,

-500
]

-1000

-1500

10000 20000 30000 40000 50000 60000 70000

-2000

o
[



x° I ndf
pO0
pl

| Chip 2, Channel 1, Enable 4, Hold=35, ADC Mean vs DAC |

273123
372.5 £0.7583
0.00316 + 2.336e-05

580

v

560 ] o
540

520

500

480

460

440

420

400

38 ®

360 L

1 I 1 1 I 1 1 I 1 1 I 1 1 1 I 1
0 10000 20000 30000 40000 50000 60000

| Chip 2, Channel 1, Enable 4, Hold=35, ADC Noise vs DAC

-
70000

11

10

TTTT

ol
II|IIII|II1I|II

o
Juny
o
Ol
o
o

| Chip 2, Channel 1, Enable 4, Hold=35, ADC Residuals vs DAC |

X3

N
TTT |III |III |III |III |III

10000 20000 30000 40000 50000 60000

o

70000




| Chip 2, Channel 1, Enable 5, Hold=35, ADC Mean vs DAC | X* / ndf 35.07/23
pO 375.3 +0.7314
pl 0.00287 + 2.269e-05

560

540 o® b
520
500
480
460
440
420

400

1 1 1 1 1 1 I 1 1 1 1 I 1
40000 50000

w

[o¢)
orrr?
- '@
- @

1 I 1 1 I 1
20000 30000

| Chip 2, Channel 1, Enable 5, Hold=35, ADC Noise vs DAC
12

11

10

:Iwg |

o
|IIII|IIII|IIII|1III|

o
[any
o
ol
o
o

| Chip 2, Channel 1, Enable 5, Hold=35, ADC Residuals vs DAC |
10

N (o] o]
T H|||'|||

||| |||IITIIITIII|III
—@—
—@—
—@—

10000 20000 30000 40000 50000 60000

o
I



Chip 2, Channel 2, Enable 0!, Hold=35, ADC Mean vs DAC | X~ / ndf 6542 / 23
— po 577.2 +1.022
— pl 0.4948 * 4.936e-05
30000 F— °e® oV
— ®
25000 —
20000 —
15000 (—
10000 —
5000 |—
.'_. . 1 1 ] ] ] ] 1
O 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 10000 20000 30000 40000 50000 60000 70000

Chip 2, Channel 2, Enable 0!, Hold=35, ADC Noise vs DAC

50
40
30

¢ )t %+}+++++

0,000,%% 0 0 o

20

10

_II I::III II| TTT I|I 1 I|I TTT |I

1 I 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 2, Channel 2, Enable 0!, Hold=35, ADC Residuals vs DAC |

-

-500

-1000
o

-1500

l 1T I| FTTT | 1T I| 1T

-2000

10000 20000 30000 40000 50000 60000 70000



Chip 2, Channel 2, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

20.95/23
419.2 £0.8102
0.003742 + 2.423e-05

650

600

550

500

450

@
- @
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 2, Enable 1, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

11

10

—@—

¢ ¢

o
I|III|III|III|III|III TTT IIIW

’ %++%+++ {% ¢ é

g

20000 30000 40000 50000

o
=
o
o
o
o

60000 70000




Chip 2, Channel 2, Enable 2, Hold=35, ADC Mean vs DAC

620

600
580
560
540
520
500
480
460
440

42

x° I ndf

19.43/23
421.8 £0.7718
0.002857 * 2.262e-05

o0
..

i

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 2, Channel 2, Enable 2, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

©

[e4)

.

10000 20000 30000 40

o

000

50000

60000 70000




Chip 2, Channel 2, Enable 3, Hold=35, ADC Mean vs DAC

650

600

550

500

450

x° I ndf
pO0
pl

50.4/23
417.7 £ 0.6915
0.00329 + 2.164e-05

°rr 1
- @
- @

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 2, Channel 2, Enable 3, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

12
11

10
9
8
7
6
5
4

¢

1 1 1 1 I 1
0 10000

Chip 2, Channel 2, Enable 3, Hold=35, ADC Residuals vs DAC

12

1

N A O
—@—
-@-
—@—
—@—
o

—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—

AN o

—@—
—@—

'
]

¢

'
o)

@
—@—
—@—
—@—

10000 20000 30000

o
[

40

000

50000

60000

70000




| Chip 2, Channel 2, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 26.71/23
pO 420 +0.7258
640 pl 0.003162 + 2.209e-05

620 °e®® v
600 [

580
560
540
520
500
480
460
440
420

1 I 1 1 1 1 I 1
50000 60000

1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 I
0 10000 20000 30000 40000 70000

| Chip 2, Channel 2, Enable 4, Hold=35, ADC Noise vs DAC

| Chip 2, Channel 2, Enable 4, Hold=35, ADC Residuals vs DAC |

IIITII

$

III|IIIrIII
—@—

+ +H

10000 20000 30000 40000 50000 60000 70000

o
TTT



| Chip 2, Channel 2, Enable 5, Hold=35, ADC Mean vs DAC

620
600
580
560
540
520
500
480
460
440

420

x° I ndf
pO0
pl

17.5/23
420.7 £ 0.6687
0.002936 * 2.063e-05

[ I
o®

TTe

1 I 1 1 I 1 1
20000 30000 40

000

| Chip 2, Channel 2, Enable 5, Hold=35, ADC Noise vs DAC

12

1 I 1
50000

11

10

©

e}

| Chip 2, Channel 2, Enable 5, Hold=35, ADC Residuals vs DAC

I |r'| |’T|'| T

10000 20000 30000 40

o

000

50000

60000




Chip 2, Channel 3, Enable 0, Hold=35, ADC Mean vs DAC

700

650

600

550

500

450

x° I ndf
pO0
pl

42.82 123
465.2 £0.7813
0.003377 = 2.375e-05

re-

1 I 1 1 I 1 1 I 1 1 I
10000 20000 30000 40000

Chip 2, Channel 3, Enable 0, Hold=35, ADC Noise vs DAC

14

50000

1 I 1 1 I
60000 70000

12

10

T I| T | T

l:E
6

% f+% ;! %%

N
|III|III|III|III

‘HH+

%

10000 20000 30000 40000

o
[

50000

60000 70000




Chip 2, Channel 3, Enable 1!, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

7031 /23
649.9 + 0.8787
0.4959 + 3.652e-05

30000
[ J
25000
20000

15000

10000

5000

.."

C><iP|||
@

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 3, Enable 1!, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

60
50
40
30 %
20

IR

®

10

o®

o

Chip 2, Channel 3, Enable 1!, Hold=35, ADC Residuals vs DAC |

| @

..........'...........
oo
L
-500
-1000

-1500

-2000

10000 20000 30000 40000 50000

o
[

60000 70000



| Chip 2, Channel 3, Enable 2, Hold=35, ADC Mean vs DAC | X* / ndf 13.26 /23
pO 468.1+ 0.763
pl 0.002889 * 2.286e-05

660

640 [ A J
o®

620 o
600
580
560
540
520

500

480

N
o
o

o_ J“II|HI|III“II|IH|III“II|IH|IIWI

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 2, Channel 3, Enable 2, Hold=35, ADC Noise vs DAC

12

11

10

&}

o
TTTT

| Chip 2, Channel 3, Enable 2, Hold=35, ADC Residuals vs DAC |

. +

st

0

-2

-4

10000 20000 30000 40000 50000 60000 70000

o



Chip 2, Channel 3, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 51.35/23
p0o 462.4 £ 0.6467
700 — pl 0.003327 + 2.095e-05
— v
— [
L PY o
650 — o
600 —
550 —
500 —
to®
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 2, Channel 3, Enable 3, Hold=35, ADC Noise vs DAC

12—
o[-
= ]
Loty
: 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
Chip 2, Channel 3, Enable 3, Hold=35, ADC Residuals vs DAC |
15—
[ 3}
10— +
ol — §*§* ++ + %*++++§+ ++ %++§
. of N
: 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000



Chip 2, Channel 3, Enable 4, Hold=35, ADC Mean vs DAC

700

650

600

550

500

x° I ndf
pO0
pl

47.49123
465.7 £0.7706
0.00342 + 2.313e-05

1 I 1 1 I 1
20000 30000

o
Juny
o
(@) =N
o
o

1 I 1
40000

Chip 2, Channel 3, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

14

12

10

| TT |I 1 |I T |I

e

N

o
I |I

| Chip 2, Channel 3, Enable 4, Hold=35, ADC Residuals vs DAC |

—@—

¢ %+++ %i +++%%+

N
II|III|III|III|III|III|III|III

-
70000

60000

50000

40000

30000

20000

10000

o



| Chip 2, Channel 3, Enable 5, Hold=35, ADC Mean vs DAC | X* / ndf 22.04/23
pO 463.7 +0.7958
pl 0.003036 * 2.296e-05

660

640
620
600
580
560
540
520
500

480

N
o
o

CD_ ‘J III|III|III|III|III|III|III|III|III|I

1 1 I 1
40000 50000

1 I 1 1 I 1
20000 30000

| Chip 2, Channel 3, Enable 5, Hold=35, ADC Noise vs DAC

| Chip 2, Channel 3, Enable 5, Hold=35, ADC Residuals vs DAC |
10—
=
o
JE
£ ¢ S
RGN e
iy BN
53 }
) e T T S S
0 10000 20000 30000 40000 50000 60000



| Chip 2, Channel 4, Enable 0, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

800
750
700

650

re
600 i

pl

37.94/23
607.5 £ 0.7493
0.00323 + 2.224e-05

o

1 I 1 1 I 1 1 I 1 1 I 1 1
10000 20000 30000 40000 50000

| Chip 2, Channel 4, Enable 0, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

11

10

II|II1I|IIII|IIII|IIII|

| Chip 2, Channel 4, Enable 0, Hold=35, ADC Residuals vs DAC |

e -
PM

AN O N M O ®©

|III“II|HI|IIWIILH‘LUII|HI

'
()]

—@—
—@—
—@—
o

i

+ i%+§§

L.
’

§+{+§+{++§%

¢

o
ITT

10000 20000 30000 40000 50000

60000 70000




| Chip 2, Channel 4, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 449/23
pO 608.7 + 0.7007
pl 0.0038 + 2.113e-05

v
850 Y
o

eo®
800
750

700

650

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

| Chip 2, Channel 4, Enable 1, Hold=35, ADC Noise vs DAC

11

H
o
“II1|I

(%HII

o
|IIII|IIII|IIII TTTT IIII|

o
[

| Chip 2, Channel 4, Enable 1, Hold=35, ADC Residuals vs DAC |

+%+ ¢ “o §+%++ §+++%+%
L %++% 2 +

10000 20000 30000 40000 50000 60000 70000

10

8
6
4

OJ}II|III|III|III|III|IIJJJ‘;llII



Chip 2, Channel 4, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf

800

29.32/23
609.7 £ 0.7463
0.003001 + 2.211e-05

750

700

650

Y A
°o®

1 I 1 1 I 1 1 I 1
20000 30000 40000

o
Juny
o
(@) =N
o
o

Chip 2, Channel 4, Enable 2, Hold=35, ADC Noise vs DAC

1 1 I 1
50000 60000

-
70000

12

11

10

TG
H|IIIWIIIIIIII ITT
—@—

o
Juny
o
Ol
o
o

Chip 2, Channel 4, Enable 2, Hold=35, ADC Residuals vs DAC |

10

8

ha

6

—@—
—@—
—@—
—@—
—@—

¢

N
|III|III|III|III|III Tl III|

 Eigayt e o

g

10000 20000 30000 40000 50000 60

o
I

000 70000




Chip 2, Channel 4, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

26.74 123
605.8 + 0.6944
0.003011+ 2.144e-05

800

750

700

T
600 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ]
0

20000 30000 40000 50000I

Chip 2, Channel 4, Enable 3, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

11

10

©
TTTTTTTT]TTTT IIII|IIII|IIII|I

e

o
Juny
o
Ol
o
o

Chip 2, Channel 4, Enable 3, Hold=35, ADC Residuals vs DAC |

14
12

il

Juny
o

—@—

*ﬂ”«%ﬁf”%#* it

o & A N O N A~ O ®

?
H

olIIWIIWIII“II“II|HI|HI TTT IIW

20000 30000 40000 50000

60000 70000




Chip 2, Channel 4, Enable 4!, Hold=35, ADC Mean vs DAC |

x° I ndf

30000

25000

20000

15000

10000

5000

oo’| T
- @

pO0

pl

7037 /23
767.7 £0.9317
0.5019 + 4.99e-05

) [ A AJ

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 4, Enable 4!, Hold=35, ADC Noise vs DAC

60

50

40

30

20

10

1 I 1 1 I
60000 70000

+*+*+§++++

o......QCQQQ

¢
é

o

1 I 1 1 I 1
10000 20000

Chip 2, Channel 4, Enable 4!, Hold=35, ADC Residuals vs DAC |

-500

-1000

-1500

-2000

-2500

|||c|>|91‘r

o

10000 20000 30000 40000 50000

60000 70000



| Chip 2, Channel 4, Enable 5, Hold=35, ADC Mean vs DAC | X* / ndf 23.52/23
pO 607.4 + 0.7359
800 — pl 0.003051 + 2.137e-05
~ PY A
- o
750 [—
700 [—
650 | —
_. °
600& 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
0 10000 20000 30000 40000 50000 60000

| Chip 2, Channel 4, Enable 5, Hold=35, ADC Noise vs DAC

| Chip 2, Channel 4, Enable 5, Hold=35, ADC Residuals vs DAC |
12

o

N [¢] (e¢]

N

o

+ ;
f H*%’L%% LRI

10000 20000 30000 40000 50000 60000

A

&

o_|III|III'|\)III|III ITT III|III|'I




Chip 2, Channel 5, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

40.33/23
446.5 £0.7072
0.003309 * 2.178e-05

650

600

550

500

ov
®
eo®

I
a1
o
i?
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 5, Enable 0, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12—

o
Juny
o
Ol
o
o

Chip 2, Channel 5, Enable 0, Hold=35, ADC Residuals vs DAC |

10

®

|III|IIWIII|ILLE“JJ?1I|I

'
]

10000 20000 30000 40000 50000

o
[T

60000 70000




| Chip 2, Channel 5, Enable 1!, Hold=35, ADC Mean vs DAC | X* / ndf 9372/23
— PO 642.6 + 1.03
- pl 0.5047 + 4.442e-05
30000 — °® o9Vw
25000 —
20000 —
15000 —
10000 (—
5000 |—
—a ®
O.—, 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 5, Enable 1!, Hold=35, ADC Noise vs DAC

50 —
40 —
30—
20 — + é + + + + % * *
10— _ @ § ®
EQO 000%00,0%,° *
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 2, Channel 5, Enable 1!, Hold=35, ADC Residuals vs DAC |
00— ......‘.“‘Q.... o
Y X o 0000 o
— [
-500 |— [ )
-1000 — *
-1500 — PY
-2000 —
-2500 — o
: 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000



Chip 2, Channel 5, Enable 2, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

650

600

550

500

pl

29.64 /23
447.3 £ 0.7595
0.003157 * 2.256e-05

[ L A
o0

I
a1
OT?

- '@

- @

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 2, Channel 5, Enable 2, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

11

10

aunnny

“III TTTT III{ﬁIII|IIII|

o
[

Chip 2, Channel 5, Enable 2, Hold=35, ADC Residuals vs DAC

B o ©
II'!

AN O N

'
]

-10
-12

S {.H{»{.
d +% %{++%§% TR +§%

¢

10000 20000 30000 40

o
ITT

000

50000

60000 70000



| Chip 2, Channel 5, Enable 3, Hold=35, ADC Mean vs DAC | X* / ndf 39.68/23
p0 443.3 £0.7167
- pl 0.003314 * 2.091e-05
- v
650 — o®
- o®
600 —
550 [—
500 [—
450%—._ ®
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 2, Channel 5, Enable 3, Hold=35, ADC Noise vs DAC
1=
10 f—
J=
8
o -
J=
£
: 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 5, Enable 3, Hold=35, ADC Residuals vs DAC |

10

I IIITIIWI
—@—

i ++*++*+++

10000 20000 30000 40000 50000 60000 70000

—@—
—@—
—@—

—@—
—@—
—@—

—@—
—@—
—@—

N
II|III|III|III|III|I1I

o



| Chip 2, Channel 5, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 48.68 / 23
— po 441.9 + 0.7497
L pl 0.003338 = 2.177e-05
650 [— PY g
- o®
600 [—
550 [—
500 [—
450'!:-. ®
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 5, Enable 4, Hold=35, ADC Noise vs DAC
12

11

10

M|

o
ITT

| Chip 2, Channel 5, Enable 4, Hold=35, ADC Residuals vs DAC |
10

8

it

—@—
—@—
—@—
—@—
.
—@—
—@—
—@—
—@—
—@—
.
—@—
—@—
—@—
—@—
@
—@—

A

'
D

||||||||||||Ti||||||||||||||
—@—

'
oo

10000 20000 30000 40000 50000 60000 70000

o
TTT



| Chip 2, Channel 5, Enable 5, Hold=35, ADC Mean vs DAC | X° / ndf 48.69 /23
p0 444.2 +0.7598
pl 0.003104 + 2.237e-05

650

o
L
600

550

500

1 1 1 1 1 1 I 1 1 1 1 I 1
40000 50000

IS
a1
O'—rf
|

- @

1 I 1 1 I 1
20000 30000

| Chip 2, Channel 5, Enable 5, Hold=35, ADC Noise vs DAC

12

H
)
| T | T

§rr

N

°||||||®|||
—@—
—@—
—@—
—@—
—@—

| Chip 2, Channel 5, Enable 5, Hold=35, ADC Residuals vs DAC |

8

_I |II I|I I |II I|I II| I F$] Iqi»

’
%1‘% MH

i3

10000 20000 30000 40000 50000 60000

o



| Chip 2, Channel 6, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf

pO0

750

700

650

600

550

pl

0.0032

39.09/23
530.5 £ 0.7036
71+ 2.153e-05

00'_'

o

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

| Chip 2, Channel 6, Enable 0, Hold=35, ADC Noise vs DAC

1 I 1
60000

-
70000

11

=
o

~ o] o
7T

o

| Chip 2, Channel 6, Enable 0, Hold=35, ADC Residuals vs DAC |

12

10

[e2 2]

d & A D o N

?

*44¢ %%+§++; §§++++%++*i

{'#

10000 20000 30000 40000 50000

60000

70000




| Chip 2, Channel 6, Enable 1, Hold=35, ADC Mean vs DAC

750

700

650

600

550

°rr®
- @

x° I ndf
pO0
pl

54.9/23
530.4 £0.7678
0.003361 + 2.314e-05

1 I 1
20000

1 I 1
30000

1 I 1
40000

| Chip 2, Channel 6, Enable 1, Hold=35, ADC Noise vs DAC

11

10

50000

-
60000 70000

| Chip 2, Channel 6, Enable 1, Hold=35, ADC Residuals vs DAC

|III|III|III|III|IILL;;LLLII|TII

H%

?

¢ ¢
‘ %§ +++ % +

ot

o
I

20000

30000

40000

50000

60000 70000




| Chip 2, Channel 6, Enable 2!, Hold=35, ADC Mean vs DAC

30000

25000

20000

15000

10000

5000

c;i’ll
- @

x° I ndf
pO0
pl

5665 / 23
720.1+1.141

0.5027 + 5.385e-05

.._'_.

1 I 1
20000

1 I 1
30000

1 I 1
40000

| Chip 2, Channel 6, Enable 2!, Hold=35, ADC Noise vs DAC

60

50

40

30

20

|||4'ES
{ ]

o
o

50000

1 I 1
60000

-
70000

¢

..Q.....

LY

*449

3

t
H{fé

1 I 1
10000

1 I 1
20000

| Chip 2, Channel 6, Enable 2!, Hold=35, ADC Residuals vs DAC

-500

-1000

-1500

-2000

-2500

||]:F?T1
{ ]

o

10

000

20

000

30

000

40

000

50000

60

000

70000




Chip 2, Channel 6, Enable 3, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

740
720
700
680
660
640
620
600
580

pl

36.12/23
526.6 + 0.66
0.002979 * 2.022e-05

1 I 1 1 I 1 1 I
20000 30000 40000

Chip 2, Channel 6, Enable 3, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

12

10

Chip 2, Channel 6, Enable 3, Hold=35, ADC Residuals vs DAC

14
12

10

S

%
SAXNIURR %

¢

XN

¢

%

/!

10000 20000 30000 40000

o
[

50000

60000

70000




Chip 2, Channel 6, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 20.03/23
p0o 527 +0.8127
o= pl 0.003219 + 2.56-05
~ v
~ P
— o0
700 |—
650 [ —
600 [—
550 [—
ge®
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 2, Channel 6, Enable 4, Hold=35, ADC Noise vs DAC

12

H
o
|'I T | T

||'|T|Q|

Chip 2, Channel 6, Enable 4, Hold=35, ADC Residuals vs DAC |

12

N

g

N o

¢
+++ m%fr##m jé‘} : #H

10000 20000 30000 40000 50000 60000 70000

A

|III|III|III|III|ILLELL£FIII[II

'
[«

o
[



Chip 2, Channel 6, Enable 5, Hold=35, ADC Mean vs DAC | x° I ndf 21.5/23
po 528.5 + 0.718
750 — pl 0.00337 + 2.231e-05
— v
— °® o
700 —
650 |—
600 [—
550 [—
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
0 10000 20000 30000 40000 50000 60000
Chip 2, Channel 6, Enable 5, Hold=35, ADC Noise vs DAC
12|
10—
s
([ 3
6[— % % + %
al_ %
B 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
0 10000 20000 30000 40000 50000 60000

Chip 2, Channel 6, Enable 5, Hold=35, ADC Residuals vs DAC |

12

10

A

8

? ¢
ARLANIR 4ttt ﬂf

10000 20000 30000 40000 50000 60000

|||||||||||||||“v||fﬁ|||||1|

o
[



| Chip 2, Channel 7, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf

pO0

600

550

500

450

400

33.4/23
380.1+0.7826

pl 0.00324 + 2.452e-05

o_ ‘JI T |I T |II II| T II| T

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

| Chip 2, Channel 7, Enable 0, Hold=35, ADC Noise vs DAC

-
70000

12

11

10

| Chip 2, Channel 7, Enable 0, Hold=35, ADC Residuals vs DAC |

14

12

10

)
!

"

oJIII|III|III|III|III|II

10000 20000 30000 40000 50000 60000

70000




Chip 2, Channel 7, Enable 1, Hold=35, ADC Mean vs DAC |

x° I ndf

32.74 123

p0 380.3 £0.7641
600 — pl 0.003224 + 2.264e-05
- [
N o®
550 —
500 [—
450 [—
400> @
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
Chip 2, Channel 7, Enable 1, Hold=35, ADC Noise vs DAC
1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000
Chip 2, Channel 7, Enable 1, Hold=35, ADC Residuals vs DAC |
12
10,
)=
9
==
SR IPTCIR I RIS
=1 ¢ *79 4.4 3 ¢l e
P= +
JE ¢ ¢
=
: 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000




| Chip 2, Channel 7, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 19.66 / 23
pO0 381+ 0.8237
pl 0.003204 + 2.533e-05

600

"

o"
Y

550

500

450

400

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

o_ .J TTTT |I T I| T TTT |I 1 I|
o

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 2, Channel 7, Enable 2, Hold=35, ADC Noise vs DAC
12

11

10

©
IIIWIIIWIII”IIIWIIIWIIIW

| Chip 2, Channel 7, Enable 2, Hold=35, ADC Residuals vs DAC |

1
; ;* % % + +%%

20000 30000 40000 50000 60000 70000

o N
||||||||| |||||||||||||||||
—@—
—@—
—@—
—@—
—@—

o
=
o
o
o
o



Chip 2, Channel 7, Enable 3, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

580

pl

560
540
520
500
480
460
440
420

400
380

23.03/23
378.4 £0.7514
0.002913 * 2.309e-05

TTe

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 2, Channel 7, Enable 3, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

11

1

0
9
8
7
6
5
4

0

1 1 1 I 1
10000

Chip 2, Channel 7, Enable 3, Hold=35, ADC Residuals vs DAC |

12

o

N O N

A

'
»

+
,L % +
++%++§%++§% MRS

!

o 5 O o
III|III|III|III|III|III TTTTTTT

10000 20000 30000 40000 50000

60000 70000



Chip 2, Channel 7, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

580

16.42 /23
378.5+0.715
0.003034 * 2.165e-05

560
540
520
500
480
460
440
420

400

380

e

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 7, Enable 4, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

11

10

©

(o9}

Chip 2, Channel 7, Enable 4, Hold=35, ADC Residuals vs DAC |

15

Q|'||

10

[T
—@—

o
I| FTTT |I T |

++ O e T §§§f+
¢4 ls *§++ ¢ $+ R ¢

10000 20000 30000 40000 50000

o

60000 70000




|  Chip 2, Channel 7, Enable 5!, Hold=35, ADC Mean vs DAC | X* / ndf 6202/ 23
po 564.1+ 0.9509
pl 0.4991+ 4.557e-05

30000 Py
o

25000
20000

15000

10000

5000

1 1 1 1 1 1 1 1 1 1 1 1 1 1
40000 50000

C;iPIII
-@

1 I 1 1 I 1
20000 30000

| Chip 2, Channel 7, Enable 5!, Hold=35, ADC Noise vs DAC

45
40
35

30

: % SEUNRS

15 é
’QQ..DQQ.QQ é éé

10

1 I 1 1 1 1 1
0 10000

1 I 1
20000

| Chip 2, Channel 7, Enable 5!, Hold=35, ADC Residuals vs DAC |

200

’WTF

0

-200
[ J

-400 o
-600
-800

-1000

-1200

10000 20000 30000 40000 50000 60000

o



Chip 2, Channel 8, Enable 0, Hold=35, ADC Mean vs DAC |

650

600

550

500

450

01_Tq:LII II| TTT I|I TTT |II II| TTT

x° I ndf
pO0
pl

24.04 /23
434.5+0.764
0.003419 * 2.313e-05

1 I 1
20000 30000

1 I 1
40000

Chip 2, Channel 8, Enable 0, Hold=35, ADC Noise vs DAC

13

12

11

10

e}

50000

-
60000 70000

Chip 2, Channel 8, Enable 0, Hold=35, ADC Residuals vs DAC

15

=
o

(&)

RJl
&

!

%+++++%++ ;

%

+%++%+++ %§

o
[T

20000 30000

40000

50000

60000 70000




| Chip 2, Channel 8, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 27.08/23
pO 435.5 +0.8022
pl 0.00332 + 2.31e-05

650 o

600

550

500

450,

‘1I T |I T |I T |II 1 |II
o

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 2, Channel 8, Enable 1, Hold=35, ADC Noise vs DAC

11

10

T ﬂ\‘IIII

N

II|IIII|IIII|III
—@—

o
Juny
o
Ol
o
o

| Chip 2, Channel 8, Enable 1, Hold=35, ADC Residuals vs DAC |

H*
$1i100 4
+ ”%H

20000 30000 40000 50000 60000 70000

'
]

o
=
o
o
o
o



Chip 2, Channel 8, Enable 2!, Hold=35, ADC Mean vs DAC |

x° I ndf

30000

25000

20000

15000

10000

5000

OOQ| T
@

pO0
pl

8136/ 23
632.9 +1.069
0.5126 + 4.951e-05

[ X A

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 8, Enable 2!, Hold=35, ADC Noise vs DAC

45

40

35

30

25

20

15

10

T

1 I 1 1 I
60000 70000

¢

oééé’

§ oo
; ;i Hﬂ

“e000%0

¢

Chip 2, Channel 8, Enable 2!, Hold=35, ADC Residuals vs DAC |

-500

-1000

-1500

-2000

-2500

-3000

||Tﬂ1‘|‘
[ )

10000 20000 30000 40000 50000

o
TTT

60000 70000



| Chip 2, Channel 8, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 52.11/23
pO 432.8 +0.6626
pl 0.002989 + 2.076e-05

650

600 ®

550

500

450

1 1 I 1
50000 60000

O'T_:n T I| T I| T TTT | TTTT |
o

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 2, Channel 8, Enable 3, Hold=35, ADC Noise vs DAC
12

11

10

o
|W||||“||||H||
—@—
—@—

o
Juny
o
Ol
o
o

| Chip 2, Channel 8, Enable 3, Hold=35, ADC Residuals vs DAC |
12
10,

8
6
4

¢
* o

—@—
-0

10000 20000 30000 40000 50000 60000 70000

'
o)

© III|III|III|III|HI|III|llJJ‘lllII




Chip 2, Channel 8, Enable 4, Hold=35, ADC Mean vs DAC

650

600

550

500

450

x° I ndf
pO0
pl

44.86/ 23
433.7 £0.7008
0.003159 * 2.06e-05

C’jr1=LI T I| TTTT | TTTT |I 1 I|
- @

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 2, Channel 8, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

11

10

O

[ee]

~

»

w

oJIIIIbIIIImIIII|IIII|IIII|II

Chip 2, Channel 8, Enable 4, Hold=35, ADC Residuals vs DAC

12

10,

—@—
—@—
—@—

¢ f§;++++i

o

: =

- —@—
o

- o
—@—

it

et

f

2%

10000

o
I

20000 30000 40000

50000

60000 70000



Chip 2, Channel 8, Enable 5, Hold=35, ADC Mean vs DAC

650

600

550

500

450

x° I ndf
pO0
pl

41.92 /23
433.5 £0.7792
0.003154 * 2.288e-05

0'7_1:u FTTT | T I| FTTT | TTTT |
L

1 I 1 1 I 1 1
20000 30000 40

000

Chip 2, Channel 8, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

12

10

Chip 2, Channel 8, Enable 5, Hold=35, ADC Residuals vs DAC

[ee]

N

by

—@—
—@—
—@—
—@—

N O

A

'
]

;
RUINS it % e

%

s~ O
© |III|III|III|III|III 1 III|1I

10000 20000 30000 40

000

50000

60000




Chip 2, Channel 9, Enable 0!, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

7284123
570.6 +1.044

0.4959 + 4.598e-05

30000 A A

eo®
25000
20000

15000

10000

5000

C;iPIII
-@

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

Chip 2, Channel 9, Enable 0!, Hold=35, ADC Noise vs DAC

-
70000

60
50
40
30

20

é +§§§++é+§

JEny
o

.9.00.0900,0

@
@

1 I 1 1 I 1
10000 20000

Chip 2, Channel 9, Enable 0!, Hold=35, ADC Residuals vs DAC |

| 8

-500

-1000

-1500

-2000

10000 20000 30000 40000 50000 60000

o

70000




Chip 2, Channel 9, Enable 1, Hold=35, ADC Mean vs DAC

x° I ndf

26.61/23

p0o 372.4 +£0.7272
600 — pl 0.003383 + 2.138e-05
- o’
— o
550 —
500 |—
450 [—
400 |—
e
1 1 1 I 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
Chip 2, Channel 9, Enable 1, Hold=35, ADC Noise vs DAC
1 1 I 1 1 I 1 1 I 1 1 I 1 1 I 1 1 I 1 1 I
10000 20000 30000 40000 50000 60000 70000
Chip 2, Channel 9, Enable 1, Hold=35, ADC Residuals vs DAC |
15—
| &
10 "_
5 :— + +
of- +{'++{'{'§++ +'H h. %;é‘}u 147
5 { +
: 1 1 1 I 1 1 I 1 1 1 I 1 1 I 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000




Chip 2, Channel 9, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

22.24 123
375.9 £ 0.7247
0.002387 * 2.152e-05

520

500

480

460

440

420

400

LA X J
(X J

w

[0}
o
- '@
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 9, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

11

10

©

Chip 2, Channel 9, Enable 2, Hold=35, ADC Residuals vs DAC |

10

|I T I| FTTT | T i:;:tl'l

-10

++§+*+++++§%%+ %§%++%++§%+; ¢

¢
?

10000 20000 30000 40000 50000

o
[T

60000 70000



Chip 2, Channel 9, Enable 3, Hold=35, ADC Mean vs DAC |

600

550

500

450

400

x° I ndf
pO0
pl

40.91/23
370.3 £0.7787
0.003328 * 2.273e-05

°rr®
- @

1 I 1
20000 30000 40000

Chip 2, Channel 9, Enable 3, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

©

[ee]

Chip 2, Channel 9, Enable 3, Hold=35, ADC Residuals vs DAC

[T I| [T
@~

10

—@—

§+§++§++++++

o
I I|I 1 I|I 1 I|I

++++++%§

!

;
¢
+§

20000 30000 40000

o
=
o
o
o
o

50000

60000 70000




Chip 2, Channel 9, Enable 4, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

580
560
540
520
500
480
460
440
420

400

pl

17.56 /23
372.2 +0.7591
0.002996 * 2.222e-05

w

o0}
orrr%
- '@

1 I 1
20000

1 I 1
30000

1 I 1
40000

50

000

1 I 1
60000

Chip 2, Channel 9, Enable 4, Hold=35, ADC Noise vs DAC

70

|
000

12

® 5
ad

o
[

Chip 2, Channel 9, Enable 4, Hold=35, ADC Residuals vs DAC |

15

ol

10

ITTT
—@—

o
I| FTTT | 1T I|

"

; ¢
ST IPLAR Hﬁ#ﬁ% tet

+++é

o

10000 20000 30000 40000 50000

60000 70000



Chip 2, Channel 9, Enable 5, Hold=35, ADC Mean vs DAC |

540

520

500

480

460

440

420

400

x° I ndf
pO0
pl

43.411/23
372.4 +0.7301
0.002686 * 2.287e-05

w

o0}
OTF?
- '@
- @

20000 30000 40000

Chip 2, Channel 9, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

12

11

10

Chip 2, Channel 9, Enable 5, Hold=35, ADC Residuals vs DAC

15

L A

10

[T
@~

@
F—ﬂ"——A
—@—
—@—
—@—
-9
—@—
-9
—@—
—@—
F——.'——4

o
I| T TTT |I T | I

++++% ﬂﬂ%{»

o
[
o
o
o
O

20000 30000 40000

50000




x° I ndf
pO0
pl

| Chip 2, Channel 10, Enable 0, Hold=35, ADC Mean vs DAC |

40.1/23
335.7 £0.7717
0.003544 * 2.209e-05

550
500
450

400

350E.

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

o
=
o
(@) =N
S
S

| Chip 2, Channel 10, Enable 0, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

11

10

©
TTTT IIII|IIII|IIII|IIII|II

| Chip 2, Channel 10, Enable 0, Hold=35, ADC Residuals vs DAC |

12

10

A O

—@—
—@—

H# ¢

'
N

o
|III|HI|III“II|IIIIII TTT

g,
+++ +%%% +% +++

KRR

%%

10000 20000 30000 40000 50000

o
ITT

60000 70000




Chip 2, Channel 10, Enable 1, Hold=35, ADC Mean vs DAC | X~ / ndf 44.1/23
po 336 + 0.7552
~ pl 0.00347 + 2.157e-05
— o
550 — ° o
= o
500 —
450 [—
400 |—
350f_. o
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 2, Channel 10, Enable 1, Hold=35, ADC Noise vs DAC

PTlll
—@—

i
T |I'I

6t

1 I 1 1 I 1 1 1
30000 40000 50000

o
Juny
o
Ol
o
o

Chip 2, Channel 10, Enable 1, Hold=35, ADC Residuals vs DAC |

12

I

RERIIN

10000 20000 30000 40000 50000 60000 70000

o
|III|III|III|III|III|III 1T

o



Chip 2, Channel 10, Enable 2, Hold=35, ADC Mean vs DAC

| x° I ndf

400

390

380

370

360

350

32.3/23
341.2 £ 0.7405
0.0009022 + 2.238e-05

Q.

®s
¢

1 I 1 1 I 1
20000 30000

1 I 1
40000

50000 3

Chip 2, Channel 10, Enable 2, Hold=35, ADC Noise vs DAC

12

. -
0000 70000

11

10

Chip 2, Channel 10, Enable 2, Hold=35, ADC Residuals vs DAC |

T

o«

03#%;

*

-10

-15

$o¢ é++
AL tetds os

¢
AN

?

10000 20000 30000

o

40000

50000

60000

70000




| Chip 2, Channel 10, Enable 3!, Hold=35, ADC Mean vs DAC | X* / ndf 6262/ 23
— PO 517.1+ 0.9099
— pl 0.4935 + 4.132e-05
30000 |— o® 'L A
25000 —
20000 —
15000 (—
10000 —
5000 |—
—a @
O.- 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 10, Enable 3!, Hold=35, ADC Noise vs DAC
70

60

50

40

30

20

® ) CQQ o QQ
‘. " ‘. .. " "

10

o
o

1 I 1
10000

| Chip 2, Channel 10, Enable 3!, Hold=35, ADC Residuals vs DAC |

20

ﬁﬁ

0 e00000,
000000 000¢c0000,,,

-200 o

-400
-600
-800
-1000
-1200
-1400

-1600
L

10000 20000 30000 40000 50000 60000 70000

-1800

o



x° I ndf
pO0
pl

| Chip 2, Channel 10, Enable 4, Hold=35, ADC Mean vs DAC |
540

37.55/23
335.8 +0.713
0.002862 * 2.281e-05

520
500
480
460
440
420
400
380
360

w
D
om?
- '@
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

| Chip 2, Channel 10, Enable 4, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

11

10

| Chip 2, Channel 10, Enable 4, Hold=35, ADC Residuals vs DAC |

I ITII

N
I|III|I II|III|I II|III

20000 30000 40000 50000

o
=
o
o
o
o

60000 70000




Chip 2, Channel 10, Enable 5, Hold=35, ADC Mean vs DAC |

430

x° I ndf
pO0
pl

32.58/23
337.3+£0.7774
0.001419 * 2.269e-05

420
410
400
390
380
370
360
350

g
340

1 I 1 1 I 1 1
20000 30000 40000

Chip 2, Channel 10, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

11

1

0
9
8

o
[any
o
ol
o
o

Chip 2, Channel 10, Enable 5, Hold=35, ADC Residuals vs DAC

8

S

411

10000 20000 30000 40000

o
I

50000




Chip 2, Channel 11, Enable 0!, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

7085/ 23
639.2 £ 0.9478
0.4982 + 4.25e-05

30000
o
25000
20000

15000

10000

5000

o®%"

C><iP|||
@

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 11, Enable 0!, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

50
40
30

20

+§++++§

ll 1 I| T I| TTTT | TTTT |I

10

o

Fo00 _0g9,% 044,

t
é

1 I 1 1 I 1
10000 20000

o

Chip 2, Channel 11, Enable 0!, Hold=35, ADC Residuals vs DAC |

||‘?T‘

..oooooooooooo........
LX)
Y
-500
-1000
-1500

-2000

10000 20000 30000 40000 50000

o

60000 70000



Chip 2, Channel 11, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

700

32.73/23
468.4 +0.7888
0.003461 + 2.312e-05

650

600

550

500

°rr 1@
- @
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 11, Enable 1, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

13
12
11

1

0
9
8
7
6
5
4

1 1 1 1 I 1
0 10000

* b
" %HH +

0 10000 20000 30000 40000 50000

60000 70000




Chip 2, Channel 11, Enable 2, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

480

o

460

440

420

400

380

360

340

320

lIII|II I|III|III |III|III |III|III|

300

pl

52.33/23
475.6 £ 0.6998

-0.002245 * 2.044e-05

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 2, Channel 11, Enable 2, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

11

10

ol
II|IIII|IIII|III

o

Chip 2, Channel 11, Enable 2, Hold=35, ADC Residuals vs DAC |

10

T]|qu| TTTT

T8

X

-10

-15

¢
§§§§++++ IR

t

¢ ¢ ¢
o ¢
4ot
+++

20000

30000

40000

50000




Chip 2, Channel 11, Enable 3, Hold=35, ADC Mean vs DAC |

x° I ndf

680
660
640
620
600
580
560
540
520
500

NN N
[e)] [o¢)
o

c T

pO0
pl

34.43 /23
465.3 £0.744
0.002999 * 2.162e-05

1 I 1 1 I 1 1 I 1 1 1
20000 30000 40000 50000 60

Chip 2, Channel 11, Enable 3, Hold=35, ADC Noise vs DAC

12

. -
000 70000

11

10

©

(o4}

g

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 2, Channel 11, Enable 3, Hold=35, ADC Residuals vs DAC |

15

H
° o
T | T I| FTTT |I T

&)

o

'
(&)

&

—@—

' 4
?

0450 trig s 1
+++f P44 6 §++ ¢ *

¢

10000 20000 30000 40000 50000 60

000 70000




| Chip 2, Channel 11, Enable 4, Hold=35, ADC Mean vs DAC | x° I ndf 36.36/23
pO 466.4 + 0.7585
pl 0.002956 + 2.255e-05

660

640 0 o ov
620
600
580
560
540

520

500

1 I 1 1 I
10000 20000 30000 40000 50000 60000 70000

5 b
D (o]
(=}

o
W
- @

| Chip 2, Channel 11, Enable 4, Hold=35, ADC Noise vs DAC

11

10

©

[ee]

~

()]

N

w

© |H|||H|T|H|||H|||H|
—@—
—@—

| Chip 2, Channel 11, Enable 4, Hold=35, ADC Residuals vs DAC |

I
[¢)]

e

0t
+ + %; +++ +%%%§§ ; p ++f+

20000 30000 40000 50000 60000 70000

o
=
o
o
o
o



Chip 2, Channel 11, Enable 5, Hold=35, ADC Mean vs DAC

4soE
[

460

440

420

400

380

360

x° I ndf
pO0
pl

72.57 123
472 +0.7655
-0.001629 * 2.344e-05

1 I 1 1 I 1 1
20000 30000 40

o
[uny
o
o
o
o

000

Chip 2, Channel 11, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

12

11

10

©

Chip 2, Channel 11, Enable 5, Hold=35, ADC Residuals vs DAC

o
II|I

m

i,

o

'
N

A

-10

—@—
—@—

+

o

10000 20000

30000

40

000

50000




Chip 2, Channel 12, Enable 0, Hold=35, ADC Mean vs DAC |

620

600

580

560

540

520

500

»
0]
o

IS
o

o Tﬂi
|

x° I ndf
pO0

pl

36.95/23
452.7 £0.7591
0.002512 * 2.297e-05

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 2, Channel 12, Enable 0, Hold=35, ADC Noise vs DAC

11

10

©

o

50000

1 I 1 1 I
60000 70000

o

Chip 2, Channel 12, Enable 0, Hold=35, ADC Residuals vs DAC |

H
o
|III|I

e}

(o))

A N o N o~

'
]

O_II|III|III|III|IEJ“JJJI1|I

®

%% +%+ +%+ +

e

’
it

20000 30000 40000

50000

60000 70000




Chip 2, Channel 12, Enable 1!, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

9689/ 23
630.4 £ 0.9132
0.4993 + 4.227e-05

30000
®
25000
20000

15000

10000

5000

ddhd

C><iP|||
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 12, Enable 1!, Hold=35, ADC Noise vs DAC

60
50
40

30

¢
§+§§§+ §§

N
o

¢

..Q..QOQ.C °

o

%,

1 I 1 1 I 1
10000 20000

o

Chip 2, Channel 12, Enable 1!, Hold=35, ADC Residuals vs DAC |

.

0

-500

-1000

-1500

-2000

10000 20000 30000 40000 50000

o

60000 70000



| Chip 2, Channel 12, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 1.075e+04 / 23
pOo 573.4 +1.185
g. pl -0.06324 + 5.548e-05
0 E}- o
-1000 :—
-2000 —
- ®
-3000 — o ®
— o
— [ o
-4000 (— P
- o °
-5000 :_ l l l l l l l
0 10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 12, Enable 2, Hold=35, ADC Noise vs DAC
120

100
80
60

?

40

+é++§§

gooe

N
o

1 1 I 1
10000 20000

8

1 I 1
30000

| Chip 2, Channel 12, Enable 2, Hold=35, ADC Residuals vs DAC |

&

-200
-400
-600
-800

-1000
|

10000 20000 30000 40000 50000 60000 70000

-1200

-1400

o_llll |III |III |III |III |III



Chip 2, Channel 12, Enable 3, Hold=35, ADC Mean vs DAC

620

600

580

560

540

520

500

480

N
o

o Tri
|

x° I ndf
pO0
pl

38.6/23
451.1+0.7072

0.002328 * 2.146e-05

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 2, Channel 12, Enable 3, Hold=35, ADC Noise vs DAC

11

10

(&) ] ~ [ee] ©

S

© III|IIII TTT1 IIII|IIII|II

°

50000

1 I 1
60000

-
70000

Chip 2, Channel 12, Enable 3, Hold=35, ADC Residuals vs DAC

15

H
° o o
I| T T | TTTTTTT I'| FTTT

o

'
&)

—@—

¢

" H

¢ ¢
O LI IETI SIS
*++§ ?% ‘ ¢ ++ %%%

+

10000 20000

30000

40000

50000

60000

70000




Chip 2, Channel 12, Enable 4, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

640

620

27.09/23
451.6 £ 0.7596

pl 0.002713 = 2.292e-05

o
600 ®

580
560
540
520
500

480

46

T

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

Chip 2, Channel 12, Enable 4, Hold=35, ADC Noise vs DAC

-
70000

12

11

10

©

[ee]

Chip 2, Channel 12, Enable 4, Hold=35, ADC Residuals vs DAC |

15

@

10

| T I| T Lj;;lill |I'I
@

¢
ﬁié*%*%*“;#*”h*ﬁ e

'
&)

10000 20000 30000 40000 50000 60000

o
T

70000



Chip 2, Channel 12, Enable 5, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

O

-1000

-2000

-3000

-4000

pl

9356/ 23
548.4 +1.087
-0.06 + 5.337e-05

o

1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000

Chip 2, Channel 12, Enable 5, Hold=35, ADC Noise vs DAC

9]
o

~
o

[e2]
o

a1
o

N
o

W
o

=
o

o

¢

s ¢ o, 4

[ 2P ...QQ. )
o

¢

)
S o
.JIIII|IIII|IIII|IIII|IIIWIIII|IIII|III

1 I 1 1 I 1 1 I 1 1
10000 20000 30000 40000

Chip 2, Channel 12, Enable 5, Hold=35, ADC Residuals vs DAC |

100

0

-100

-200

-300

-400

-500

-600

-700

-800

10000 20000 30000 40000 50000




Chip 2, Channel 13, Enable 0, Hold=35, ADC Mean vs DAC |

650

600

550

500

x° I ndf
pO0
pl

40.26 / 23
451.7 £ 0.7774
0.002885 * 2.431e-05

I
a1
o
o
- @

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 2, Channel 13, Enable 0, Hold=35, ADC Noise vs DAC

14

50000

60

. -
000 70000

12

10

Chip 2, Channel 13, Enable 0, Hold=35, ADC Residuals vs DAC

12

10

8

|III|III|III|III|III|IIF®IF. IfI|III|

20000 30000 40000

o
[

50000

60

000 70000




Chip 2, Channel 13, Enable 1, Hold=35, ADC Mean vs DAC

700

650

600

550

500

450

x° I ndf
pO0
pl

42.01/23
453.4 £0.7221

0.003426 = 2.21e-05

C’TT1::||

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 2, Channel 13, Enable 1, Hold=35, ADC Noise vs DAC

SN

50000

1 I 1
60000

-
70000

g

o

Chip 2, Channel 13, Enable 1, Hold=35, ADC Residuals vs DAC

12

10

$

o

20

000

30

000

40

000

50000

60

000

70000




x° I ndf

Chip 2, Channel 13, Enable 2, Hold=35, ADC Mean vs DAC |
po

sooF pl

194.4 /23
469.9 +£0.8248
-0.008737 * 2.504e-05

400

300

200

100

-100

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

o
TTT

Chip 2, Channel 13, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1
60000

14

12

10

l T | T |I T | T

e}

N

°_||||'®|Q|
—@—
—@—
—@—

Chip 2, Channel 13, Enable 2, Hold=35, ADC Residuals vs DAC |

10 ii‘i
YL
.
[0

-10

:&'

-15

-20

-25

10000 20000 30000 40000 50000

o

60000 70000




| Chip 2, Channel 13, Enable 3, Hold=35, ADC Mean vs DAC | X* / ndf 37.6/23
pO 450.4 +0.7352
pl 0.002629 * 2.195e-05

640

620

600

580

560

540

520

500

480

T

46

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 2, Channel 13, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

©

| Chip 2, Channel 13, Enable 3, Hold=35, ADC Residuals vs DAC |

12
10

10000 20000 30000 40000 50000 60000 70000

O_IIII|IIITIII|III 1T III|III|I



Chip 2, Channel 13, Enable 4!, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

8208 /23
628.8 £ 0.9333
0.502 * 4.266e-05

30000

o®
25000
20000

15000

10000

5000

[ A A4

C><iP|||
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 13, Enable 4!, Hold=35, ADC Noise vs DAC

1 I 1
60000

-
70000

60
50
40
30

20

¢ é*++?éé+§é

‘jil II|II II|III I|IIII |IIII

00..0909.0’.

@

1 I 1 1 I 1
10000 20000

Chip 2, Channel 13, Enable 4!, Hold=35, ADC Residuals vs DAC |

-500 o

-1000
-1500

-2000

-2500 T
0

10000 20000 30000 40000 50000 60000 70000



Chip 2, Channel 13, Enable 5, Hold=35, ADC Mean vs DAC |

500 E
o

400

300

200

100

x° I ndf
pO0
pl

199.1/23
462.4 £0.7739
-0.007759 * 2.368e-05

20000 30000 40000I

o
[uny
o
o
o
o

Chip 2, Channel 13, Enable 5, Hold=35, ADC Noise vs DAC

50000

13

12

11

10

Chip 2, Channel 13, Enable 5, Hold=35, ADC Residuals vs DAC

10

ééé+ii§§+

é*§§
é+; ¢

.\ i

-10

-15

$9s

20000 30000 40000

o
[any
o
o
o
o

50000




| Chip 2, Channel 14, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 42.62 /23
pO 516.4 + 0.7244
pl 0.00282 + 2.22e-05

720

700 Y
o

680 P o
660
640
620
600
580

560

[
S
o

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

()]

N
orrr?
- '@

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 2, Channel 14, Enable 0, Hold=35, ADC Noise vs DAC
11

10

g
@
@
@
@
@

| Chip 2, Channel 14, Enable 0, Hold=35, ADC Residuals vs DAC |

10

+ * ¢ %i§+ ‘

: 4 *

10000 20000 30000 40000 50000 60000 70000

_I|III|III|III|III|III|ImI|I’II|II
—@—

o



| Chip 2, Channel 14, Enable 1!, Hold=35, ADC Mean vs DAC | X° I ndf 8960/ 23
_ p0o 707.7 £1.031
- pl 0.5027 + 4.538e-05
30000 — °® oow
25000 —
20000 —
15000 (—
10000 (—
5000 |—
—a @
O.—, 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 14, Enable 1!, Hold=35, ADC Noise vs DAC

50
40

30

’
¢ +§+++* §+§§

COQQQQQ.OQQQ °

20

IRy
o

°rrr 1@
@

1 I 1 1 I 1
10000 20000

| Chip 2, Channel 14, Enable 1!, Hold=35, ADC Residuals vs DAC |

-500
-1000
-1500

-2000

10000 20000 30000 40000 50000 60000 70000

-2500

o



Chip 2, Channel 14, Enable 2, Hold=35, ADC Mean vs DAC |

x° I ndf
pO0

5od£élb

400
300
200

100

o

-100

pl

226.6 /23
532.3 £0.7365
-0.00863 * 2.206e-05

oI_IIII|IIII|IIII|IIII|IIII|IIII

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 2, Channel 14, Enable 2, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

L

20000 30000 40000

50000

60000 70000




| Chip 2, Channel 14, Enable 3, Hold=35, ADC Mean vs DAC | X° I ndf 36.06 /23
pO 513.3 + 0.7005
pl 0.002837 * 2.184e-05

720

700 o
680 o®
o

660
640
620
600

520%.
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1
0

-
10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 14, Enable 3, Hold=35, ADC Noise vs DAC

11

10

J|>IIIITIIII TTTT
—@—

o
[TTT
N
o
o
)
=)
N
o
o
o
o
w
o
o
o
o
N
o
O
o
=)
ul
o
o
)
=)
o
o
o
o
o
~
o
o
o
o

| Chip 2, Channel 14, Enable 3, Hold=35, ADC Residuals vs DAC |

12

¥ iﬁl1Tlll“
—@—
—@—
—@—

+ %
ST

10000 20000 30000 40000 50000 60000 70000

o

'
N

A

'
»

° NOA
|III|III|III|III 11 IIIrII




| Chip 2, Channel 14, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 24.45/23
pO 511.8 + 0.685

pl 0.003038 * 2.08e-05

720

700
680
660
640
620
600
580
560

540

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

[$)]

N
Orr%
|
- @

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 2, Channel 14, Enable 4, Hold=35, ADC Noise vs DAC

12

11

10

©

| Chip 2, Channel 14, Enable 4, Hold=35, ADC Residuals vs DAC |

=
(¢)]

1

|||<|'3|,|r

(&)

o
I| T I| T I|

I
—@—
—@—

+
ottt st

10000 20000 30000 40000 50000 60000 70000

o



Chip 2, Channel 14, Enable 5, Hold=35, ADC Mean vs DAC |

x° I ndf
pO0

500E.

400

300

200

100

o

pl

21541723
526.1+0.7954
-0.007818 * 2.366e-05

1 I 1 1 I 1 1
20000 30000 40000

o
[uny
o
o
o
o

Chip 2, Channel 14, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

14

12

10

[e4)

—@—
——
—@—
—@—
——
——

I

o T
I |I

Chip 2, Channel 14, Enable 5, Hold=35, ADC Residuals vs DAC

10

|IJ‘HI|IIII |IIII |I
|_._|
—@-
—@—
|_‘_|
@~

-10

AN

-15

10000 20000 30000 40000

o

50000




| Chip 2, Channel 15, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 43.63/23
pO 344.3 +0.7242
pl 0.002868 * 2.15e-05

550

o
500 ®

450

400

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 2, Channel 15, Enable 0, Hold=35, ADC Noise vs DAC
12

11

JEny
o

ha
@

(o4}

~

D

(6]

I

oJIIII|IIII|IIII|III’I|III

| Chip 2, Channel 15, Enable 0, Hold=35, ADC Residuals vs DAC |

N
|III“II|IIWIII|IH|III|HI

10000 20000 30000 40000 50000 60000 70000

o
[



Chip 2, Channel 15, Enable 1, Hold=35, ADC Mean vs DAC

| x° I ndf

pO0

550

pl

49.09/23
345.4 +0.7113
0.002992 * 2.165e-05

.'|'
o°®
500

450

400

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 1
50000

1 I 1 1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 60000 70000

Chip 2, Channel 15, Enable 1, Hold=35, ADC Noise vs DAC

14

12

10

T T

o
|I

o
[T

Chip 2, Channel 15, Enable 1, Hold=35, ADC Residuals vs DAC |

12

JEny
(@]

¢ +

%

20000

6
++§ y +i+%

' %
¢

!

30000

4,
$t H%

©® &»® A N O N A O ©

-
70000

60000

50000

40000




| Chip 2, Channel 15, Enable 2!, Hold=35, ADC Mean vs DAC | X° I ndf 6504 / 23
pO 543.2 + 1.008
- 1 0.4654 + 4.274e-05
30000 — P o
— o
— .".
25000 —
20000 —
15000 —
10000 —
5000 —
a2 @
O.- 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 15, Enable 2!, Hold=35, ADC Noise vs DAC

50

40

30

20

vee®0y0 o ®

-

1 I 1 1 1 1 1
0 10000

o

1 I 1
20000

| Chip 2, Channel 15, Enable 2!, Hold=35, ADC Residuals vs DAC |
200

M

10

0

-100

-200
-300
-400
-500

-600
|

10000 20000 30000 40000 50000 60000 70000

-700

o



Chip 2, Channel 15, Enable 3, Hold=35, ADC Mean vs DAC | x° I ndf 17.84 /23

p0 342.4 +0.8005
p1 0.002576 + 2.492e-05
L J

520

500
480
460
440
420
400

380

360

340

1 I 1 1 I
10000 20000 30000 40000 50000 60000 70000

e

Chip 2, Channel 15, Enable 3, Hold=35, ADC Noise vs DAC

12

H
o
|'I T | T

T T

D
I | T

Chip 2, Channel 15, Enable 3, Hold=35, ADC Residuals vs DAC |

15

;

¢ ¢
DREEAN

1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

'
a1

o o

T | T || TTTTTTTT
—@—
F——{._—q
|—.—|



Chip 2, Channel 15, Enable 4, Hold=35, ADC Mean vs DAC |

x° I ndf

520

500

480

460

440

420

400

380

360

340

e

pO0

.JIII|III|III|III|III|III|III|III|II

pl

34.23/23
342.6 £ 0.8234
0.002676 * 2.392e-05

[ R 4
o‘.

20000 30000 40000 50000I

Chip 2, Channel 15, Enable 4, Hold=35, ADC Noise vs DAC

14

=
N

Iy
(=)

,| T

-
60000 70000

|I llHLJ.qull

o
[

Chip 2, Channel 15, Enable 4, Hold=35, ADC Residuals vs DAC |

14

12

1

A~ O

N o

—@—

¢

P14 i%i%i ! +f %

o

20000 30000 40000 50000

60000 70000




Chip 2, Channel 15, Enable 5, Hold=35, ADC Mean vs DAC |

x° I ndf
pO0

o
[ ]
o

300

200

100

-100

-200

pl

161.8/23
352.1+0.7602
-0.008215 * 2.394e-05

20000 30000 40000I

o
[

Chip 2, Channel 15, Enable 5, Hold=35, ADC Noise vs DAC

50000

14

12

o ® 5
T T T

I

o
I| T

Chip 2, Channel 15, Enable 5, Hold=35, ADC Residuals vs DAC

10

+§§§ +

§+§§ §

o

|IIII|IIII|IIII|III
@

@~
@~

@
@
@

= i .
o o 1'cn

R
=

[\
o

§§§+

o_lIIII|IIII|IIII|IW

20000 30000 40000

50000




Chip 2, Channel 16, Enable 0, Hold=35, ADC Mean vs DAC |

600

550

500

450

x° I ndf

pO0
pl

23.62/23
401.2 £ 0.7909
0.002947 = 2.37e-05

N
o
(@]
©
- '@

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 2, Channel 16, Enable 0, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

I |f|||||||||||||||||||||
b @ i
L

Chip 2, Channel 16, Enable 0, Hold=35, ADC Residuals vs DAC

10

+ + ++ %%§ % +

|III|III|III|III|IIIh]"®I1I|III|II

10000 20000 30000 40000

o
[

50000 60000 70000




Chip 2, Channel 16, Enable 1, Hold=35, ADC Mean vs DAC |

600

500

550 —

450

x° I ndf
pO0
pl

41.82/23
402.1+0.7855
0.002879 * 2.351e-05

o
400%

1 1 I 1 1 I 1 1 I 1 1 I 1

0 70000 20000 30000 40000

Chip 2, Channel 16, Enable 1, Hold=35, ADC Noise vs DAC

13

50000

1 I 1 1 I
60000 70000

12

11

10

Chip 2, Channel 16, Enable 1, Hold=35, ADC Residuals vs DAC

12

10

|III|III|IIWIII|IIfhKH 1II|III|III|

Mk +%+ %
;

'
]

4 ity

'
;1

10000 20000 30000 40000

o
TTT

50000

60000 70000




x° I ndf
pO0
pl

| Chip 2, Channel 16, Enable 2, Hold=35, ADC Mean vs DAC |

66.81 /23
403.7 £0.7635

-0.0002055 + 2.335e-05

4105

405
400

395

390

385

380

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

o
TTT

| Chip 2, Channel 16, Enable 2, Hold=35, ADC Noise vs DAC

12

11

10

| Chip 2, Channel 16, Enable 2, Hold=35, ADC Residuals vs DAC |

6
4

|IIWIII|III|IIWIllhillolllrirFFHWWWWT]
—@—
—@—
—@—

8 RE
§+f%+§+%+ ' %+§ ;

i

—@—

-10

-12 I

P

10000 20000 30000 40000 50000 60000

o
[




Chip 2, Channel 16, Enable 3, Hold=35, ADC Mean vs DAC |

600

550

500

450

x° I ndf
pO0
pl

21.24123
397.3 £ 0.8165
0.002741 + 2.568e-05

[
40d15!'
0

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 2, Channel 16, Enable 3, Hold=35, ADC Noise vs DAC

12

50000

1 I 1 1 I
60000 70000

11

10

9

[e2] ~

(&)

N

oI_IIII|IIII|IIII TTTT

Chip 2, Channel 16, Enable 3, Hold=35, ADC Residuals vs DAC

12

10

8

—@—
—@—

+
SRR

o
II|III|III|III|III TTT

+

¢t

10000 20000 30000 40000

o

50000

60000 70000




| Chip 2, Channel 16, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 24.94 /23

600 — o]0] 399.1+0.7363
L pl 0.002768 + 2.251e-05
— L J
L ® o0
550 | — ®
500 |—
450 | —
;e ®
400?
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 2, Channel 16, Enable 4, Hold=35, ADC Noise vs DAC
1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 16, Enable 4, Hold=35, ADC Residuals vs DAC |

10

°

o
II1|I

Hh H%

oF- # +

£ e $ + ¢

4_%_

:u PR RN SR T SR TR TR SR NN SR SO SR MO N TR S TR SR NN SR ST SN S NN S ST SR N N S SR SR S |
0 10000 20000 30000 40000 50000 60000 70000



| Chip 2, Channel 16, Enable 5!, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

30000

25000

20000

15000

10000

5000

pl

5406 / 23
585.7 +1.063

0.4731+ 4.431e-05

oon
-@

1 I 1
10000

1 I 1 1 I 1 1 1 I
20000 30000 40000 50000

| Chip 2, Channel 16, Enable 5!, Hold=35, ADC Noise vs DAC

50

40

30

20

:

@

®
@
@

?

se0%é

H@H

%

%

é*i*éé : ¢
é ¢

o
TTT

| Chip 2, Channel 16, Enable 5!, Hold=35, ADC Residuals vs DAC |

2005

100
0

-100

-200

-300

-400

-500

o
1

10

000

20000 30000 40000 50000




Chip 2, Channel 17, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf

600

550

500

450

40Q$F"
0

pO0

29.16 /23
387.8 +0.8131
pl 0.003317 * 2.404e-05

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

Chip 2, Channel 17, Enable 0, Hold=35, ADC Noise vs DAC

12

70

|
000

11

10

e}

~

o
[

Chip 2, Channel 17, Enable 0, Hold=35, ADC Residuals vs DAC |

14
12

10,

N A~ OO

& A N o

it ‘
+§+++++%%+%++ §+%+§+++

o

10000 20000 30000 40000 50000 60000

70

000




Chip 2, Channel 17, Enable 1, Hold=35, ADC Mean vs DAC

600

550

500

450

x° I ndf
pO0
pl

36/23
389.4 £ 0.7105
0.002949 * 2.147e-05

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 2, Channel 17, Enable 1, Hold=35, ADC Noise vs DAC

12

11

10

50000

-
60000 70000

Chip 2, Channel 17, Enable 1, Hold=35, ADC Residuals vs DAC

12

=
[2 2]

N

N O

' ' |
o o B

© III|III|III|HI|IIJlL;LELII|III[IIiFHWWTTT

iy

g

¢

%

%

%+§++%+

20000

30000

40000

50000

60000 70000




| Chip 2, Channel 17, Enable 2!, Hold=35, ADC Mean vs DAC | X° I ndf 3648 /23
_ p0o 540.7 £1.072
30000 F— pl 0.4332 + 5.164e-05
— "|.
= o®
25000 —
20000 (—
15000 —
10000 —
5000 —
e® * | | | | | | |
O 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 10000 20000 30000 40000 50000 60000 70000

| Chip 2, Channel 17, Enable 2!, Hold=35, ADC Noise vs DAC

50

40

30

20

°o||IQ"T||||||||||||||||||||||
|
@
®

| Chip 2, Channel 17, Enable 2!, Hold=35, ADC Residuals vs DAC |

200

m

100

0

-100

-200

-300

-400

-500

|IIII|IIII|IIII|IIII|IIIJ‘IIII|IIII|I

10000 20000 30000 40000 50000 60000 70000

-600

o
ITT



Chip 2, Channel 17, Enable 3, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

pl

31.63/23
386 +£0.7447
0.002882 * 2.193e-05

580
560
540
520
500
480
460
440
420

400

w
5]
o

C’_ “IH|III|III|IH|III|III|IH|III|III|II

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 2, Channel 17, Enable 3, Hold=35, ADC Noise vs DAC

1 I 1
60000

-
70000

12

11

10

©

Chip 2, Channel 17, Enable 3, Hold=35, ADC Residuals vs DAC |

10

8

JJ‘IEII|III|III

$

N

—@—
— @
—@—
o
—@—

A N O

'
(o))

'
[ee)

%

—@—

:
tede g 18
e,

+++

o .
III|III|III|III|III|II

10000

20000 30000 40000 50000

60000

70000




Chip 2, Channel 17, Enable 4, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

580
560
540
520
500
480
460
440
420

pl

45.32 1 23
387 £0.7221
0.002836 = 2.174e-05

400,
380E 1 1 1 1 I 1 1 I 1
0 10000 20000 30000

1 I 1
40000

Chip 2, Channel 17, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

13

12

11

10

©

Q

~

==

+

'8y, 8
H}%

N
I|III|III|III|III|III

%

¢ Hﬁ

10000 20000 30000

o

40000

50000

60000 70000




Chip 2, Channel 17, Enable 5, Hold=35, ADC Mean vs DAC

6000

5000

4000

3000

2000

1000

o

x° I ndf

4.627e+05 / 23

— 00 -409.5 +1.173
= pl 0.06322 + 5.856e-05
—— v
— o
- o
- ® o
— o
== o
— o P
- [ )
— o
= °
— (Y o
. . . . . | | | | |
0 10000 20000 30000 40000 50000 60000

Chip 2, Channel 17, Enable 5, Hold=35, ADC Noise vs DAC

100

80

60

40

20

00%e000e0%e

o?®

o

10000

20

000

30000

40

000

Chip 2, Channel 17, Enable 5, Hold=35, ADC Residuals vs DAC

2500

2000

1500

1000

500

-500

@
[ ]
o
o

o
[

20

000

30000

40

000

50000

60

000




| Chip 3, Channel 0, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 47.74 | 23
p0o 137.2 £+ 0.7034
— pl 0.003345 + 2.163e-05
350 — L 4
| P o ®
— [
300 —
250 | —
200 |—
“xe®
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 3, Channel 0, Enable 0, Hold=35, ADC Noise vs DAC
1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
20000 30000 40000 50000 60000 70000

| Chip 3, Channel 0, Enable 0, Hold=35, ADC Residuals vs DAC |

12
10

0

@
—@—
—@—

f (1Y

+++++§% +§+ %%f%

10000 20000 30000 40000 50000 60000 70000

o
|||||||||||||||||||||||||||||Il|
—@—

'
o)

o



Chip 3, Channel 0, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 75.85/23
pO 130.8 +0.7186
— pl 0.003535 + 2.182e-05
350 —
— o®"
— ® o
300 [—
250 [—
200 |—
15059 [
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 3, Channel 0, Enable 1, Hold=35, ADC Noise vs DAC

12

11

||||||IIT]III ITTTTTT
—@—

L e
—@—

o
=
o
S
S
o
N
o
o
o
S
w
o
o
S
S
N
o
O
S
S
1
=]
S
o
o
o
o
o
o
S
~
o
o
S
S

o

¢
*% 4y 4 é*f%%++*§ *414;
{';{' {'é

'
&)

KN
o

© I || [T ||| [T ||| [T T [ TTI
k——|.~—4
'-.-'

10000 20000 30000 40000 50000 60000 70000



| Chip 3, Channel 0, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 38.17/23
p0 140.8 + 0.7403
pl 0.002826 + 2.214e-05

320

300 Y o® o°
280
260
240
220
200
180

160

1 1 I 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

| Chip 3, Channel 0, Enable 2, Hold=35, ADC Noise vs DAC

11

10

[|||£>|||||||||||
® :
@
@
@
@

[e¢]

T ﬂ\ll:lll

a1

I

oJIIII|III'I|III

| Chip 3, Channel 0, Enable 2, Hold=35, ADC Residuals vs DAC |

¥
+ ty

10000 20000 30000 40000 50000 60000 70000

—@—
—@—

'

—@—

++%+%+i++§§+§+++§+

o & A N o

oJIII|III|III|III|III|III|III TTTTTTI

-10

-12




Chip 3, Channel 0, Enable 3!, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

76791723
295 +0.8903
0.4951+ 4.25e-05

30000
°o®
25000
20000
15000

10000

5000

ovv

9
o

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 0, Enable 3!, Hold=35, ADC Noise vs DAC

: Pty

20

’

00®

10
0

0 10000 20000

Chip 3, Channel 0, Enable 3!, Hold=35, ADC Residuals vs DAC |

.

o._

-500 ®

-1000

-1500

-2000

10000 20000 30000 40000 50000

o

60000

70000



Chip 3, Channel 0, Enable 4, Hold=35, ADC Mean vs DAC |

350

300

250

200

x° I ndf

pO0
pl

24.39/23
137.1+0.758
0.003357 * 2.32e-05

S U
o"
®

15q$?|p1l
1 1 1 1 I 1 1 I 1 1 I 1
0 20000 30000 40000

Chip 3, Channel 0, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

H
o
|'II I | T

T |'|(T A

o
Juny
o
Ol
o
o

Chip 3, Channel 0, Enable 4, Hold=35, ADC Residuals vs DAC

14

12

1

+
ty e #WH 4

'
()]

* 44
! ars;
%H% $TeYy

10000 20000 30000 40000

o

50000

60000 70000




Chip 3, Channel 0, Enable 5, Hold=35, ADC Mean vs DAC

320

300

280

260

240

220

200

180
160

x° I ndf
pO0
pl

35.34/23
137.9 + 0.7807
0.00273 + 2.44e-05

H
D
orrr?
- '@
- @

1 I 1 1 I 1 1
20000 30000 40

000

Chip 3, Channel 0, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

12

11

10

'
(]

10000 20000 30000

o
TTT

40000

50000

60000




| Chip 3, Channel 1, Enable 0!, Hold=35, ADC Mean vs DAC | X/ ndf 4037/ 23
po 125.8 +1.031
~ pl 0.4787 + 4.475e-05
30000 —
- o*®"
— [
25000 —
20000 —
15000 —
10000 —
5000 —
(f_. , 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

| Chip 3, Channel 1, Enable 0!, Hold=35, ADC Noise vs DAC

50
40
30

20

?
¢ . %§§§++§+§é

10

[

@
@
@
L
@
L J
@
o

@
@
L

_II I::lll II| TTT I|I TTT |I TTT |II

| Chip 3, Channel 1, Enable 0!, Hold=35, ADC Residuals vs DAC |

200

"

-200

-400

-600

-800

-1000

10000 20000 30000 40000 50000 60000 70000

o



Chip 3, Channel 1, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

150

42.54 123
-45.86 + 0.7441

0.003156 * 2.123e-05

100

50

n
o
[
[

[ g

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 1, Enable 1, Hold=35, ADC Noise vs DAC

1 I 1
60000

-
70000

Chip 3, Channel 1, Enable 1, Hold=35, ADC Residuals vs DAC |

t

o

§+++%+%+ ++§$§

+$§+%§§§

'
(&)

e h

KN
o

'

¢

¢

o_ |I T I| FTTI |I T LI;LL

10000 20000 30000 40000 50000

60000

70000




Chip 3, Channel 1, Enable 2, Hold=35, ADC Mean vs DAC |

34.69/23

150

100

50

n

=

o[
[

-38.35 + 0.6829

0.002821 + 2.102e-05

-
20000 30000 40000 50000 60000 70000

Chip 3, Channel 1, Enable 2, Hold=35, ADC Noise vs DAC

11

10

&

o
TTTT

Chip 3, Channel 1, Enable 2, Hold=35, ADC Residuals vs DAC |

10

3 o o1

KN
o

O_II |I T I| T lJ'LL F|

&

¢
+ + ¢4 +%§ %%+§++%§+++++$+§+%

20000 30000 40000 50000



Chip 3, Channel 1, Enable 3, Hold=35, ADC Mean vs DAC |

pO0
pl

200

x° I ndf

53.01/23
-38.84 + 0.6868
0.003589 * 2.175e-05

150

100

50

Py
[

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

o
=
o
(@) =N
S
S

Chip 3, Channel 1, Enable 3, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

11

10

I|IIII|IIII|IIII|IIII|IIII

Chip 3, Channel 1, Enable 3, Hold=35, ADC Residuals vs DAC |

12

10

8

guuuu

@~

N

¢
SLE

—@—
—@—
@
—@—

#% ¢

$
H{'

'
[ee]

¢
‘¢
+++

%
:

10000 20000 30000 40000 50000

o

60000 70000




| Chip 3, Channel 1, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 15.98 /23
pO -42.96 + 0.6844
pl 0.003324 + 2.071e-05

oV
eo®

150
[

100

50

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

| Chip 3, Channel 1, Enable 4, Hold=35, ADC Noise vs DAC

10

©
IIII'IIII|IIII|IIII

ol
III|IIII|IIII|III

o
Juny
o
Ol
o
o

| Chip 3, Channel 1, Enable 4, Hold=35, ADC Residuals vs DAC |
10

SN o)) (o]
T |ﬂ||'|||

N

o

'
N

A

10000 20000 30000 40000 50000 60000 70000

o
TTT



| Chip 3, Channel 1, Enable 5, Hold=35, ADC Mean vs DAC | X* / ndf 40.52 /23
pO -41.78 + 0.6812
pl 0.002713 = 1.944e-05

140

120
X

100
80
60
40
20

0

R
o

1 1 1 1 1 1 I 1 1 1 1 I 1
40000 50000

oﬁ.

1 I 1 1 I 1
20000 30000

| Chip 3, Channel 1, Enable 5, Hold=35, ADC Noise vs DAC
11

10

| Chip 3, Channel 1, Enable 5, Hold=35, ADC Residuals vs DAC |

T ;
+

6

4

|I II| TTT |III |II I|I IIji!:‘J;LII|

10000 20000 30000 40000 50000 60000

o
[



Chip 3, Channel 2, Enable 0, Hold=35, ADC Mean vs DAC | x° I ndf 73.1/23
p0o 21.44 £ 0.6171
250 — pl 0.003203 + 1.97e-05
| "ii
— Y o
200 |— o
150 |—
100 [—
50 [ —
#e°
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 3, Channel 2, Enable 0, Hold=35, ADC Noise vs DAC

Chip 3, Channel 2, Enable 0, Hold=35, ADC Residuals vs DAC |

12

10

aduuy

8

¢
¢ °
§++%**++% ++ +

10000 20000 30000 40000 50000 60000 70000

o g
¢

© ||||“II|III|IIWIII|IILIL‘EEHI|
-0
—@—
@
—@—
@
—@—




Chip 3, Channel 2, Enable 1, Hold=35, ADC Mean vs DAC | x° I ndf 63.67 /23

) 15.68 £ 0.699
p1 0.003605 * 2.131e-05

250

X hdhd
..

200
150

100

50

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

°rr 1@
- @
- @

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

Chip 3, Channel 2, Enable 1, Hold=35, ADC Noise vs DAC

11

10

@

o
I

Chip 3, Channel 2, Enable 1, Hold=35, ADC Residuals vs DAC |

-
[¢)]

b

Ty
@~

@
@
@~

¢ 04,0
§§§§§§+§§§é§§§§§§ § ¢ *
®

¢

10000 20000 30000 40000 50000 60000 70000

-10

-15

o



Chip 3, Channel 2, Enable 2, Hold=35, ADC Mean vs DAC

200
180
160
140
120
100

80

60

x° I ndf
pO0
pl

26.28 /23
26.05 £0.7019
0.002901 + 2.203e-05

T

o
Juny
o
(@) =N
o
o

20000 30000

1 I 1
40000

Chip 3, Channel 2, Enable 2, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

11

10

©
I|Il|| TTTT IIII|IIII|IIII|II

Chip 3, Channel 2, Enable 2, Hold=35, ADC Residuals vs DAC

o1
T |I

hiq

-10

-15

§++$+ % %§ ++ %+++++%%+ +%++

20000 30000

o
=
o
o
o
o

40000

50000



| Chip 3, Channel 2, Enable 3!, Hold=35, ADC Mean vs DAC | X* / ndf 5882 /23
p0o 179.9 £1.011
- pl 0.4861+ 4.817e-05
30000 |— o
— o
- o®
25000 [—
20000 —
15000 (—
10000 —
5000 —
—a ®
(f. 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

| Chip 3, Channel 2, Enable 3!, Hold=35, ADC Noise vs DAC

50
40
30

4t

20

|IIII|IIII|IIII|IIII|
—@—

. ¥

¢
ooé.éo ®e" o0

[y
o

ST 1@

1 I 1
10000

| Chip 3, Channel 2, Enable 3!, Hold=35, ADC Residuals vs DAC |

fw

20

0 000000000
o000 .‘.00.....

-200 o

-400

-600

-800

-1000

-1200
-1400

10000 20000 30000 40000 50000 60000 70000

-1600

o
[



Chip 3, Channel 2, Enable 4, Hold=35, ADC Mean vs DAC |

250

200

150

100

50

x° I ndf

47.99/23
21.19 £0.7013
0.003652 * 2.056e-05

.“

@
- @
- @

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 3, Channel 2, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

11

10

©

[ee]

~

Chip 3, Channel 2, Enable 4, Hold=35, ADC Residuals vs DAC

1

|h|||®|1|§h1*ﬁfr
—@—

N

o

N
|III|III|III|III|II

P
Pyt

it

$

?
i

%

10000 20000 30000 40000

o
[

50000

60000 70000




Chip 3, Channel 2, Enable 5, Hold=35, ADC Mean vs DAC

220
200
180
160
140
120
100

80

60

N
o

x° I ndf
pO0
pl

25.71/23
20.96 + 0.8277
0.00288 + 2.434e-05

7

1 I 1 1 I 1 1
20000 30000 40

000

Chip 3, Channel 2, Enable 5, Hold=35, ADC Noise vs DAC

-
50000

10

&

ol
II|IIII|I1II|I

o
[any
o
ol
o
o

Chip 3, Channel 2, Enable 5, Hold=35, ADC Residuals vs DAC

6

N

|||T9||

20000 30000 40

o
[

000

50000

60000




| Chip 3, Channel 3, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 77.68/23
pO 67.32 +0.7524
pl 0.002919 * 2.316e-05

260

240 ""

220
200
180
160
140
120
100

80

"IIWIII|III|III“II|III|III|III“II|III

60

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

il

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 3, Channel 3, Enable 0, Hold=35, ADC Noise vs DAC
12

11

10

I IIII|IIII|IIII

I|IIII|IIH|III[ TTTT

o
Juny
o
Ol
o
o

| Chip 3, Channel 3, Enable 0, Hold=35, ADC Residuals vs DAC |

* :
¢ t ¢
°e
+%+%§ gl +

10000 20000 30000 40000 50000 60000 70000

OJ III|III|III|III|III|IIF



| Chip 3, Channel 3, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 56.12/ 23
pO 62.93 +0.7251
pl 0.003577 + 2.274e-05

300

oV
o0®
250

200
150

100

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

| Chip 3, Channel 3, Enable 1, Hold=35, ADC Noise vs DAC
12

11

10

©
“III TTTTTTTTT IIH|IIIWIIII“III

| Chip 3, Channel 3, Enable 1, Hold=35, ADC Residuals vs DAC |
10

8

6

—@—
—@—

0,
+§ % +;+

% ¢

10000 20000 30000 40000 50000 60000 70000

—@—
—@—
—@—

—@—
—@—
—@—
.
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—

'
oo

o
[T



Chip 3, Channel 3, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

260

48.03/23
73.08 £ 0.6939
0.003056 * 2.134e-05

240
220
200
180
160
140
120
100

D
o _O

..I

o_ *‘H|IIWIII“II|HI|IH|IH|IIWIII“II

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 3, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

10

©
'IIII|IIII|IIII|II

o
Juny
o
Ol
o
o

Chip 3, Channel 3, Enable 2, Hold=35, ADC Residuals vs DAC |

¢

N A OO

® & A N o

-10
-12

¢ $
e T T ey

¢
¢

10000 20000 30000 40000 50000

o
ITT

60000 70000



Chip 3, Channel 3, Enable 3, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

300

250

200

150

100

pl

38.21/23
70.78 + 0.7113
0.003309 * 2.077e-05

8T
- @

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 3, Channel 3, Enable 3, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

©

ty

1 I 1
40000

50000

Chip 3, Channel 3, Enable 3, Hold=35, ADC Residuals vs DAC

10

8

20000 30000 40

o
I

000

50000

60000 70000




| Chip 3, Channel 3, Enable 4!, Hold=35, ADC Mean vs DAC |

x° I ndf

30000

25000

20000

15000

10000

5000

8
®

pO0

pl

8400/ 23
235 £ 0.9206

0.5026 + 4.213e-05

[ L A

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

| Chip 3, Channel 3, Enable 4!, Hold=35, ADC Noise vs DAC

60

50

40

30

20

10

1 I 1
60000

-
70000

§+ §++§+§+§§
.....QOCQQQQ .

o

1 I 1 1 I 1
10000 20000

| Chip 3, Channel 3, Enable 4!, Hold=35, ADC Residuals vs DAC |

-500

-1000

-1500

-2000

-2500

o
[

10000 20000 30000 40000 50000

60000

70000




| Chip 3, Channel 3, Enable 5, Hold=35, ADC Mean vs DAC | X° / ndf 36.84/23
pO 67.75 + 0.7029
pl 0.002947 + 2.12e-05

260

240 0

220
200
180
160
140
120
100

80

‘JIII|III|III|III|III|IH|III|III|III|II

60

1 1 1 1 1 1 1 1 1 1 1 1 1 1
40000 50000

e

1 I 1 1 I 1
20000 30000

| Chip 3, Channel 3, Enable 5, Hold=35, ADC Noise vs DAC

11

10

|IIII|IIIIT]III|[III I

N

o
TTTT

| Chip 3, Channel 3, Enable 5, Hold=35, ADC Residuals vs DAC |

©
|I

,Tllr

i
III'|II

?
+ §+ % +++* %%+

20000 30000 40000 50000 60000

o
[any
o
o
o
o



Chip 3, Channel 4, Enable 0, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

380
360
340
320
300
280
260
240
220

200

pl

41.83/23
168.5 + 0.7497
0.003004 * 2.246e-05

i
o
o

c T

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 3, Channel 4, Enable 0, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

11

10

©
IIII]IIII|IIII|IIII|IIII|II

Chip 3, Channel 4, Enable 0, Hold=35, ADC Residuals vs DAC

12

il

20000 30000 40

o
=
o
o
o
o

000

50000

60000 70000




| Chip 3, Channel 4, Enable 1!, Hold=35, ADC Mean vs DAC |

30000

25000

20000

15000

10000

5000

x° I ndf
pO0
pl

8360/ 23
353.1+ 0.9689
0.495 * 4.536e-05

Y A A

S AR
@

1 I 1 1 I 1 1 I 1
20000 30000 40000

| Chip 3, Channel 4, Enable 1!, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

50
40
30
20

#ﬁ'

=
o

°rre

1 I 1 1 I 1
10000 20000

| Chip 3, Channel 4, Enable 1!, Hold=35, ADC Residuals vs DAC

o

-500
-1000
-1500
-2000

-2500

-3000 T R R N

10000 20000 30000 40000

o

50000

60000

70000



Chip 3, Channel 4, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

360

43.1/23
174.7 +0.7287
0.003005 * 2.139e-05

340 [
320
300
280
260
240

220

200

ove®

=
0]

o Trf
l

20000 30000 40000 50000

Chip 3, Channel 4, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

10

o

o

Chip 3, Channel 4, Enable 2, Hold=35, ADC Residuals vs DAC |

-

e,
RIEX

@
—@—

¢
* éi**%%*§+é+{é

'
(&)

KN
o

KN
(6)]

"

¢

o_l I|I TTT |III I|I I Hj;hﬂr

20000 30000 40000 50000



Chip 3, Channel 4, Enable 3, Hold=35, ADC Mean vs DAC |

pO0
pl

x° I ndf

44.37 123
172.1+0.7277
0.003474 = 2.215e-05

400

350

300

250

200

oV
o
..

1@
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 4, Enable 3, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

10

$

\
IIFI|IIII

Chip 3, Channel 4, Enable 3, Hold=35, ADC Residuals vs DAC |

10

J II|III|III|I II|III|I1IJJ:LLLIII|III|III
o
o
—@—
—@—
@
—@—
—@—
—@—
—@—
—@—
R
—@—
—@—
—@—
—@—

20000 30000 40000 50000

o
=
o
o
o
o

60000 70000




| Chip 3, Channel 4, Enable 4, Hold=35, ADC Mean vs DAC |

400

350

300

250

200

x° I ndf
pO0
pl

26.94 /23
169.2 + 0.6799
0.003841 + 2.133e-05

oY
L
..

°r 18
- @
- @

1 I 1 1 I 1 1 I 1
20000 30000 40000

| Chip 3, Channel 4, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

13
12

11

10

| Chip 3, Channel 4, Enable 4, Hold=35, ADC Residuals vs DAC

A

20000 30000 40000

o
[TT

50000

60000 70000




Chip 3, Channel 4, Enable 5, Hold=35, ADC Mean vs DAC |

360
340
320
300
280
260
240
220
200

x° I ndf
pO0
pl

18.7/23
170.2 +0.674
0.002921 + 2.037e-05

180 ®
1GOE 1 1 1 1 1 1 1 1 I
0

1 I 1 1 I 1 1
20000 30000 40000

Chip 3, Channel 4, Enable 5, Hold=35, ADC Noise vs DAC

-
50000

11

10

©

[ee]

Chip 3, Channel 4, Enable 5, Hold=35, ADC Residuals vs DAC

8

@

1 || 1 Tn 1
—@—

¢4 .4113 {.

20000 30000 40000

o
[any
o
o
o
o

50000




| Chip 3, Channel 5, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 36.17 /23
— po 98.25 + 0.6612
300 — pl 0.002906 + 2.007e-05
: ® o
— o
250 —
200 |—
150 |—
Lo ®
£
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 3, Channel 5, Enable 0, Hold=35, ADC Noise vs DAC
12

11

10

||H||H|Th||mHIIIIIWI
—@—
—@—
—@—
—@—
—@—

o
Juny
o
Ol
o
o

| Chip 3, Channel 5, Enable 0, Hold=35, ADC Residuals vs DAC |

10

N
I|III|III|III|III|WI

20000 30000 40000 50000 60000 70000

o
=
o
o
o
o



Chip 3, Channel 5, Enable 1, Hold=35, ADC Mean vs DAC |

x° I ndf
pO0

300

250

200

150

pl

69.05/23
91.9 £0.7915
0.003344 * 2.368e-05

o0®"

H
o
o’_ri

S )

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 3, Channel 5, Enable 1, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

Chip 3, Channel 5, Enable 1, Hold=35, ADC Residuals vs DAC

'irw T

e
—@—

¢

o

+'}
% +++§

'
&)

AN
o

¢
f§*+ii+§++§%+ %*§é

ol T I| T I| T I'Li;LI T

10000 20000 30000 40000

50000

60000




Chip 3, Channel 5, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 19.73/23

po 101.7 + 0.7443
pl 0.003167 * 2.344e-05

300

o0®

250

200

150

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

H
o
o
T?IIII
- '@

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

Chip 3, Channel 5, Enable 2, Hold=35, ADC Noise vs DAC

12

11

10

©

Chip 3, Channel 5, Enable 2, Hold=35, ADC Residuals vs DAC |

(&}

OJ T T |I T I| T T |F_4ﬁLLJ | I

(=)

¢
+++ ++§%§+++ §+ +% %%++%§%

'
a1

+#
’

10000 20000 30000 40000 50000 60000 70000

KN
o

KN
[6)]




| Chip 3, Channel 5, Enable 3, Hold=35, ADC Mean vs DAC | X* / ndf 17.5/23
pO 98.25 + 0.687
— pl 0.003341 + 2.05e-05
— o L J
300 — eo®
- [
250 [—
200 [—
150 [—
L a2 @
e
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 3, Channel 5, Enable 3, Hold=35, ADC Noise vs DAC
12

11

10

| Chip 3, Channel 5, Enable 3, Hold=35, ADC Residuals vs DAC |
8

6

_II||||||||||||||||'NII.
—@—
—@—

2%

20000 30000 40000 50000 60000 70000

o
=
o
o
o
o



Chip 3, Channel 5, Enable 4!, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

30000

7443123
299.7 £0.9375
0.4933 + 4.243e-05

25000

20000

15000

10000

5000

..‘

9
r

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 5, Enable 4!, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

~
o

[e2]
o

a1
o

N
o

w
o

t

N
o

¢
IAETN

L X

=
o

o

éé@
¢

o
|IIII|I III|IIII|IIII|IIII|IIII|

1 I 1 1 I 1
10000 20000

Chip 3, Channel 5, Enable 4!, Hold=35, ADC Residuals vs DAC |

|||’|‘|‘
o
o
o
o
o
o
o

-500

-1000

-1500

-2000

10000 20000 30000 40000 50000

o

60000 70000



Chip 3, Channel 5, Enable 5, Hold=35, ADC Mean vs DAC

300

250

200

150

x° I ndf
pO0
pl

23/23
94.87 + 0.703
0.003238 * 2.128e-05

1 I 1 1 I 1
20000 30000

40

000

Chip 3, Channel 5, Enable 5, Hold=35, ADC Noise vs DAC

-
50000

Juny
o

©
|II1I| TTTT

TTT ﬁF’III

o
[any
o
ol
o
o

Chip 3, Channel 5, Enable 5, Hold=35, ADC Residuals vs DAC

o
|I

- ’Tuw

N

'
N

A

'
()]

O_JI II| TTT |IJ_LI;_LJ| III'|I

10000 20000 30000

40

000

50000

60000




Chip 3, Channel 6, Enable 0, Hold=35, ADC Mean vs DAC

200
180
160
140
120
100

@D @
o O

N
o

x° I ndf
pO0
pl

42 /23
11.51+0.7331
0.002849 * 2.15e-05

..._'
[

™

1 I 1
20000

1 I 1
30000

1 I 1
40000

50

000

Chip 3, Channel 6, Enable 0, Hold=35, ADC Noise vs DAC

1 I 1
60000

-
70000

10

IIII]IIIITIIII|IIII
L

(&)

°f||||||||'|

Chip 3, Channel 6, Enable 0, Hold=35, ADC Residuals vs DAC |

12
10

—@—
—@—
—@—

+

—@—
—@—

+

_III|III|III|III|III|III|III<|T_I_I‘IEJ_I_|

RUN

10000 20000 30000 40000 50000

o

60000 70000



Chip 3, Channel 6, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

200

47.4 /23
8.31+0.7055
0.002979 * 2.079e-05

180

160

140

120

100

80

60

40

20,

s

'Y AAd

1 1 I 1 1 I 1 1 I 1 1
10000 20000 30000 40000 50000

o

Chip 3, Channel 6, Enable 1, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

11

10

®

o
Juny
o
Ol
o
o

Chip 3, Channel 6, Enable 1, Hold=35, ADC Residuals vs DAC |

10

T
@

111, ¢
ST P LITTIE.

-15

-20

§§§§§+

¢
¢

10000 20000 30000 40000 50000

o

60000 70000



Chip 3, Channel 6, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

220

15.09/23
16.61+ 0.6488
0.003255 *+ 1.972e-05

200
180
160
140

120
100
80
60
40

2

o®°®"

T

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 6, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

10

o
[T I| [T
@~

Chip 3, Channel 6, Enable 2, Hold=35, ADC Residuals vs DAC |

[ee]

+++§++é§%+++%§§+ %+;+§++§é§

oo & A NV o N O~

B
RS

N
D

!

Y

0 10000 20000 30000 40000 50000

60000 70000




Chip 3, Channel 6, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

240

10.01/23
12.51+ 0.7763
0.003213 = 2.241e-05

220
200
180
160
140
120
100

80

[ B 4
o‘.

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 6, Enable 3, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

11

10

g

o
[

Chip 3, Channel 6, Enable 3, Hold=35, ADC Residuals vs DAC |

10

o

W i

||||| |||||| ITIII |||||
—@—

% ?

10000 20000 30000 40000 50000

o
I

60000 70000




| Chip 3, Channel 6, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 25.73 /23
pO 11.72 +0.6804
pl 0.003368 + 2.069e-05

240

220
200
180
160
140
120
100

80

60

40

o0V
o0

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 3, Channel 6, Enable 4, Hold=35, ADC Noise vs DAC

12

10

o

%

} + f+++ ’

1 I 1 1 I 1
10000 20000

o

| Chip 3, Channel 6, Enable 4, Hold=35, ADC Residuals vs DAC |

i

!
| H*W%;

10000 20000 30000 40000 50000 60000 70000

||||||||||II|III|III TT1 ||||||
o
—@—
—@—
—@—
o
@
—@—
—@—
X
—@—
—@—
—@—

o
[



Chip 3, Channel 6, Enable 5!, Hold=35, ADC Mean vs DAC | X° / ndf

pO0

8740/ 23
213.8 £0.9072

0.5093 + 4.033e-05

30000

25000

20000

15000

10000

5000

.Q"

%
L

1 I 1 1 I 1 1 1 I 1
10000 30000 40000 50000

Chip 3, Channel 6, Enable 5!, Hold=35, ADC Noise vs DAC

60

50

40

30

20

IIII|IIII|IIII|IIII|IIII
—@—

o ©

o

o

o
[any
o
ol
o
o

Chip 3, Channel 6, Enable 5!, Hold=35, ADC Residuals vs DAC |

.

- 0000000090
0_.....000 00000....

-500
-1000

-1500

l TTTT |I 1T | TTTT |I I

-2000

10000 20000 30000 40000 50000




Chip 3, Channel 7, Enable 0, Hold=35, ADC Mean vs DAC |

x° I ndf

46.61/ 23

300 — pO 92.13 +0.7308
L pl 0.002916 + 2.305e-05
- o®
250 [— o
200 [—
150 |—
o
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 3, Channel 7, Enable 0, Hold=35, ADC Noise vs DAC
12
11
10
9
8
7
6
R ’ %
4
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 3, Channel 7, Enable 0, Hold=35, ADC Residuals vs DAC |
14
1
10 f-—
8
6 E + %
Ele *
SRPLI] ¢4 ¢ ¢
i3 $tetryy, Te Ths
<E +
6 E_ | | | | | | |
0 10000 20000 30000 40000 50000 60000 70000




Chip 3, Channel 7, Enable 1, Hold=35, ADC Mean vs DAC

280
260
240
220
200
180
160
140

120

x° I ndf
pO0

65.63 /23
86.92 £ 0.7875
0.003085 * 2.246e-05

o90%e

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 3, Channel 7, Enable 1, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

11

10

Chip 3, Channel 7, Enable 1, Hold=35, ADC Residuals vs DAC |

15

10

@
H@H

¢

-@-
-@-

@~

@~

é ) §§ §§Q§§§§§
§§§§§é * é §

-20

®

¢

¢

10000 20000 30000 40000 50000

o

60

000

70000



Chip 3, Channel 7, Enable 2!, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

30000

25000

20000

15000

10000

5000

pl

1.137e+04/ 23
287.4 +£0.9888
0.5115+ 4.611e-05

L A A

9
o

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 7, Enable 2!, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

50

40

30

20

=
o
L

¢

é
006 °

¢ ‘'
+§++ ++§

@
@
@

¢
é

@

1 I 1
20000

Chip 3, Channel 7, Enable 2!, Hold=35, ADC Residuals vs DAC |

0F—

-500

-1000

-1500

-2000

-2500

-3000

o

10000 20000 30000 40000 50000

60000 70000



| Chip 3, Channel 7, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 32.14/23
pO 93.81+0.7815
pl 0.003229 + 2.285e-05

300

250

200

150

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

=
o
O'—rf
|

- @

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 3, Channel 7, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

| Chip 3, Channel 7, Enable 3, Hold=35, ADC Residuals vs DAC |

10

|Il||

[ee]

e

||||||IIT1IITIII|III
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—

—@—
—@—
—@—

—@—

20000 30000 40000 50000 60000 70000

o
=
o
o
o
o



Chip 3, Channel 7, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf

pO0

37.1/23
91.91+0.7688

0.00339 + 2.229e-05

300 v e
Py

250

200

150

H
o
OT?IIII
- @
- @

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

Chip 3, Channel 7, Enable 4, Hold=35, ADC Noise vs DAC

-
70000

12

11

10

¢
%§ +++§+++§é

¢
TR ILALY
+++é§§§ %

’

-10

10000 20000 30000 40000 50000 60000

o

70000




Chip 3, Channel 7, Enable 5, Hold=35, ADC Mean vs DAC | X° / ndf 28.64 /23
_ pO 88.67 + 0.703
300 |— pl 0.003272 + 2.182e-05
— o®
250 —
200 |—
150 | —
g
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
0 10000 20000 30000 40000 50000 60000
Chip 3, Channel 7, Enable 5, Hold=35, ADC Noise vs DAC
12
11
10
9
8
7
6
4 +
3 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
0 10000 20000 30000 40000 50000 60000

Chip 3, Channel 7, Enable 5, Hold=35, ADC Residuals vs DAC

12
10

¢
+++*%

20000 30000 40

000

50000

60000




Chip 3, Channel 8, Enable 0, Hold=35, ADC Mean vs DAC

160
140
120
100
80
60
40
20

o

x° I ndf
pO0
pl

47.53/23
-34.8 + 0.6604
0.002919 * 1.909e-05

oV
o®
o

AN
IS

%
- @

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 3, Channel 8, Enable 0, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

10

Chip 3, Channel 8, Enable 0, Hold=35, ADC Residuals vs DAC

14

12

il

JEny
o

@~

¢
+§
;!

¢ ¢
KIS 1Y,
%* +%+

o & A M O N A O ®

é+§+§f{**

§§+$

oI_III|III|III|III|III|III TTT IIWIIW

10000 20000 30000 40

000

50000

60000 70000




Chip 3, Channel 8, Enable 1, Hold=35, ADC Mean vs DAC

x° I ndf

140

120

100

80

60

40

"R A

66.42 /23
-39.38 £ 0.7322
0.003074 * 2.282e-05

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 3, Channel 8, Enable 1, Hold=35, ADC Noise vs DAC

12

50000

1 I 1 1 I
60000 70000

11

10

o
ITT

Chip 3, Channel 8, Enable 1, Hold=35, ADC Residuals vs DAC

£

10

T
@
@

@
¢ §§§§§§§§§§§

-10
-15

-20

b5040000000,

¢

*

10000 20000 30000 40

o

000

50000

60000 70000



Chip 3, Channel 8, Enable 2, Hold=35, ADC Mean vs DAC

160
140
120
100
80
60
40
20

x° I ndf
pO0
pl

20.2/23
-33.09 £ 0.8019
0.003103 * 2.362e-05

AN
IS

%
- @

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 3, Channel 8, Enable 2, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

11

10

©

[ee]

~

Chip 3, Channel 8, Enable 2, Hold=35, ADC Residuals vs DAC

’
IR

ITTT

KN
o

! de4s ¢
AR A

éé%

10000 20000 30000 40

o
[T

000

50000

60000 70000




Chip 3, Channel 8, Enable 3, Hold=35, ADC Mean vs DAC |

200

150

100

50

x° I ndf

pO0
pl

21.79/23
-33.99 £ 0.7454
0.003415 * 2.263e-05

T
- @

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 3, Channel 8, Enable 3, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

13

12

11

10

SIRgRE ++

10000 20000 30000 40000

o

50000

60000 70000




Chip 3, Channel 8, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

180

29.27 123
-36.07 £ 0.7633
0.00337 + 2.208e-05

160
140
120
100
80
60
40
20
0
20 o
-40

b X )

1 I 1 1 I 1 1 I 1 1 I 1 1
0 10000 20000 30000 40000 50000

Chip 3, Channel 8, Enable 4, Hold=35, ADC Noise vs DAC

1 I 1
60000

-
70000

10

©
|IIII1IIII|II

(o4}

|1||r||ﬂ

o
1T

Chip 3, Channel 8, Enable 4, Hold=35, ADC Residuals vs DAC |

-

o
| TTT ||| TTT ||| IIJ{;LIW
H@-
—@—
—@—
o
—@—
-9

KN
o

o
TTT

10000 20000 30000 40000 50000 60000 70000



| Chip 3, Channel 8, Enable 5!, Hold=35, ADC Mean vs DAC | X° / ndf

30000

25000

20000

15000

10000

5000

7670/ 23

pO0 150.3 + 0.9453
— pl 0.5074 + 3.895e-05
:_ ° oo
- @
(f. 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 Al
10000 20000 30000 40000 50000 60000

| Chip 3, Channel 8, Enable 5!, Hold=35, ADC Noise vs DAC

50

40

30

20

=
o

1@
@®

%

0o t000 o ¢ R

§§§+§§

‘h*

1 I 1 1 I 1
10000 20000

| Chip 3, Channel 8, Enable 5!, Hold=35, ADC Residuals vs DAC |

20

o

c)_|III|III|III|III|III|III|III|III|.I.II|II

-200
-400
-600
-800
-1000
-1200
-1400
-1600
-1800

frr

10000 20000 30000 40000 50000




Chip 3, Channel 9, Enable 0, Hold=35, ADC Mean vs DAC

250

200

150

100

50

x° I ndf

50.72 /23

14

10

® & A N o

o]0] 17.57 £0.7432
— pl 0.003234 + 2.318e-05
i v
i PY o
— o®
%’
1 1 1 I 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
Chip 3, Channel 9, Enable 0, Hold=35, ADC Noise vs DAC
1 1 I 1 1 I 1 1 I 1 1 I 1 1 I 1 1 I 1 1 I
10000 20000 30000 40000 50000 60000 70000
Chip 3, Channel 9, Enable 0, Hold=35, ADC Residuals vs DAC |
' :
= + + +
E
=ty {' H TIRF
:_T 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000



Chip 3, Channel 9, Enable 1, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

220
200
180
160
140
120
100

80

60

pl

84.94 /23
13.99 +0.745
0.003238 * 2.282e-05

0®®

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 3, Channel 9, Enable 1, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

Chip 3, Channel 9, Enable 1, Hold=35, ADC Residuals vs DAC

£

=
o

@
-@-
-@-

[&)]

@

¢

o

RITTITTT
¢

'
a1

AN
o

AN
[6)]

R
o

*éééé

§§§§§§éé

¢
¢

¢

olIIII“III|IIII“III|IIII“J‘A|F

10000 20000 30000 40

000

50000

60000 70000



Chip 3, Channel 9, Enable 2, Hold=35, ADC Mean vs DAC

180

160

140

120

100

80

60

x° I ndf
pO0

347123
22.54 £ 0.7249
0.002547 = 2.274e-05

..'_‘Q

Fe°
20 1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ] 1 1 1
0

20000 30000

1 I 1
40000

Chip 3, Channel 9, Enable 2, Hold=35, ADC Noise vs DAC

50000

-
60000 70000

11

10

©

$

(o] ~

(6]

N

o .
TTTTTTTTI IIII|IIII

Chip 3, Channel 9, Enable 2, Hold=35, ADC Residuals vs DAC

”’E

5

ﬁ

'-0-'

b i .
o o &

[N
o

N
o1

o_|IIII|IIII|IIH|IIII|IIIIT].JI|

20000 30000

40000

50000




| Chip 3, Channel 9, Enable 3!, Hold=35, ADC Mean vs DAC

30000

25000

20000

15000

10000

5000

6726 /23
190.1+ 0.9757
0.4903 + 4.336e-05

o°®

%
®

1 I 1
20000

1 I 1
30000

1 I 1
40000

| Chip 3, Channel 9, Enable 3!, Hold=35, ADC Noise vs DAC

50

000

60

. -
000 70000

60

50

40

30

20

10

‘J TTT I|I TTT |II II| TTTT |II II|I

O__l_[’

®
000® o

®e

g s

¢

o

10000

20

000

| Chip 3, Channel 9, Enable 3!, Hold=35, ADC Residuals vs DAC

20

vk

-200
-400
-600
-800
-1000
-1200
-1400
-1600

-1800

10000

20

000

30

000

40

000

50

000

60

000 70000




Chip 3, Channel 9, Enable 4, Hold=35, ADC Mean vs DAC |

x° I ndf

240
220
200
180
160
140
120
100
80
60
40
20

pO0

pl

13.07/23
205+ 0.78

0.003196 * 2.323e-05

vwg
° [
L

o

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

Chip 3, Channel 9, Enable 4, Hold=35, ADC Noise vs DAC

12

11

10

-
70000

Chip 3, Channel 9, Enable 4, Hold=35, ADC Residuals vs DAC |

“

-10

[T
—@—

¢

¢
§§+++++%+$+§+§+§+§§++§§++é+ +

'

o

10000 20000 30000 40000 50000 60000

70000




Chip 3, Channel 9, Enable 5, Hold=35, ADC Mean vs DAC | X° / ndf 34.51/23

) 17.93 +0.7565
p1 0.002379 * 2.225e-05

160 oV
[

140 ®
120
100
80

60

1 1 1 1 1 1 1 1 1 1 1 1 1 1
40000 50000

1 I 1 1 I 1
20000 30000

o
[uny
o
o
o
o

Chip 3, Channel 9, Enable 5, Hold=35, ADC Noise vs DAC

12

10

o

I rl [T T [T
—@—
—@—
—@—
—@—

20000 30000 40000 50000 60000

o
[any
o
o
o
o



Chip 3, Channel 10, Enable 0!, Hold=35, ADC Mean vs DAC |

30000

25000

20000

15000

10000

5000

x° I ndf
pO0
pl

7809 /23
216.2 £0.9413
0.4863 + 4.286e-05

o®"
°o®

8
®
- ®

20000 30000 40000

Chip 3, Channel 10, Enable 0!, Hold=35, ADC Noise vs DAC

50000

-
60000 70000

50

40

30

20

¢
..Qé *

10,

.'_j....é.Q

: *wﬁ "

0 10000 20000

Chip 3, Channel 10, Enable 0!, Hold=35, ADC Residuals vs DAC

200,

ﬂW

0

-200

-400

-600

-800

-1000

-1200

-1400

lIII |III|I II|III |III|I II|III |h‘||||

-1600

20000 30000 40000

50000

60000




Chip 3, Channel 10, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

220

89.93/23
42.92 £0.7044
0.002954 * 2.169e-05

200

180

160

140

120

100

80

60

.1III|III|III|III|III|III|III|III|II

40 1 1 1 1 1 1 1 1 ] 1

.Q"'

e

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 10, Enable 1, Hold=35, ADC Noise vs DAC

12

1 I 1 1 I
60000 70000

11

10

o
ITT

Chip 3, Channel 10, Enable 1, Hold=35, ADC Residuals vs DAC |

£

10— 'i

@~
@

-10

-15

&
III|IIII|IIII|IIII|IIII|IIII

L
¢

10000 20000 30000 40000 50000

o

60000 70000



Chip 3, Channel 10, Enable 2, Hold=35, ADC Mean vs DAC

71.68/23

120

110

100

90

80

70

60

55.33 £ 0.7089
0.001151+ 2.122e-05

|
000

1 I 1 1 I 1 1 I 1 1 1 I 1 1 I
20000 30000 40000 50 60000 70000

Chip 3, Channel 10, Enable 2, Hold=35, ADC Noise vs DAC

Chip 3, Channel 10, Enable 2, Hold=35, ADC Residuals vs DAC

-10

-15

-20

-25

JIIII|IIII|IIII|IIII|IIII|IT’_Q.'Llll

¢
¢ ¢0
o0

'

¢ *%. ¢ 0. ¢
RRALT IR FRFLIITF:

|
000

|
000

|
000

|
000

|
000

|
000

10 20 30 40 50 60 70

o

000



Chip 3, Channel 10, Enable 3, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

300

250

pl

52.03/23
48.89 = 0.7028
0.00349 + 2.205e-05

200

150

100

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 1
50000

(o]

O,
°T|Q
- '@

1 I 1 1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 60000 70000

| Chip 3, Channel 10, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

©

00

| Chip 3, Channel 10, Enable 3, Hold=35, ADC Residuals vs DAC |
12

10

$

P
; +§+% } ++ ++

10000 20000 30000 40000 50000 60000 70000

%
%+H

o
II|III|III|III|III|III|III'II

o



Chip 3, Channel 10, Enable 4, Hold=35, ADC Mean vs DAC |

250

200

150

100

x° I ndf
pO0
pl

29.57/23
49.15+ 0.75
0.003161 + 2.279e-05

L A J
.O

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 3, Channel 10, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

IIIFIIITIIII|IIII|IIII
—@—

o
Juny
o
Ol
o
o

Chip 3, Channel 10, Enable 4, Hold=35, ADC Residuals vs DAC

-

|I ITT |II IITiL‘;_L|I [T
—@—

-10

\
%§§+++§+é§§§§++++§*+§++ 0t

¢

t

10000 20000 30000 40000

o
[T

50000

60000 70000



Chip 3, Channel 10, Enable 5, Hold=35, ADC Mean vs DAC | x° I ndf 27.65/23

pO 50.38 + 0.7292
pl 0.0009326 + 2.282e-05

110

100

90

80

70

60

1 1 I 1
40000 50000

1 I 1 1 I 1
20000 30000

o
[uny
o
o
o
o

Chip 3, Channel 10, Enable 5, Hold=35, ADC Noise vs DAC

12

10

,ITIII

—@—
—@—
—@—
—@—
—@—
—@—
—@—

T rl
-0

o
[any
o
ol
o
o

Chip 3, Channel 10, Enable 5, Hold=35, ADC Residuals vs DAC |

&

10000 20000 30000 40000 50000 60000

o
[



| Chip 3, Channel 11, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 37.89/23
pO 82.98 +0.7154
pl 0.002875 * 2.239e-05

280

260
240
220
200
180
160
140
120

100

JIII|III|III|III|III|III|III|III|III|II

80

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

e

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 3, Channel 11, Enable 0, Hold=35, ADC Noise vs DAC
12

11

10

| Chip 3, Channel 11, Enable 0, Hold=35, ADC Residuals vs DAC |
+ H
| SERI SITERLITS



Chip 3, Channel 11, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf

pO0

280

59.44 /23
78.96 + 0.7064
0.003151 + 2.159e-05

260
240
220
200
180
160
140
120

100

.JIII|III|III|III|III|III|III|III|III“

80 L

.QQ"

e

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 11, Enable 1, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

10

[ee]

T’II

o
|I [T

et T

1 I 1 1 I 1 1 I 1 1 I 1 1 1
10000 20000 30000 40000 50000

o
[T

Chip 3, Channel 11, Enable 1, Hold=35, ADC Residuals vs DAC |

1 I 1 1
60000 70000

15

|1ﬂT|T

10

@

§§

-10

-15

o . ¢ 6. ®
R LA

¢

¢

10000 20000 30000 40000 50000

o
[

60000 70000



Chip 3, Channel 11, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

1oob

91.75/23
94.77 £ 0.8152
-0.002421+ 2.364e-05

50

-50

-100

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

o

Chip 3, Channel 11, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1
60000

Chip 3, Channel 11, Enable 2, Hold=35, ADC Residuals vs DAC |

10
5

0

®
o ot 20 0,6%, 0%
¢ é
§§§

'
[6x]

§§+§§

KN
o

KN
(6)]

N
o

ro
o1

W
o

¢

4
¢

O_IIIII|IIH|IIII|IIII|IIIW

10000 20000 30000 40000 50000

60000

70000




| Chip 3, Channel 11, Enable 3!, Hold=35, ADC Mean vs DAC

| x° I ndf

pO0

30000

25000

20000

15000

10000

5000

pl

5294/ 23
259.3 +1.033
0.4808 + 4.477e-05

o®"
°o®

9
r

1 I 1 1 I 1
20000 30000

1 I 1
40000

50000

| Chip 3, Channel 11, Enable 3!, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

50
40
30

+

20

IRy
o

of

¢
+§é§+ %+§*

e
o

®

@
o

®

@

| Chip 3, Channel 11, Enable 3!, Hold=35, ADC Residuals vs DAC |

200

Q|—r

0

-200

-400

-600

-800

-1000

-1200

10000 20000 30000

o
TTT

40000

50000

60000 70000




Chip 3, Channel 11, Enable 4, Hold=35, ADC Mean vs DAC |

300

250

200

150

100

x° I ndf

18.22 /23
83.59 + 0.7655
0.00337 + 2.268e-05

) L A J
o

o_ "I 1T | TTTT | TTTT |I T |I
L

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 3, Channel 11, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

©

00

N
II|II I|III| III|II I|III

20000 30000 40000

o
=
o
o
o
o

50000

60000 70000




Chip 3, Channel 11, Enable 5, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

542123
86.74 £ 0.7258
-0.002355 * 2.304e-05

lOOE
80

60

40

20

0

-20

-40

-60

III|III|III|III|III|III|III|IIIL'

-80 I I I I I I I 1 1 1 1 1

1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000

o
[uny
o
o
o
o

Chip 3, Channel 11, Enable 5, Hold=35, ADC Noise vs DAC

11

10

Chip 3, Channel 11, Enable 5, Hold=35, ADC Residuals vs DAC |

s

¢
¢ %++ $tls % *

&
|III|II I|III|I'II

-10

|

%

20000 30000 40000 50000

o
[

60000




Chip 3, Channel 12, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf

100

51.04/23

p0 -51.15+0.7288
pl 0.002015 + 2.19e-05

80 hd
o

60 o®
40

20

R et

10000 20000 30000 40000 50000 60000

Chip 3, Channel 12, Enable 0, Hold=35, ADC Noise vs DAC

-
70000

11

10

©

[4)] (o)) ~ (o]
||||||||H|||'| ITTT

N

o
TTT
N
o
o
)
=)
N
o
o
o
o
w
o
Ol
o
o
N
o
o
o
=)
ul
o
o
)
=)
o
o
o
o
o

Chip 3, Channel 12, Enable 0, Hold=35, ADC Residuals vs DAC |

: +
+*%++* ORI j
4
° +H e 232

N A~ O

® & A N o

0 10000 20000 30000 40000 50000 60000

70000




Chip 3, Channel 12, Enable 1, Hold=35, ADC Mean vs DAC |

x° I ndf
pO0

120

100

80

60

40

20

0

-20

‘JIII|III|III|III|III|III|III|III“

pl

66.5/23
-55.66 + 0.756
0.002766 * 2.264e-05

° o0 L A )

&
IS
e

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 3, Channel 12, Enable 1, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

11

10

IIII[IIII|IIII|I

e

&}

o
TTT

Chip 3, Channel 12, Enable 1, Hold=35, ADC Residuals vs DAC |

-

& o

KN
o

KN
[6)]

§++++§§+$§

¢
¢

OJ IIII|I III|II II|III iL‘LIT

10000 20000 30000 40000

50000

60000 70000




Chip 3, Channel 12, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

9336 /23
58.65 +1.133
-0.06343 * 5.667e-05

A

-1000

-2000

-3000

-4000

-5000

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

o
Juny
o
(@) =N
o
o

Chip 3, Channel 12, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1
60000

120
100
80
60
40

¢
§§++

0®®

N
o

S
- @
@

1 1 1 1 I 1
10000 20000 30000

Chip 3, Channel 12, Enable 2, Hold=35, ADC Residuals vs DAC |

200

0 ......‘.......

-200

-400

-600

-800

-1000

-1200

-1400

10000 20000 30000 40000 50000

o

60000 70000




Chip 3, Channel 12, Enable 3, Hold=35, ADC Mean vs DAC

120

100

80

60

40

20

0

-20

x° I ndf
pO0
pl

36.75/23
-50.94 + 0.6979
0.002503 *+ 2.147e-05

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 3, Channel 12, Enable 3, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

Ny

1 I 1 1 I 1
30000 40000

50000

Chip 3, Channel 12, Enable 3, Hold=35, ADC Residuals vs DAC

12

s

8

%

oy
¢

|III|III|III|III|illIlllIFII|III|

-
70000

60000

50000

40000

30000

20000

10000

o
[



| Chip 3, Channel 12, Enable 4!, Hold=35, ADC Mean vs DAC | X° I ndf 8080/ 23
p0o 142.2 £1.037
30000 — pl 0.5066 + 4.671e-05
= P L A
25000 —
20000 —
15000 (—
10000 —
5000 —
—a ®
(g’ 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

| Chip 3, Channel 12, Enable 4!, Hold=35, ADC Noise vs DAC

60

50

40

w
o

SRR

¢ §§++§§§ §§§

N
o

=
(=]

@
([ )
[ ]
@
L
@
@
@
®
@y
@
@
o

o

o
Juny
o
Ol
o
o

| Chip 3, Channel 12, Enable 4!, Hold=35, ADC Residuals vs DAC |

-500
-1000
-1500
-2000

-2500 'Y

10000 20000 30000 40000 50000 60000 70000

o



Chip 3, Channel 12, Enable 5, Hold=35, ADC Mean vs DAC |

x° I ndf

1.153e+04 / 23

po 46.07 + 1.009
OE pl -0.06188 + 5.209e-05
®e
-1000 [—
-2000 —
-3000 [—
- ®e
-4000 |—
_ o o
— o
'5000 e | 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 I 1 1 1 Al
10000 20000 30000 40000 50000 60000

Chip 3, Channel 12, Enable 5, Hold=35, ADC Noise vs DAC

100

80

60

40

N
o

000§9§°

Co0g0 o .

S @
- @

1 1 1 I 1
10000 20000 30000

Chip 3, Channel 12, Enable 5, Hold=35, ADC Residuals vs DAC

P||||||
([ ]
o

-200

-400

-600

-800

10000 20000 30000 40000

o

50000




| Chip 3, Channel 13, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 53.78 /23
pO 36.27 + 0.6929
pl 0.002578 * 2.143e-05

220

v
200 °® o

180 o ®
160
140
120

100

(o2 o]
o O

o
II|III|III|III|III|II I|III|III|III|I

N
Q

1 1 I 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 3, Channel 13, Enable 0, Hold=35, ADC Noise vs DAC

11

10

(o]

~

[«

w

N
olllll|||||||||||||||||||| TTTT
—@—

| Chip 3, Channel 13, Enable 0, Hold=35, ADC Residuals vs DAC |

12

w +
§+++++*§++§*§

N b~ O

@
—@—
—@—
@
—@—

N O

A

II|III|III|III|III|III|III[III

-9
—@—
@
—@—
—@—
—@—
—@—
—@—

10000 20000 30000 40000 50000 60000 70000

o



| Chip 3, Channel 13, Enable 1!, Hold=35, ADC Mean vs DAC

30000

25000

20000

15000

10000

5000

8

@
- @

x° I ndf
pO0
pl

1.276e+04 / 23
213.4 +£0.8868

0.5081+ 4.138e-05

.'_"

1 I 1
20000

1 I 1
30000

1 I 1
40000

| Chip 3, Channel 13, Enable 1!, Hold=35, ADC Noise vs DAC

50

40

30

20

=
o

@

50000

1 I 1
60000

-
70000

o ¢

?

+

4t
¢ LY

1 I 1 1 I 1
10000 20000

| Chip 3, Channel 13, Enable 1!, Hold=35, ADC Residuals vs DAC

&7

-500

-1000

-1500

-2000

-2500

o

10000 20000 30

000

40

000

50000

60

000

70000




Chip 3, Channel 13, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf

pO0

315.4/23
57.54 £ 0.7486
-0.008439 * 2.23e-05

100
3 -
o

0 o
-100
-200
-300
-400

-500

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 13, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

11

10

N (6]
II|IIII|IIIIIIII TTTTTTTI
—@—

o
Juny
o
Ol
o
o

Chip 3, Channel 13, Enable 2, Hold=35, ADC Residuals vs DAC |

10

-10

L4
H@H
@

-20

-30

*4|||||||||||
@
@
@

¢

20000 30000 40000 50000

o
=
o
o
o
o

60000 70000




Chip 3, Channel 13, Enable 3, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

250

200

150

100

50

pl

20.89/23
38.8 £0.8643

0.003011+ 2.508e-05

ojT1:‘I T I| T I| TTTT |I 1 I|

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

Chip 3, Channel 13, Enable 3, Hold=35, ADC Noise vs DAC

-
70000

12

11

10

Chip 3, Channel 13, Enable 3, Hold=35, ADC Residuals vs DAC |

10

]

o
IrIII|III|I

e

o

A

N
|III|III|III|III|

'
[e2)

—@—
—@—
—@—

% SRS

o
I

10000 20000 30000 40000 50000 60000

70000




Chip 3, Channel 13, Enable 4, Hold=35, ADC Mean vs DAC |

X* I ndf 37.75123

p0 34.29 + 0.8004

250

200

150

100

pl 0.003582 * 2.319e-05

[ X Ad

1 I 1 1 I 1 1 I 1 1 1 I 1 1 I
20000 30000 40000 50000 60000 70000

Chip 3, Channel 13, Enable 4, Hold=35, ADC Noise vs DAC

12

10

- .I'TI T

o T
I |I

Chip 3, Channel 13, Enable 4, Hold=35, ADC Residuals vs DAC |

=
ul

o

(6]

o

&

t

¢
.}i

¢
+++ +++é%%é éi

S
144 $ht

H
° )
I I| TTTT |I T I| FTTTT7TT

10000 20000 30000 40000 50000 60000 70000



Chip 3, Channel 13, Enable 5, Hold=35, ADC Mean vs DAC |

X° / ndf 271.9/23
po 46.49 + 0.6309

AR
{ ]

-100

-200

-300

-400

-500 L

pl -0.008129 * 1.989e-05

1 I 1 1 I 1 1
20000 30000 40000

o
[uny
o
o
o
o

Chip 3, Channel 13, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1 1 I 1
50000 60000

12

10

o
T | T

Chip 3, Channel 13, Enable 5, Hold=35, ADC Residuals vs DAC

$.20500009
é§++ ¢ +é+§

TT LJ;IJ 1 || TTTT || 1 ||
@
—@—
@
e

;

-15

X
'}%{»
¢
++{»

10000 20000 30000 40000

o

50000 60000



Chip 3, Channel 14, Enable 0, Hold=35, ADC Mean vs DAC | x° I ndf 38.54 /23

pO -42.64 +0.703
pl 0.002611+ 2.242e-05

140

120 °®
[

100
80
60
40

20

1 1 I 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

Chip 3, Channel 14, Enable 0, Hold=35, ADC Noise vs DAC

Chip 3, Channel 14, Enable 0, Hold=35, ADC Residuals vs DAC |

14

JEny
(@]

$*

—@—
o
o
—@—
-@H
—@—

§++++++§++++ 1

10000 20000 30000 40000 50000 60000 70000

o & K N o

N Do
© ||H|||”III“II|HI|IH|III||||W|
—@—




Chip 3, Channel 14, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf

— pO0
150 |— pl

54,52 /23
-47.54 + 0.7639
0.003098 * 2.252e-05

100

50

0

P Y Y

0 10000 20000 30000 40000 50000I

Chip 3, Channel 14, Enable 1, Hold=35, ADC Noise vs DAC

-
60000 70000

13

12

11

10

Chip 3, Channel 14, Enable 1, Hold=35, ADC Residuals vs DAC |

1 1 1 I
60000 70000

£

10

@+
—@—

31, '
é++§+§+++*

-10

_II |III I|III I|II II|I III’_I"_|

RN

i,

20000 30000 40000 50000

o
=
o
o
o
o

60000 70000




| Chip 3, Channel 14, Enable 2, Hold=35, ADC Mean vs DAC | X* / ndf 271.3/23
pO -23.75 + 0.8186
0 pl -0.00837 + 2.495e-05

-100

-200

-300

-400

-500

-600

1 1 I 1
50000 60000

1 I 1 1 I 1 1 I 1
20000 30000 40000

o
Juny
o
(@) =N
o
o

| Chip 3, Channel 14, Enable 2, Hold=35, ADC Noise vs DAC

13

12

11

10

©

| Chip 3, Channel 14, Enable 2, Hold=35, ADC Residuals vs DAC |

10

0% & __ o
Qégéé oo QQCQ

H|||||
@
H@H
@
H@H
@
@y
H@H
L ]
H@H

-10

-20

-30

-40

10000 20000 30000 40000 50000 60000 70000

o



Chip 3, Channel 14, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 34.72 /23

p0 -40 + 0.6961
p1 0.002806 * 2.151e-05

150

MY
eo®

[

100

50

1 1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

- 1 I 1 1 I 1 1 I 1 1 I 1 1 I
50O 10000 20000 30000 40000 70000

Chip 3, Channel 14, Enable 3, Hold=35, ADC Noise vs DAC

11

10

&
|IIII|IIII|III
—@—

o
[T

Chip 3, Channel 14, Enable 3, Hold=35, ADC Residuals vs DAC |

-
o1
||

. .'I'

© || TTT || T Iml T || il
—@—
—@—
—@—

=
o

o

'
(&)

10000 20000 30000 40000 50000 60000 70000




Chip 3, Channel 14, Enable 4!, Hold=35, ADC Mean vs DAC | X° / ndf

pO0

30000

25000

20000

15000

10000

5000

pl

1.055e+04 / 23
152.1+ 0.8584

0.4984 + 3.771e-05

ddhd

@

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 14, Enable 4!, Hold=35, ADC Noise vs DAC

1 I 1
60000

-
70000

[e]
o

~
o

D
o

]
o

N
o

w
o

N
o

JEny
o

o

o
|IIII|IIII|IIII| IIII|IIII|IIII|IIII|

1 I 1 1 I 1
10000 20000

Chip 3, Channel 14, Enable 4!, Hold=35, ADC Residuals vs DAC |

3

-500

-1000

-1500

-2000

— 000000000

o

10000 20000 30000 40000 50000

60

000

70000




Chip 3, Channel 14, Enable 5, Hold=35, ADC Mean vs DAC |

ﬁ

-100

-200

-300

-400

-500

x° I ndf
pO0
pl

240.5/23
-31.91+ 0.6913
-0.007986 * 2.202e-05

1 I 1 1 I 1 1
20000 30000 40000

o
[uny
o
o
o
o

Chip 3, Channel 14, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

12

10

[e] 0]
L ammm

D
I | T

o
[any
o
ol
o
o

Chip 3, Channel 14, Enable 5, Hold=35, ADC Residuals vs DAC

15

10

III|IIII|IIII|IIII|IIII|
-
@
-@-
@
@
@
@
-@-

-

-15

-20

10000 20000 30000 40000

o
I

50000




Chip 3, Channel 15, Enable 0, Hold=35, ADC Mean vs DAC

200

180

160

140

120

100

80

60

x° I ndf
pO0
pl

47.73123
14.97 +0.7373
0.002563 * 2.202e-05

[
Zdzgg'
1 1 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1
0 20000 30000 40000

Chip 3, Channel 15, Enable 0, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

©

¢4}

Chip 3, Channel 15, Enable 0, Hold=35, ADC Residuals vs DAC

=
6]

]Dl'll'l

FTITr
—@—

¢
ot

o
—@—

H'%

WRIT
EXAICLIOA

$

10000 20000 30000 40000

o

50000

60000 70000




Chip 3, Channel 15, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf

pO0

180

54 /23
10.92 + 0.7605
0.002727 *+ 2.352e-05

160

140

120

100

80

60

40

2

LA
.OQ

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 15, Enable 1, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12
11

1

0,
9
8
7
6
5
4
3

1 I 1
0 10000

Chip 3, Channel 15, Enable 1, Hold=35, ADC Residuals vs DAC |

10

R

§§+++++§ ¢ + +%
f ++§+§++ ¢

-10

&
T I| T T I| T T I| T T I|

+++++§

g
¢

10000 20000 30000 40000 50000

o

60000 70000




Chip 3, Channel 15, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

316.7 /23
35.05 £0.7839
-0.008673 * 2.445e-05

¥

-100

-200

-300

-400

-500

-600 L

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

o
Juny
o
(@) =N
o
o

Chip 3, Channel 15, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

13

12

11

10

Chip 3, Channel 15, Enable 2, Hold=35, ADC Residuals vs DAC |

10 Qjééi é
0%°° °

guquupl
@
@
@
L
g

@

-30

¢

-40

o
[T

10000 20000 30000 40000 50000 60000

70000



| Chip 3, Channel 15, Enable 3, Hold=35, ADC Mean vs DAC | X* / ndf 33.32/23
220 pO0 18+ 0.7354
pl 0.002759 * 2.143e-05

200
.'
eo®

180
| J

160
140
120
100
80
60

N
o

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 3, Channel 15, Enable 3, Hold=35, ADC Noise vs DAC

JEn
N

11

10

o

o
[

| Chip 3, Channel 15, Enable 3, Hold=35, ADC Residuals vs DAC |

IIO]OII

—@—

N

R
RRIRDREIES,

10000 20000 30000 40000 50000 60000 70000

o

N
I|III|III|III|III|

—@—
—@—

o



Chip 3, Channel 15, Enable 4, Hold=35, ADC Mean vs DAC

220
200
180
160
140
120
100

80

60

x° I ndf
pO0
pl

41.16/23
14.81+ 0.76
0.003009 * 2.381e-05

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 3, Channel 15, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

©

(o]

Chip 3, Channel 15, Enable 4, Hold=35, ADC Residuals vs DAC

=
ul

1

T |T)FH .

1
@

20000 30000 40000

o
=
o
o
o
o

50000

60000 70000




Chip 3, Channel 15, Enable 5!, Hold=35, ADC Mean vs DAC

30000

25000

20000

15000

10000

5000

x° I ndf
pO0
pl

4659/ 23
199 + 0.977

0.4547 + 4.031e-05

1 I 1 1 I 1
20000 30000

40

000

Chip 3, Channel 15, Enable 5!, Hold=35, ADC Noise vs DAC

1 I 1
50000

60

50

40

30

20

10

o

¢

¢

¢

t
+§§i

o

10

.
000

1 I 1
20000

Chip 3, Channel 15, Enable 5!, Hold=35, ADC Residuals vs DAC

-

100

o

-100

-200

-300

o
1 |I 1 I| 1 II| TTTT |I T I|

10

000

20000 30000

40

000

50000




| Chip 3, Channel 16, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 42.08 /23
pO 9.57 +0.6948
pl 0.002725 * 2.024e-05

200

v
180 o ®

160 o®
140
120
100

80

60

N
=
c>jj1i
[
- @

N
o

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 3, Channel 16, Enable 0, Hold=35, ADC Noise vs DAC

10

©

T

o1
|IIII|IIII TTTI

o
I

| Chip 3, Channel 16, Enable 0, Hold=35, ADC Residuals vs DAC |

10

.
%%§ §4%

o N
|||||||||||||||| |||||||||| I
—@—
—@—
—@—
—@—
@
—@—

20000 30000 40000 50000 60000 70000

o
=
o
o
o
o



| Chip 3, Channel 16, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 47.49 / 23
pO 5.25 + 0.7888
pl 0.002786 = 2.407e-05

180

oov0O
160 ‘.

140
120
100
80
60

40

20

J{II|III|III“II|III|III|HI|III|II

i

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

0

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

| Chip 3, Channel 16, Enable 1, Hold=35, ADC Noise vs DAC

11

10

1T IIIIIIII|IIII|III
®

| Chip 3, Channel 16, Enable 1, Hold=35, ADC Residuals vs DAC |

10

o

|II II| TTT I|I TTT ||1
— @
—o—
-
@
—®—
H@H
—@—
.
.
—0—
@
—@—
|_._|
e
o
——
—@—
re
-
-0~
—@—

N
o

10000 20000 30000 40000 50000 60000 70000

o
TTTT



| Chip 3, Channel 16, Enable 2!, Hold=35, ADC Mean vs DAC | X* / ndf 4169/ 23
_ po 185.5 + 1.092
30000 — pl 0.4668 + 5.115e-05
- L
— o ®
25000 —
20000 —
15000 —
10000 —
5000 —
(f_’ , 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

| Chip 3, Channel 16, Enable 2!, Hold=35, ADC Noise vs DAC

“ 't
zo R ST

'3

|IIII|IIII|IIII|IIII|I
—@—
—@—

10

000,%%, .4

°rr1@®

1 I 1 1 I 1
10000 20000

| Chip 3, Channel 16, Enable 2!, Hold=35, ADC Residuals vs DAC |

2oot

0O

-200
-400

-600

10000 20000 30000 40000 50000 60000 70000

-800

o



| Chip 3, Channel 16, Enable 3, Hold=35, ADC Mean vs DAC | X° I ndf 38.03/23
pl 0.002815 * 2.301e-05

200 o °®
180 PS o
160
140
120
100
80

60

202_‘ .
OO 1 1 1 1 1 1 1 1 1 1 1 I 1 1 1 1 1

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

-
70000

| Chip 3, Channel 16, Enable 3, Hold=35, ADC Noise vs DAC
12

11

10

TTTT HII|IIII|IIII

o
||H|||||W|||| ITT
—@—

o
[

| Chip 3, Channel 16, Enable 3, Hold=35, ADC Residuals vs DAC |

10

[ee]

T

N

N
I|III|III|I II|III|III'

#*H

10000 20000 30000 40000 50000 60000 70000

% i #%H + :

o



Chip 3, Channel 16, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

200

22.56 /23
10.92 + 0.6941
0.002887 * 2.132e-05

180
160 o
140
120
100
80
60
40

2 o

o' °®

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 16, Enable 4, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

11

10

U

o
II|IIII TTTTTTTTT I1II|II

o
Juny
o
Ol
o
o

Chip 3, Channel 16, Enable 4, Hold=35, ADC Residuals vs DAC |

10

A O

*% ++%+*+%

'
N

—@—
—@—
@
—@—
—@—
— @
——
o
—@—
—@—
—@—
—@—

i ;

|III|III|IH|IIITIIWIII|III]I

'
[ee]

ot
.

20000 30000 40000 50000

o
=
o
o
o
o

60000 70000




| Chip 3, Channel 16, Enable 5, Hold=35, ADC Mean vs DAC | X* / ndf 25.63/23
PO 10.03 + 0.7619
pl 2.46e-05 = 2.417e-05

18

16

14

.TI TT

JEny
o

[ee]

:
T m%‘iﬁ%%* 1

|IIITIIITIII|III|II
—@—
—@—

1 1 I 1
40000 50000

1 I 1 1 I 1
20000 30000

o
[uny
o
o
o
o

| Chip 3, Channel 16, Enable 5, Hold=35, ADC Noise vs DAC

12 =
11—
==

1 I 1 1 I 1 1 I 1 1 1 I 1 1 I 1
0 10000 20000 30000 40000 50000 60000

| Chip 3, Channel 16, Enable 5, Hold=35, ADC Residuals vs DAC |

8

6

’||||

.

o N
—@—

—@—
—@—

'
N

AN
III|III|III|III|III|WI

+ +% % %+++ ++

—@—
—@—
—@—

s

10000 20000 30000 40000 50000 60000

-10 1 1




| Chip 3, Channel 17, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 48.24 | 23
220 po -4.83 + 0.6968
pl 0.00313 + 2.116e-05

200
.'
X J
[

180
160
140
120
100
80
60
40

Q
@
- @

20

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

| Chip 3, Channel 17, Enable 0, Hold=35, ADC Noise vs DAC

12

11

10

| Chip 3, Channel 17, Enable 0, Hold=35, ADC Residuals vs DAC |

“|||IIWIII|IIWIIITHIOHIImH
—@—
—@—

10000 20000 30000 40000 50000 60000 70000

o
I



Chip 3, Channel 17, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf

180

160

140

120

100

80

60

40

20

3

pO0

pl

52.75123
-7.575+0.7296
0.002845 * 2.29e-05

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 3, Channel 17, Enable 1, Hold=35, ADC Noise vs DAC

11

10

1 I 1 1 I
60000 70000

-

0

1 I 1
10000

Chip 3, Channel 17, Enable 1, Hold=35, ADC Residuals vs DAC |

(&}

|II T |II T |II LJ‘LJ

-10

—@—
—@—

o
[

10000

20000 30000 40000 50000

60000 70000




| Chip 3, Channel 17, Enable 2, Hold=35, ADC Mean vs DAC | X~ / ndf 2.698e+05 /23
pO 9184+ 1.1
pl 0.0913 + 6.479e-05

8000

7000

6000

5000

4000

3000

2000

1000

®
e

1 I 1 1 1
20000

1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I
30000 40000 70000

| Chip 3, Channel 17, Enable 2, Hold=35, ADC Noise vs DAC
120 |—
100 |—
80 [— %%
60 — % + + % +
of é§+
= 6,0
OF, ’ , , , , . , 1 ? 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 3, Channel 17, Enable 2, Hold=35, ADC Residuals vs DAC |
2500 — [
- [
2000 F ®
- [ ¢
— [
1500 — ° o
1000g— °
—@® ° o
500 [— ® ® )
- [ o ®
- [ [
0— o [
= ®e °®
— oo0®
-500 —_I 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000



| Chip 3, Channel 17, Enable 3, Hold=35, ADC Mean vs DAC | X* / ndf 22.89/23
po 0.3063 +0.711
pl 0.002906 * 2.217e-05

200

180
o®®

160
140
120
100
80
60
40

20

-
10000 20000 30000 40000 50000 60000 70000

| Chip 3, Channel 17, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

©

e}

| Chip 3, Channel 17, Enable 3, Hold=35, ADC Residuals vs DAC |

14
12

!

10

?

8

£

4,

I

N

’
++++ +%+ +§+ %% +++++%

1 1 I 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

A

O-JI|IILILELE4I||||I[II




Chip 3, Channel 17, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

180

22.16/23
-3.953 £ 0.7102
0.002943 * 2.005e-05

160

140

120

100

80

60

40

20

O
@
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

o
Juny
o
(@) =N
o
o

Chip 3, Channel 17, Enable 4, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

10

o

I | T T I
—@—
—@—
—@—

—@—
—@—
—@—
—@—
—@—
—@—

o
Juny
o
Ol
o
o

Chip 3, Channel 17, Enable 4, Hold=35, ADC Residuals vs DAC |

||'|’<|D'||

[&)]

@
—@—
@
o
@
-9
—@—
@
@
—@—

N
o

10000 20000 30000 40000 50000

o
T

60000 70000




| Chip 3, Channel 17, Enable 5!, Hold=35, ADC Mean vs DAC | X* / ndf 1052 /23
pO 238.1+1.784
pl 0.4384 +0.0001708

v
25000 PS o L
20000
15000

10000

5000

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1
40000 50000

%
L
- ®

1 I 1 1 I 1 1 I 1
10000 20000 30000

| Chip 3, Channel 17, Enable 5!, Hold=35, ADC Noise vs DAC

180
160
140
120
100

80

44t %%§+§+%++$%

e

40

20

@
-@
@
@

0

o
[any
o
o
o
o
N
o
o
o
o

| Chip 3, Channel 17, Enable 5!, Hold=35, ADC Residuals vs DAC |

100

o

-100

-'-~”"§§**§§§+éé
*
§§§

-200

-300

| IIII|I III|IJ'II|II II|II
@

-400

10000 20000 30000 40000 50000 60000

o
[TT



Chip 4, Channel 0, Enable 0!, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

30000

25000

20000

15000

10000

5000

pl

4144123
467.1+1.023
0.4813 + 4.793e-05

o0°®”

o L
°

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 4, Channel 0, Enable 0!, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

50

40

30

20

LG S
§++ AP

ATYPYYAXY.

*

0

1 I 1
10000

Chip 4, Channel 0, Enable 0!, Hold=35, ADC Residuals vs DAC |

200

o

-200

-400

-600

-800

-1000

o
1

10000 20000 30000 40000 50000

60000 70000




Chip 4, Channel 0, Enable 1, Hold=35, ADC Mean vs DAC

x° I ndf
pO0
pl

41.51/23
286.2 £ 0.7926
0.003474 + 2.388e-05

500

450

400

350

v
o®
L

3oq1F.,||
0

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 4, Channel 0, Enable 1, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

13

12

11

10

©

e}

Chip 4, Channel 0, Enable 1, Hold=35, ADC Residuals vs DAC |

1

IlinflliirTTT%W
——
—@—

A N O

'
()]

© ||||||||||||||||IINIIIJ>
—@—

10000 20000 30000 40000

50000

60000

70000




| Chip 4, Channel 0, Enable 2, Hold=35, ADC Mean vs DAC | X* / ndf 45.33 /23
pO 287.7 + 0.8155
pl 0.002732 + 2.377e-05

460

eo®

440
420
400
380
360
340

320

300

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

| Chip 4, Channel 0, Enable 2, Hold=35, ADC Noise vs DAC

| Chip 4, Channel 0, Enable 2, Hold=35, ADC Residuals vs DAC |

6

T T
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—

A

-10

10000 20000 30000 40000 50000 60000 70000

o
I



x° I ndf
pO0
pl

| Chip 4, Channel 0, Enable 3, Hold=35, ADC Mean vs DAC |

34.04 /23
284.3 £0.7922
0.003485 *+ 2.481e-05

500

450

400

350

300

01_T1:|II 1 |II II| TTT I| TTT I|I 1

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

| Chip 4, Channel 0, Enable 3, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

13
12

11

10

| Chip 4, Channel 0, Enable 3, Hold=35, ADC Residuals vs DAC |

10

i3

6 —

+F

% +

++ i §+ %i

$*

+

+

'
]

10000 20000 30000 40000 50000

o
TTT

60000 70000




Chip 4, Channel 0, Enable 4, Hold=35, ADC Mean vs DAC

500

450

400

350

.LI 1T |I 1T |I T I| TTTT |
@

300

x° I ndf
pO0
pl

20.59/23
284.9 £0.7764
0.003127 = 2.419e-05

.0'
o0

O_’_l_’

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 4, Channel 0, Enable 4, Hold=35, ADC Noise vs DAC

12

50000

1 I 1 1 I
60000 70000

11

H
[{e) o
L 4n

II|IIII TTTT III1|IIII|

o
Juny
o
Ol
o
o

Chip 4, Channel 0, Enable 4, Hold=35, ADC Residuals vs DAC

10

8

ud

6

—@—
—@—

—@—
—@—
—@—
o
—@—
—@—
—@—
—@—

%

N
I|III|III|III|III|III|III|IWI

?

*$
SRt |

10000 20000 30000 40

o

000

50000

60000 70000




| Chip 4, Channel 0, Enable 5, Hold=35, ADC Mean vs DAC | X* / ndf 41.65/23
PO 281.9 £ 0.7895
pl 0.002971 + 2.239e-05

480

460
440
420
400
380
360
340
320

300

280 —

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1
40000 50000

ik

1 I 1 1 I 1 1 I 1
10000 20000 30000

| Chip 4, Channel 0, Enable 5, Hold=35, ADC Noise vs DAC

12

10

|||J|>’||o’|||oo
—@—
-0

o
[any
o
ol
o
o

| Chip 4, Channel 0, Enable 5, Hold=35, ADC Residuals vs DAC |

12
1OE

—@—

¢ %{%% }

LSRR +++**+§

10000 20000 30000 40000 50000 60000

—@—
—@—
—@—
—@—
—@—
—@—

O_JIII|III“II|III|III|IILIL‘£DIIT?I



| Chip 4, Channel 1, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 27.01/23
pO 230.3 + 0.8247
pl 0.003923 * 2.442e-05

500

450
400

350

300

250

‘JII II|I III| TTTT |IIII |IIII
L

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

%

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 1, Enable 0, Hold=35, ADC Noise vs DAC

13

12

11

10

| Chip 4, Channel 1, Enable 0, Hold=35, ADC Residuals vs DAC |

12

o

[ee]

A N O N

&

© ||||||H||||||||||||fﬁ||®||r“
—@—
—@—

10000 20000 30000 40000 50000 60000 70000




| Chip 4, Channel 1, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 28.88/23
pO 234.8 +0.741
pl 0.003834 * 2.307e-05

500

oV
o®

450 o

400
350

300

250

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

o_ .JII II|II II|I III|I III|II II|
[

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 1, Enable 1, Hold=35, ADC Noise vs DAC

11

©
L

e}

H
o
|WIII|IIII|IIIWIIII

’FIII

o
Juny
o
Ol
o
o

| Chip 4, Channel 1, Enable 1, Hold=35, ADC Residuals vs DAC |

TT 1@

[T
—@—

10000 20000 30000 40000 50000 60000 70000

o
[



Chip 4, Channel 1, Enable 2, Hold=35, ADC Mean vs DAC

420
400
380
360
340
320
300
280
260

x° I ndf
pO0
pl

56.05/23
236.4 £ 0.7664
0.002829 * 2.301e-05

ve
'Y 2

N
N
OTFQ
|

- @

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 4, Channel 1, Enable 2, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

12

11

10

©

Chip 4, Channel 1, Enable 2, Hold=35, ADC Residuals vs DAC

+++ *+ + *+i
(UL

-10

T T | TTTT | T Ijil.;j! I| T

hf 4yt

¢

¢
; {,H

-15 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ] 1
0 20000 30000 40000

50000

60000 70000



| Chip 4, Channel 1, Enable 3!, Hold=35, ADC Mean vs DAC | X/ ndf 4444 | 23
pO 425.9 +0.9689
- pl 0.4894 + 3.903e-05
30000 — ° M) (R J
- o
25000 —
20000 —
15000 —
10000 (—
5000 —
—a @
(’_, 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 4, Channel 1, Enable 3!, Hold=35, ADC Noise vs DAC

60
50
40

30

o 7

éié §Q§§§§§§+§

20

cé.

JEny
o

@
[ )

1 I 1 1 I 1
10000 20000

| Chip 4, Channel 1, Enable 3!, Hold=35, ADC Residuals vs DAC |

200

== 0000000000000
.... o ........
-200 ®

p|-|-[

[ J
-400

L
-600
-800

-1000

-1200

-1400

-1600 'Y

10000 20000 30000 40000 50000 60000 70000

-1800




Chip 4, Channel 1, Enable 4, Hold=35, ADC Mean vs DAC |

450

400

350

300

250

x° I ndf
pO0
pl

34.08/23
233.1+£0.779
0.00325 + 2.236e-05

o
|I T I|I T I|I T I|I T I|I

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 4, Channel 1, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

©

e}

Chip 4, Channel 1, Enable 4, Hold=35, ADC Residuals vs DAC

3

10000 20000 30000 40000

o

50000

60000 70000




Chip 4, Channel 1, Enable 5, Hold=35, ADC Mean vs DAC

440
420
400
380
360
340
320
300
280
260

NN
N b
o
o
s
- @

x° I ndf
pO0
pl

25.61/23
230.9 £ 0.7766

0.003038 * 2.429e-05

1 I 1
20000

1 I 1
30000

40

000

Chip 4, Channel 1, Enable 5, Hold=35, ADC Noise vs DAC

12

11

10

-
50000

Chip 4, Channel 1, Enable 5, Hold=35, ADC Residuals vs DAC

o

t

'
', y

4

¢

++*§+% +

%

* ¢

o

10000

20

000

30

000

40

000

50000

60

000




| Chip 4, Channel 2, Enable 0!, Hold=35, ADC Mean vs DAC | X* / ndf 8202 /23
pO 549 +0.9773
30000 |— pl 0.4993 + 4.471e-05
- PY LA
25000 (—
20000 (—
15000 —
10000 —
5000 —
e ° | | | | | | |
O 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 10000 20000 30000 40000 50000 60000 70000

| Chip 4, Channel 2, Enable 0!, Hold=35, ADC Noise vs DAC

% % + %+++++%++ %
1 ¢

bo,00000%% o6

1 I 1 1 1 1 1
0 10000

1 I 1
20000

| Chip 4, Channel 2, Enable 0!, Hold=35, ADC Residuals vs DAC |
500

0

00000000000000000000000,,,
-500
-1000
-1500
-2000
-2500

-3000
[

10000 20000 30000 40000 50000 60000 70000

llIII|IIII|IIII|IIII|IIII|IIII|IIII

-3500




| Chip 4, Channel 2, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 28.58/23
pO 373.7 + 0.8079
pl 0.003883 * 2.35e-05

eo®

600
o

550
500

450

400

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

o1
- @
- @

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 2, Enable 1, Hold=35, ADC Noise vs DAC

12

11

10

o
Juny
o
Ol
o
o

| Chip 4, Channel 2, Enable 1, Hold=35, ADC Residuals vs DAC |

N A OO @

LlLﬁLLLII|IIF“ Hﬁ%TT%}

o

11 ++%%; ++++%++++%§

A

it
! H%ﬂ

10000 20000 30000 40000 50000 60000 70000

co

O_IHITHII|III|III|I




| Chip 4, Channel 2, Enable 2, Hold=35, ADC Mean vs DAC |

X* I ndf 25.69/23

po 377.4 £0.7402

560
540
520
500
480
460
440

"3
360 1 1 1 ] 1 1 1 1 ] 1 1 1

pl 0.002928 * 2.232e-05

L A A J
(X J

20000

1 I 1
30000

-
40000 50000 60000 70000

| Chip 4, Channel 2, Enable 2, Hold=35, ADC Noise vs DAC

11

10

o
[

| Chip 4, Channel 2, Enable 2, Hold=35, ADC Residuals vs DAC |

1, %%**f K +§

-10

-15

J 1 |I TTT |I 1 I| 1 Il:i‘:!l I| 1

¢
%%§* +§+ +% ;

* s

20000

o

30000

40000 50000 60000



| Chip 4, Channel 2, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 19.47 /23
pO 374.4 +0.7292
pl 0.003356 + 2.354e-05

600

o®
550

500

450

400

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

Ty
- @

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 2, Enable 3, Hold=35, ADC Noise vs DAC
12

11

10

o

[ee]

~

»

N

oI_IIIITIIII IIIIWIII“

| Chip 4, Channel 2, Enable 3, Hold=35, ADC Residuals vs DAC |
12

10

8

II]III|III|

!
H# IR it e

10000 20000 30000 40000 50000 60000 70000

_III|III|III|III|III|III IIiﬁ
—@—
—@—
—@—
—@—
—@—

o



| Chip 4, Channel 2, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 26.66 /23
pO0 374.8 £ 0.6693
pl 0.003252 + 2.084e-05

600

550 o

500

450

400

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1@
- @
- @

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 2, Enable 4, Hold=35, ADC Noise vs DAC

12—
11
10E

9

8 —

EARESIRES

1 I 1 1 I 1 1 I 1
0 10000 20000 30000

| Chip 4, Channel 2, Enable 4, Hold=35, ADC Residuals vs DAC |

10
8
6'_

? $oy¢

¢
++++ ¢ %+%%+++++

1 I 1 1 1 1 I 1 1 1
10000 20000 30000

40000 50000 60000 70000

o
[



Chip 4, Channel 2, Enable 5, Hold=35, ADC Mean vs DAC | X~ / ndf

pO0
pl

580

44.48 | 23
373.7 £0.7088
0.003036 * 2.139e-05

560
540
520
500
480
460
440
420
400

380|(:—. ®
1 1 1 1 1 1 1 1 1 I 1 1 1 1
0

1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000

Chip 4, Channel 2, Enable 5, Hold=35, ADC Noise vs DAC

12

11

10

©

[ee]

Chip 4, Channel 2, Enable 5, Hold=35, ADC Residuals vs DAC |

3

4%

10000 20000 30000 40000 50000

o

60000




Chip 4, Channel 3, Enable 0, Hold=35, ADC Mean vs DAC |

550

500

450

400

350

x° I ndf
pO0
pl

55.38/23
323.2 £ 0.7504
0.003489 * 2.18e-05

dhe
°o®

@
- @

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 4, Channel 3, Enable 0, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

13

12

11

10

Chip 4, Channel 3, Enable 0, Hold=35, ADC Residuals vs DAC

JEny
o

I

I || T || T || 7T
—@—
—o—
@
—@—

e,
++ ¢

-10

I

%
¢

10000 20000 30000 40000

o

50000

60000 70000




| Chip 4, Channel 3, Enable 1!, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

30000

25000

20000

15000

10000

5000

pl

8260/ 23
501.9 £ 0.9366
0.4902 + 3.989e-05

o®"
°o®

®

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

| Chip 4, Channel 3, Enable 1!, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

40

35

30

25

20

15

10

*+++%++

4

| Chip 4, Channel 3, Enable 1!, Hold=35, ADC Residuals vs DAC |

200

Q|—|—|

0

-200

-400

-600

-800

-1000

-1200

-1400

o

10000 20000 30000 40000 50000

60000 70000




| Chip 4, Channel 3, Enable 2, Hold=35, ADC Mean vs DAC |

x° I ndf

520
500

pO0
pl

21.9/23
325 £ 0.7507
0.003002 * 2.265e-05

o%%e

480
460
440
420
400
380
360
340

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

o
Juny
o
(@) =N
o
o

Chip 4, Channel 3, Enable 2, Hold=35, ADC Noise vs DAC

-
70000

12

11

10

IIIII“III|HII|HII|HII

Chip 4, Channel 3, Enable 2, Hold=35, ADC Residuals vs DAC |

IR, ¢
P H«}H{»Hé*'}*”:m'}m M
‘

-10

-15

¢

-20

10000 20000 30000 40000 50000 60000

o

70000



Chip 4, Channel 3, Enable 3, Hold=35, ADC Mean vs DAC | X~ / ndf 20.76 / 23

p0 321.6 +0.7789
pl 0.003403 + 2.376€-05

550

L J
o"
°
500

450

400

350

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

°rr 1@
- @
- @

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

Chip 4, Channel 3, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

TTTT fIIIIIII|IIH|

o
HII|IIII“III|III

o
Juny
o
Ol
o
o

Chip 4, Channel 3, Enable 3, Hold=35, ADC Residuals vs DAC |

8

o

D
IIf|II

10000 20000 30000 40000 50000 60000 70000

o



Chip 4, Channel 3, Enable 4, Hold=35, ADC Mean vs DAC |

x° I ndf

550

500

450

400

350

e
- @

pO0

pl

38.42/23
321.9 £0.7595
0.003597 * 2.327e-05

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 4, Channel 3, Enable 4, Hold=35, ADC Noise vs DAC

11

10

1 I 1
60000

-
70000

|III1 1T

o
TTTT

Chip 4, Channel 3, Enable 4, Hold=35, ADC Residuals vs DAC |

AN O N A O ®

'
]

|III“II|HI|II”III“IIL!‘¢!I|1

++++++++

$ ot
if

:
ARRTE

P 4
H+

¢
+%

o
[

10000 20000 30000 40000 50000

60000

70000




| Chip 4, Channel 3, Enable 5, Hold=35, ADC Mean vs DAC | X* / ndf 39.31/23
pO 322.3+0.758
pl 0.003051 + 2.248e-05

520

500
o0

480
460
440
420
400
380
360

340

1 1 I 1
40000 50000

1 I 1 1 I 1
20000 30000

o
[uny
o
o
o
o

| Chip 4, Channel 3, Enable 5, Hold=35, ADC Noise vs DAC

12—

10 |—

8 —

| %

4l +
— 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
0 10000 20000 30000 40000 50000 60000

| Chip 4, Channel 3, Enable 5, Hold=35, ADC Residuals vs DAC |

TIII

o

SR

'
N

A

1 ¢

'
[e2)

co

OJ III|III |III|III IIIRnI IF’II
—@—
—@—

10000 20000 30000 40000 50000 60000




Chip 4, Channel 4, Enable 0, Hold=35, ADC Mean vs DAC

450

400

350

300

250

x° I ndf
pO0
pl

32.16/23
235+0.7981
0.003403 = 2.497e-05

ooV

ijj_q:‘ FTTT | TTTT | T TTT | 1T I|

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 4, Channel 4, Enable 0, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

12

11

10

©

Chip 4, Channel 4, Enable 0, Hold=35, ADC Residuals vs DAC

1:£§_
* ++;§§§+

-10

-15

|IIII |IIII| IIII|I III|II LQ*L

-20

§§§§é§+§++§§+§+§§

’
’

¢

10000 20000 30000 40

o
[

000

50000

60000

70000



| Chip 4, Channel 4, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 43.26 / 23
pO 234.4 +0.7691
pl 0.004003 * 2.391e-05

500

vw
o®
[ J
450

400
350

300

J'IIII| IIII|I III|II II|III I|I
L

250

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

™

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 4, Enable 1, Hold=35, ADC Noise vs DAC

11

10

oy I

o
I

| Chip 4, Channel 4, Enable 1, Hold=35, ADC Residuals vs DAC |

10

8

6

+
SRR

10000 20000 30000 40000 50000 60000 70000

§++ ++ ¢ ! %

_|||||| ||||||||| |||||||1 Ihhpl TTT |||||
—@—
—@—
—e—

o



| Chip 4, Channel 4, Enable 2, Hold=35, ADC Mean vs DAC | X* / ndf 28.38/23
pO 237.5 +0.801
pl 0.003227 = 2.341e-05

440

420 Y ov"%e
400
380
360
340
320
300
280

260

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

N N
N b
OF
°

[

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 4, Enable 2, Hold=35, ADC Noise vs DAC
12

11

10

©
TTT IIIIIIII|IIH|IIII|HII|IIII

| Chip 4, Channel 4, Enable 2, Hold=35, ADC Residuals vs DAC |

T

¢ ¢
§§é§++ ++§é§§§§+ +§§§+§§§§§§§
10 ¢

-15

¢

10000 20000 30000 40000 50000 60000 70000

-25

o
[



Chip 4, Channel 4, Enable 3, Hold=35, ADC Mean vs DAC

x° I ndf

24.84 123

— pO 236.3 + 0.7914
450 — pl 0.00313 + 2.435e-05
- o®
400 |— ®
350 | —
300 [—
250 —o o
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
Chip 4, Channel 4, Enable 3, Hold=35, ADC Noise vs DAC
1 1 1 I 1 1 1 1 I 1 1 1 1 I
50000 60000 70000
ol
2 — +
/N %
: 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000




Chip 4, Channel 4, Enable 4!, Hold=35, ADC Mean vs DAC

6961 /23

| 4

30000

25000

20000

15000

10000

5000

o LA

402 + 0.9307
0.4993 + 4.607e-05

o°®

@

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 1
50000

1 I 1 1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 60000 70000

Chip 4, Channel 4, Enable 4!, Hold=35, ADC Noise vs DAC

50

40

30

20

[y
o

1 f
} %§%ii%++ ,

e

Chip 4, Channel 4, Enable 4!, Hold=35, ADC Residuals vs DAC |

¢

0
-500
-1000

-1500

-2000

o

10000 20000 30000 40000 50000 60000 70000



| Chip 4, Channel 4, Enable 5, Hold=35, ADC Mean vs DAC

450

400

350

300

.L T TTT | T I| T I| 1T
®

250

x° I ndf
pO0
pl

16.09/ 23
234.3+0.7112
0.003182 * 2.275e-05

S U
o"

i

1 I 1 1 I 1 1
20000 30000 40

000

| Chip 4, Channel 4, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

12

11

10

©

[ee]

F UG -
—@—
—@—

| Chip 4, Channel 4, Enable 5, Hold=35, ADC Residuals vs DAC

10

; 11 4

10000 20000 30000 40

o

000

50000




Chip 4, Channel 5, Enable 0, Hold=35, ADC Mean vs DAC

x° I ndf

500

450

400

350

300

pl

PN, L A A

18/23
278.2 £0.7593
0.003501 + 2.303e-05

°rré
- @

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 4, Channel 5, Enable 0, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

12

11

10

©

e}

Chip 4, Channel 5, Enable 0, Hold=35, ADC Residuals vs DAC

Laan

s .
o &

KN
(6)]

Ny
=

R

*¢

$geees §§+§§++é+ %+*

’

CD_| TTT I| TTTT |I TTT |I IIF_I;_J

20000

30000

40000

50000

60000



Chip 4, Channel 5, Enable 1!, Hold=35, ADC Mean vs DAC | X~ / ndf

pO0
pl

9675/ 23
469.1+ 0.8692
0.5038 + 3.91e-05

30000

o®
25000
20000
15000

10000

5000

[ A A

.

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 4, Channel 5, Enable 1!, Hold=35, ADC Noise vs DAC

1 I 1
60000

-
70000

40
35
30
25
20
15

++ +%+}++

¢

¢4,

10

P‘I.’IJIIII|IIII|IIII|IIII|IIII|IIII|II

Chip 4, Channel 5, Enable 1!, Hold=35, ADC Residuals vs DAC |

]’h

-500

-1000

-1500

-2000

10000 20 30 40000 50000 60

o

000 000 000

70000



Chip 4, Channel 5, Enable 2, Hold=35, ADC Mean vs DAC | X~ / ndf 24.78/ 23

PO 281.7 + 0.7696
pl 0.003281 + 2.266€-05

480

o%%eo
460 o0

440
420
400
380
360
340
320

300
o®
28

1 I 1 1 1 1 I 1
50000 60000

1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1
0 10000 20000 30000 40000

-
70000

Chip 4, Channel 5, Enable 2, Hold=35, ADC Noise vs DAC

12

H
o
| T | T

§rr

| T T T
—@—
—@—
—@—
—@—
—@—

4
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
Chip 4, Channel 5, Enable 2, Hold=35, ADC Residuals vs DAC |
5— *
% ¢ o ¢ 0.¢ boté
0
=9 00074 a%gg d p0eetel e
5 qi ‘P ii
wf ¢
-15 —
20 — *
: 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000



x° I ndf
pO0
pl

| Chip 4, Channel 5, Enable 3, Hold=35, ADC Mean vs DAC |

35.91/23
278.4 £0.7953
0.00346 + 2.515e-05

500

450

400

350

300

T
- @
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

| Chip 4, Channel 5, Enable 3, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

11

10

©

[ee]

| Chip 4, Channel 5, Enable 3, Hold=35, ADC Residuals vs DAC |

+

A

10000 20000 30000 40000 50000

o
TTT

60000 70000




| Chip 4, Channel 5, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 39.58/23
PO 278.8 £ 0.8026
— pl 0.003333 + 2.325e-05
500 — v
~ ) ®
— o
450 |—
400 —
350 |—
300 [—
ol
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 4, Channel 5, Enable 4, Hold=35, ADC Noise vs DAC
1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

| Chip 4, Channel 5, Enable 4, Hold=35, ADC Residuals vs DAC |

8
6
4t

10000 20000 30000 40000 50000 60000 70000

o
[



Chip 4, Channel 5, Enable 5, Hold=35, ADC Mean vs DAC

480
460
440
420
400
380
360
340
320
300
28

x° I ndf
pO0
pl

35.77123
276.2 £0.7263

0.003224 + 2.197e-05

ov

[
0

1 I 1
10000

1 I 1
20000

1 I 1
30000

40

000

Chip 4, Channel 5, Enable 5, Hold=35, ADC Noise vs DAC

1

1

0
9
8
7
6
5
4
3

12
1

-
50000

1 I 1
60000

!

t

1 1 1 1 I 1
0 10000

1 I 1
20000

1 I 1
30000

Chip 4, Channel 5, Enable 5, Hold=35, ADC Residuals vs DAC

8

D

T

!

s

?

o

10

000

20

000

30

000

40

000

50000

60000




Chip 4, Channel 6, Enable 0, Hold=35, ADC Mean vs DAC

500

450

400

350

300

°r‘r1:1| 1T |I T |I 1T |I 1 I|

x° I ndf
pO0
pl

33.31/23
286 +£0.7247

0.003442 + 2.216e-05

Y ) L A X ]

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 4, Channel 6, Enable 0, Hold=35, ADC Noise vs DAC

14

12

JEny
o

D

N

°_| B l_l|LJHI

ﬂTI T

50000

1 I 1
60000

-
70000

+

; 0

+

Chip 4, Channel 6, Enable 0, Hold=35, ADC Residuals vs DAC

-10

-15

-20

-25

10
SE

1 I 1
50000

1 I 1
60000

-
70000

I
H@H

H@H
@

§§§§§§+éé§§

¢
$é§§+é§§§ $240

*

¢

¢

o
[

10000 20000 30

000

40

000

50000

60

000

70000




Chip 4, Channel 6, Enable 1, Hold=35, ADC Mean vs DAC

500

450

400

350

300

x° I ndf
pO0
pl

33.9/23
286.6 £ 0.8372
0.003536 * 2.514e-05

oV
]
..

o[‘rla TTTT |II 1 |I TTT |I 1 I|I 1
[ L

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 4, Channel 6, Enable 1, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

13
12

11

10

~

—@—

I

;r

10000 20000 30000 40

o
TTT

000

50000

60000 70000




Chip 4, Channel 6, Enable 2!, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

30000

25000

20000

15000

10000

5000

pl

7886 /23
458.2 £ 0.9205
0.507 * 4.405e-05

[ A A4
°o®

R

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 4, Channel 6, Enable 2!, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

40

35

30

25

20

15

10

@
@
@
@
@
@
H@H
H@H
H@H
H@H
H@H

!
SR

Chip 4, Channel 6, Enable 2!, Hold=35, ADC Residuals vs DAC

o

-500

-1000

-1500

-2000

-2500 T R R N

10000 20000 30000 40000

o

50000

60000 70000



Chip 4, Channel 6, Enable 3, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

500

450

400

350

pl

49.46/ 23
284.9 £ 0.7998
0.003075 * 2.329e-05

3001€.'
1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ] 1 1 1
0

20000 30000

1 I 1
40000

Chip 4, Channel 6, Enable 3, Hold=35, ADC Noise vs DAC

50000

-
60000 70000

12

11

10

e}

&

[«

o
Juny
o
Ol
o
o

Chip 4, Channel 6, Enable 3, Hold=35, ADC Residuals vs DAC

12
E

—@—

%
# ﬁ

¢

%
% ¢

o
|III|III|III|III|III 11 IIIW

+
++%+++%

20000

o
I

30000 40000

50000

60000 70000




Chip 4, Channel 6, Enable 4, Hold=35, ADC Mean vs DAC | X~ / ndf 30.8/23
p0 284.7 £ 0.7176
500 pl 0.003247 + 2.235e-05
- L J
i ° [ X J
— o
450 —
400 [—
350 | —
300E. o
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 4, Channel 6, Enable 4, Hold=35, ADC Noise vs DAC

12

10

T

III|IIITIII
—@—
—@—
—@—

“ ¢
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
Chip 4, Channel 6, Enable 4, Hold=35, ADC Residuals vs DAC |

10 —
6
£ ¢
toptett te
2 * %
i3 $

: 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I

0 10000 20000 30000 40000 50000 60000 70000



Chip 4, Channel 6, Enable 5, Hold=35, ADC Mean vs DAC

500

450

400

350

300

x° I ndf
pO0
pl

33.95/23
284.1+0.7974
0.003446 * 2.526e-05

of_Tq:l 1T I| TTTT |I 1T | TTTT | T
[

1 I 1 1 I 1 1
20000 30000 40

000

Chip 4, Channel 6, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

12

11

10

©
ITTTTTITI

Chip 4, Channel 6, Enable 5, Hold=35, ADC Residuals vs DAC

10
8
6 |-

4t

|||||||||||||||||||||
—@—

10000 20000 30000 40

o

000

50000

60000




Chip 4, Channel 7, Enable 0, Hold=35, ADC Mean vs DAC

550

500

450

400

350

x° I ndf
pO0

25.01/23
352.6 £0.7775

0.003433 = 2.281e-05

..._'Q

c’:1‘1:‘ m

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 4, Channel 7, Enable 0, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

13

12

11

10

TTTTTT IIII|IIII|IIII|IIII|IIII|

Chip 4, Channel 7, Enable 0, Hold=35, ADC Residuals vs DAC

o

¢

o

'
&)

KN
o

KN
(6)]

[N
o

N
o1

§+§§§§§§§§§§§§§§§§§§§§§§§+é
¢

¢

O_JIIII|IIII|IIII|IIII|IIII|IIIII}‘J

10000 20000 30000 40

000

50000

60

000

70000




Chip 4, Channel 7, Enable 1, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

550

500

450

400

pl

31.01/23
354.5 £ 0.7857
0.003375 * 2.507e-05

o"ﬂ

1 I 1 1 I 1
20000 30000

o
Juny
o
(@) =N
o
o

1 I 1
40000

Chip 4, Channel 7, Enable 1, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

13
12
11

1

0
9
8
7
6
5
4

1 1 1 1 I 1
0 10000

Chip 4, Channel 7, Enable 1, Hold=35, ADC Residuals vs DAC

14

12

=

oo & A N O N A O ®

++% %+

?

RIR

%

%
it *%g

O_JHI|III|IH|III|II”III|IILU‘;11I

20

000

30

000

40

000

50

000

60

000

70

000



Chip 4, Channel 7, Enable 2, Hold=35, ADC Mean vs DAC |

x° I ndf

550

500

450

400

pO0

pl

2223
356.7 £0.7974
0.003195 * 2.358e-05

)
00.

) ©
350
0

1 I 1
10000

1 I 1
20000

1 I 1
30000

1 I 1
40000

50

000

1 I 1
60000

Chip 4, Channel 7, Enable 2, Hold=35, ADC Noise vs DAC

-
70000

12

11

10

©

Chip 4, Channel 7, Enable 2, Hold=35, ADC Residuals vs DAC |

.

s .
o & o

KN
(6)]

CD_I TTT |I TTT |I I I|I 1 I|I LJ.‘]T

é
+§+++§§+§é++++ §§§+*+éé§é+§§

t

¢

¢

10000 20000 30000 40000 50000

60000 70000



| Chip 4, Channel 7, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 36.98/23
pO 356 + 0.7469

pl 0.002996 * 2.233e-05

550 [ J
L o®
— o

450

500 —

400

X
ss0)—
0

1 1 I 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I 1 1 I
10000 20000 30000 40000 70000

| Chip 4, Channel 7, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

| Chip 4, Channel 7, Enable 3, Hold=35, ADC Residuals vs DAC |

|||| ITT ||| ITnl ||| ||| [TT
—@—

10000 20000 30000 40000 50000 60000 70000

o



Chip 4, Channel 7, Enable 4, Hold=35, ADC Mean vs DAC

550

500

450

400

x° I ndf
pO0
pl

23.73 123
355.7 £0.7613
0.003002 = 2.421e-05

o"

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 4, Channel 7, Enable 4, Hold=35, ADC Noise vs DAC

50000

60

. -
000 70000

11

10

~

(o))

(&)

N

© HII“III“IIIPIIII

Chip 4, Channel 7, Enable 4, Hold=35, ADC Residuals vs DAC

[ee]

.

»

N ooON

A

'
]

o_||H|III|III|III|LLLELLL“II|

20000 30000 40

000

50000

60

000 70000




Chip 4, Channel 7, Enable 5!, Hold=35, ADC Mean vs DAC | X~ / ndf

30000

25000

20000

15000

10000

5000

oo.m
-@

pO0

6546 / 23
533.1+1.058

0.5133 + 4.624e-05

.Q"

1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000

Chip 4, Channel 7, Enable 5!, Hold=35, ADC Noise vs DAC

40

35

30

25

20

15

10

L 4

o

Chip 4, Channel 7, Enable 5!, Hold=35, ADC Residuals vs DAC |

20
0
-200
-400
-600
-800
-1000
-1200
-1400
-1600
-1800

f

o
[

10000 20000 30000 40000 50000




Chip 4, Channel 8, Enable 0, Hold=35, ADC Mean vs DAC |

x° I ndf

450

400

350

300

[ X dld

34.371/23
243.9 £ 0.7493
0.003542 + 2.176e-05

1 I 1 1 I 1 1 I 1 1 1
20000 30000 40000 50000 60

Chip 4, Channel 8, Enable 0, Hold=35, ADC Noise vs DAC

12

. -
000 70000

11

10

©

(o]

Chip 4, Channel 8, Enable 0, Hold=35, ADC Residuals vs DAC |

- : =
o & o o
IIII|III'

N
(651

N
o

OJ IIII|IIII|IIII|IIII|

e $
¢ §+§§++§§§§éé *§§§+§9§§§§+

*

’

10

000

20

000

30

000

40

000

50

000

60

000

70

000



| Chip 4, Channel 8, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 53.59/23
pO 245.2 +0.7046
L pl 0.003439 * 2.229e-05
450 |— 0® b
— o
400 [—
350 [—
300 —
250%‘ ®
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 4, Channel 8, Enable 1, Hold=35, ADC Noise vs DAC

12

11

10

II|IIII|IIII|IIII TTTTTT
—@—
—@—

4
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 4, Channel 8, Enable 1, Hold=35, ADC Residuals vs DAC |
8
(3 . %
=
2B +
= + + % % %
41— % %
6 :_
i | 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000



Chip 4, Channel 8, Enable 2!, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

30000

25000

20000

15000

10000

5000

pl

9920/ 23
441.8 £1.019
0.5206 + 4.429e-05

[ X A A

*

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 4, Channel 8, Enable 2!, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

40
35
30
25
20

15

¢

10

(il

§§§§9§§.9§§§5§

! %‘H 4

1 I 1 1 I 1 1 I 1
10000 20000 30000

o

Chip 4, Channel 8, Enable 2!, Hold=35, ADC Residuals vs DAC

-500

-1000

-1500

-2000

-2500

-3000

10000 20000 30000 40000

o

50000

60000 70000



Chip 4, Channel 8, Enable 3, Hold=35, ADC Mean vs DAC |

pO0

450

400

350

300

pl

x° I ndf

29.22 /23
243.1+£0.7253
0.003077 = 2.194e-05

250%—. ®
0

1 1 1 I 1 1 1 1 I 1 1 1 1 I 1
20000 30000 40000

Chip 4, Channel 8, Enable 3, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

10

e

o
[ 1

Chip 4, Channel 8, Enable 3, Hold=35, ADC Residuals vs DAC

12
8

L,
%#%{'

0

10000 20000 30000 40000

o

50000

60000 70000




Chip 4, Channel 8, Enable 4, Hold=35, ADC Mean vs DAC |

x° I ndf

2429123

p0o 243.4 +0.7837
L pl 0.003243 + 2.349e-05
450 [— ov
- o®
— [
400 [—
350 —
300 [—
g0
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 4, Channel 8, Enable 4, Hold=35, ADC Noise vs DAC
12
11
10
1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 4, Channel 8, Enable 4, Hold=35, ADC Residuals vs DAC |
-6 __I 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000




Chip 4, Channel 8, Enable 5, Hold=35, ADC Mean vs DAC

450

400

350

300

x° I ndf

pO0
pl

18.01/23
240.3 £ 0.8358
0.003188 * 2.484e-05

250%—.
0

1 I 1
20000

1 I 1
30000

40

000

Chip 4, Channel 8, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

13

12

11

10

©

(o]

~

Chip 4, Channel 8, Enable 5, Hold=35, ADC Residuals vs DAC

12

e}

N o N

A

'
»

—@—

§+ t +}7t ++ ;

o s~ o
III|III|III|III|III 1T II1|

10

000

20

000

30

000

40

000

50

000




Chip 4, Channel 9, Enable 0!, Hold=35, ADC Mean vs DAC

30000

25000

20000

15000

10000

5000

S

@
- @

x° I ndf
pO0
pl

4893 /23
473.5 +£1.064

0.4739 + 4.112e-05

[ g

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 4, Channel 9, Enable 0!, Hold=35, ADC Noise vs DAC

45

40

35

30

25

20

15

10

5

50000

1 I 1
60000

-
70000

L

oo0

0

1 I 1
10000

Chip 4, Channel 9, Enable 0!, Hold=35, ADC Residuals vs DAC

202‘;—

0

-200

-400

-600

-800

o
[

10000

20

000

30

000

40

000

50000

60

000

70000




Chip 4, Channel 9, Enable 1, Hold=35, ADC Mean vs DAC | X~ / ndf 29.7/23
p0 281.1+0.7902
~ pl 0.003483 + 2.276e-05
500 — oV
- o®®
450 [—
400 |—
350 [—
3009 @
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 4, Channel 9, Enable 1, Hold=35, ADC Noise vs DAC

14

12

JEny
o

T

I || I TI I
—@—
—@—
—@—

—@—

o
Juny
o
Ol
o
o

Chip 4, Channel 9, Enable 1, Hold=35, ADC Residuals vs DAC |

12

10

JURERIRE AL
IREULR %+% % :

10000 20000 30000 40000 50000 60000 70000

||||||||||||||IIT1II|III|III
—@—

o
[



Chip 4, Channel 9, Enable 2, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

pl

13.91/23
284.3 £ 0.8135
0.002313 = 2.578e-05

420 ° "|' °

400 L
380
360
340
320

300

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

o
Juny
o
(@) =N
o
o

Chip 4, Channel 9, Enable 2, Hold=35, ADC Noise vs DAC

-
70000

12

| T le ﬂ” “’1 1 C>I 1 | I

N

o
1

Chip 4, Channel 9, Enable 2, Hold=35, ADC Residuals vs DAC |

.
oF §éééé§§§Q§§§é§§§§§§§éééé§§é§§

-5

-10

¢
¢

-15

-20

-25

-30

10000 20000 30000 40000 50000 60000

o

70000




Chip 4, Channel 9, Enable 3, Hold=35, ADC Mean vs DAC |

X* I ndf 20.66 /23

p0o 279.6 £ 0.8217

pl 0.003447 = 2.418e-05

500 v
eo®
o
o
450

400

350

300

.JI T I|I T I|I T |II II| 1
L

O]_r’

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

Chip 4, Channel 9, Enable 3, Hold=35, ADC Noise vs DAC

-
70000

12

11

10

©

Chip 4, Channel 9, Enable 3, Hold=35, ADC Residuals vs DAC |

-
¢

1

T T’I N

o1
I
—@—
—@—

!

o
I | 1T |I T I|

2 **ﬂHHHH##*”H#“

10000 20000 30000 40000 50000 60000

o

70000




Chip 4, Channel 9, Enable 4, Hold=35, ADC Mean vs DAC | X~ / ndf

pO0
pl

27.93/23
279.4 +0.7571
0.003061 + 2.408e-05

480
460
440
420
400
380
360
340
320
300

o

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

Chip 4, Channel 9, Enable 4, Hold=35, ADC Noise vs DAC

12

-
70000

11

10

Chip 4, Channel 9, Enable 4, Hold=35, ADC Residuals vs DAC |

=
ul

JEny
o

L Am

T I'I|

t

’
%§+;+*+++++§++§%% ¢ +++++*%+%

o

10000 20000 30000 40000 50000 60000

70000




Chip 4, Channel 9, Enable 5, Hold=35, ADC Mean vs DAC

460

440

420

400

380

360

340

320

300

280 —

x° I ndf
pO0
pl

13.53/23
278.8 £0.8613

0.002693 * 2.504e-05

e

1 I 1
20000

1 I 1
30000

40

000

Chip 4, Channel 9, Enable 5, Hold=35, ADC Noise vs DAC

-
50000

Chip 4, Channel 9, Enable 5, Hold=35, ADC Residuals vs DAC

14
10

8

N
III|III|III|III|III|II I|III III|1I

?

: +§++§+ ! i

%

++f+%+

?

o

20000

30

000

40

000

50000

60

000




Chip 4, Channel 10, Enable 0, Hold=35, ADC Mean vs DAC | X~ / ndf

pO0

350

300

250

200

150

pl

25.43/23
119.8 + 0.8045
0.003585 * 2.386e-05

o00®%”

@
- @

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 4, Channel 10, Enable 0, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

JEny
o

PTlll

o
I| T

Chip 4, Channel 10, Enable 0, Hold=35, ADC Residuals vs DAC |

o o 5
|' |Q|'||

'
)]

KN
o

KN
(6)]

?

¢

§++§+§+é+§+$+é+§§++++++++%

¥
¢

O_JI T T |I 1 I| TTTT | I'_I_‘I.)_I_|

10000 20000 30000 40000 50000

60000 70000




Chip 4, Channel 10, Enable 1, Hold=35, ADC Mean vs DAC | X~ / ndf

44.83 /23

pO 122.5 +0.7277
350 __ pl 0.003482 + 2.32e-05
— LA
| ".D
— o
300 |—
250 | —
200 |—
150 —
go°
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
Chip 4, Channel 10, Enable 1, Hold=35, ADC Noise vs DAC
7y
10 [—
g —
Qo
I
a4l +
— 1 1 1 I 1 1 1 1 I 1 1 1 I 1 1 1 1 I 1 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 4, Channel 10, Enable 1, Hold=35, ADC Residuals vs DAC |

e
%N

A O

LTI + f

AN o

'
[«

'
[ee)

%

++ 1 %++ %++ + }

¢

© III|III|III|III|IIINIII II|III|III

10000 20000 30000 40000 50000

60000 70000




Chip 4, Channel 10, Enable 2, Hold=35, ADC Mean vs DAC

180

170 [—
160 —
150

140

130

x° I ndf

43.52 /23
127.5 +0.7835
0.0008336 * 2.43e-05

.QQ
®

lZOEA I I
0

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 4, Channel 10, Enable 2, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

©

[e4)

-10

-15

-20

-25

-30

¢

10000 20000 30000 40000

o
[

50000

60000 70000




| Chip 4, Channel 10, Enable 3!, Hold=35, ADC Mean vs DAC | X° / ndf 4111/ 23
_ po 291.1+ 1.007
~ pl 0.4837 + 4.402e-05

30000 — ov
— Y [ ) o
25000 —
20000 —
15000 —
10000 —
5000 —
o @
('_. 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 4, Channel 10, Enable 3!, Hold=35, ADC Noise vs DAC

45
40
35

30

: %§§ S

) b b, L TR .

KT I ¢

-
0 10000 20000 30000 40000 50000 60000 70000

| Chip 4, Channel 10, Enable 3!, Hold=35, ADC Residuals vs DAC |

200

o

-200

-400

-600

-800

-1000

20000 30000 40000 50000 60000 70000

o
=
o
o
o
o



x° I ndf
pO0
pl

| Chip 4, Channel 10, Enable 4, Hold=35, ADC Mean vs DAC |

320

20.27 /23
120.4 + 0.823
0.002898 * 2.49e-05

300
280
260
240
220
200
180
160

140

120 |

e

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

| Chip 4, Channel 10, Enable 4, Hold=35, ADC Noise vs DAC
14

1 I 1 1 I
60000 70000

12

® 5
T ®

| Chip 4, Channel 10, Enable 4, Hold=35, ADC Residuals vs DAC |
14

12
1

N A~ OO

+
8 ﬁﬂ*#%ﬂﬁ My

® & K N o

¢
+%H ¢

10000 20000 30000 40000 50000

o

60000 70000




| Chip 4, Channel 10, Enable 5, Hold=35, ADC Mean vs DAC | X* / ndf 30.62/23
p0o 120 + 0.8421
- pl 0.001381 + 2.451e-05
- . [ ]
200 |— °o®
180 | — ()
160 [— Y
- (4
140 |—
Y,
o
120 | | | | | |
0 10000 20000 30000 40000 50000 60000
| Chip 4, Channel 10, Enable 5, Hold=35, ADC Noise vs DAC
1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
10000 20000 30000 40000 50000 60000

| Chip 4, Channel 10, Enable 5, Hold=35, ADC Residuals vs DAC |

bt L et e
AR ++

10000 20000 30000 40000 50000 60000

o



Chip 4, Channel 11, Enable 0!, Hold=35, ADC Mean vs DAC | | x°/ndf

pO0
pl

5840/ 23
550.4 +1.025

0.488 + 3.94e-05

30000 oV
eo®

o

25000

20000

15000

10000

5000

®

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

Chip 4, Channel 11, Enable 0!, Hold=35, ADC Noise vs DAC

-
70000

50

40

30

20

.
S
o

@

Chip 4, Channel 11, Enable 0!, Hold=35, ADC Residuals vs DAC |

200

ﬂrrT

0 o0 o o0 o000 o000 [ X (Y ) Y .".
[

-200
-400
-600
-800

-1000

-1200

lIII| III|III|III| III|III|&JI|

-1400

10000 20000 30000 40000 50000 60000

70000




Chip 4, Channel 11, Enable 1, Hold=35, ADC Mean vs DAC | X~ / ndf

pO0
pl

600

19.94 /23
350 £0.8171

0.00364 + 2.402e-05

550

500

450

400

oV
]
..

(o8]
al
(@)
o
- '@

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 4, Channel 11, Enable 1, Hold=35, ADC Noise vs DAC

1 I 1
60000

-
70000

12

.O

e}

N

°_|||:L||'|||

Chip 4, Channel 11, Enable 1, Hold=35, ADC Residuals vs DAC |

o

'
N

++§++++++

A

'
»

'
+

o .
TTT |III |III |III |III |III

10000 20000 30000 40000 50000

60000

70000




Chip 4, Channel 11, Enable 2, Hold=35, ADC Mean vs DAC

| x° I ndf

pO0

3

300

250

200

150

pl

70.53/23
360.7 £ 0.7532
-0.002665 * 2.327e-05

1 I 1 1 I 1
20000 30000

o
Juny
o
(@) =N
o
o

1 I 1
40000

50000

Chip 4, Channel 11, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1
60000

12

11

10

©

[ee]

Chip 4, Channel 11, Enable 2, Hold=35, ADC Residuals vs DAC |

10

¢

o

¢ _9%,40
RITTX. o 0000,

5
O

-20

@
o

éé@ééé
§§§§§Q

®

¢

10000 20000 30000

o
TTTT

40000

50000

60000 70000




Chip 4, Channel 11, Enable 3, Hold=35, ADC Mean vs DAC | X~ / ndf 28.04 /23
po 350.1+ 0.7702
— pl 0.003088 + 2.33e-05
— v
L o
500 |—
450 —
400 [—
o X )
350,‘7—
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
Chip 4, Channel 11, Enable 3, Hold=35, ADC Noise vs DAC
o
1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

Chip 4, Channel 11, Enable 3, Hold=35, ADC Residuals vs DAC |

12

w :
{99
+++++ +++%%

A O

ot %++ s

10000 20000 30000 40000 50000 60000 70000

o & A N o

<) .
IH|IIWIII“II|HI|IH|IIWII




| Chip 4, Channel 11, Enable 4, Hold=35, ADC Mean vs DAC | X/ ndf 29.77123
pO0 350.1+ 0.6986
550 s pl 0.003024 + 2.183e-05
i (X J v
N o®
500 |—
450 | —
400 |—
=@
350% | | | | | | |
0 10000 20000 30000 40000 50000 60000 70000
| Chip 4, Channel 11, Enable 4, Hold=35, ADC Noise vs DAC
1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

Chip 4, Channel 11, Enable 4, Hold=35, ADC Residuals vs DAC |

A~ O

ﬁ%ﬂ

—@—
—@—

t
%§+ ¢ +++ 744

10000 20000 30000 40000 50000 60000 70000

'
N

o
|||||||||||||||||||| ITI1 IIIIII
—@—
—@—
—@—
o
—@—
-

'
]

o



| Chip 4, Channel 11, Enable 5, Hold=35, ADC Mean vs DAC | X° / ndf 33.24/23
pO 352.7 + 0.79
3605. pl -0.001986 + 2.344e-05

340

320

300

280

260

240

220

1 1 I 1
40000 50000

1 I 1 1 I 1
20000 30000

o
I

| Chip 4, Channel 11, Enable 5, Hold=35, ADC Noise vs DAC

14 =
12 |—
10 |—
8 -
[ B
6
B 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 Al
0 10000 20000 30000 40000 50000 60000

| Chip 4, Channel 11, Enable 5, Hold=35, ADC Residuals vs DAC |

i
II] ITTTT II|II

—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—

4

10000 20000 30000 40000 50000 60000

-10

o



Chip 4, Channel 12, Enable 0, Hold=35, ADC Mean vs DAC |

420

400

380

360

340

320

300

280

x° I ndf
pO0
pl

21.47123
251.8+0.7701
0.002562 * 2.347e-05

000®"

N

D

o rrf
l

20000 30000 40000

Chip 4, Channel 12, Enable 0, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

12

11

10

©

00

Chip 4, Channel 12, Enable 0, Hold=35, ADC Residuals vs DAC

10

o

|II 1 |II II| IIF_‘ILLI
@

KN
o

+++§+§§§+++++§ +§+ %+§+§+ %

20000 30000 40000

o
[TTT

.

o

S

S

3

50000




| Chip 4, Channel 12, Enable 1!, Hold=35, ADC Mean vs DAC | X° I ndf 5517/ 23
— po 438.8 + 0.9542
— pl 0.4844 + 4.209e-05
30000 — o® PY g
25000 —
20000 —
15000 (—
10000 —
5000 |—
—a @
(’_, 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 4, Channel 12, Enable 1!, Hold=35, ADC Noise vs DAC

45
40

35

. ¢
: 1! +§+++*+ §+§++§

15
P 9 Cé °_é
5 L 4 o 0% o
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

| Chip 4, Channel 12, Enable 1!, Hold=35, ADC Residuals vs DAC |

200

Q|—[

-200
-400
-600
-800

-1000
L

10000 20000 30000 40000 50000 60000 70000

o



Chip 4, Channel 12, Enable 2, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

o

-1000

-2000

-3000

-4000

-5000

pl

1.068e+04 / 23
383.9 +1.266
-0.06543 * 6.094e-05

o

1 I 1
20000

1 I 1
30000

1 I 1
40000

50000

Chip 4, Channel 12, Enable 2, Hold=35, ADC Noise vs DAC

60

.
000

140

120

100

80

60

40

N
o

L]

L

b 49
§§§+§

!

S 8
L J

1 I 1
10000

20

000

1 I 1
30000

1 I 1
40000

50000

Chip 4, Channel 12, Enable 2, Hold=35, ADC Residuals vs DAC |

200

0

s

-20

-400

-600

-800

-1000

-1200

-1400

-1600

o

10000

20

000

30000

40000

50000

60

000 70000




| Chip 4, Channel 12, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 27.72 123
pO 253.6 + 0.7673
pl 0.002367 + 2.318e-05

420

v
400 ..‘

380 o
360
340
320

300

N
@
o

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

N

[e2]
Ow’i
|
- @

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 12, Enable 3, Hold=35, ADC Noise vs DAC

12

11

10

[e4)

~

(o))

(&)

N

oJIIII|IIII|IIII|IIII TTTT

| Chip 4, Channel 12, Enable 3, Hold=35, ADC Residuals vs DAC |

gk

N

o

UINARES

10000 20000 30000 40000 50000 60000 70000

A

'
»

o NS
III| III| III| III| 7T




| Chip 4, Channel 12, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 34.45/23
PO 251.8 +0.7686
pl 0.002726 * 2.26e-05

440

420
400
380
360
340
320
300

26(%. ®
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1
0

-
10000 20000 30000 40000 50000 60000 70000

| Chip 4, Channel 12, Enable 4, Hold=35, ADC Noise vs DAC

11

10

A

o
|IIII|IIII|IIII1IIII

o
I
N
o
o
)
=)
N
o
o
o
o
w
o
o
o
o
N
o
O
o
=)
ul
o
o
)
=)
o
o
o
o
o
~
o
o
o
o

| Chip 4, Channel 12, Enable 4, Hold=35, ADC Residuals vs DAC |

14
12

=
o

¢
+ %

0 10000 20000 30000 40000 50000 60000 70000

©® & A N O N A O ©




Chip 4, Channel 12, Enable 5, Hold=35, ADC Mean vs DAC |

x° I ndf

1.303e+04 / 23

p0o 349.4 + 1.046
E pl -0.062 + 5.37e-05
0 __!' o
-1000 :—
-2000 —
= o
-3000 [— )
- o
-4000 |— o °
— { ]
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 I 1 1 1 Al
0 10000 20000 30000 40000 50000 60000

Chip 4, Channel 12, Enable 5, Hold=35, ADC Noise vs DAC

100

80

60

40

20

o

+

§§§§§§6§é§§ ¢

I 1 1 I 1
10000 20000

o

Chip 4, Channel 12, Enable 5, Hold=35, ADC Residuals vs DAC

o
I| T

o

-200

-400

-600

-800

10000 20000 30000 40000

o

50000




| Chip 4, Channel 13, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 38.32/23
PO 198.6 + 0.7565
pl 0.002956 * 2.234e-05

380

o0 ®
360

340
320
300
280
260
240
220

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

N

o
orrr?
- '@

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 13, Enable 0, Hold=35, ADC Noise vs DAC

13
12
11

1

0
9
8
7
6
5
4

1 I 1
0 10000

| Chip 4, Channel 13, Enable 0, Hold=35, ADC Residuals vs DAC |

H_O
l:

X
H ﬂ%“i+++++**+H§”++*+H+
%

10000 20000 30000 40000 50000 60000 70000

d & A N o N

B
N O

N
D

o



Chip 4, Channel 13, Enable 1, Hold=35, ADC Mean vs DAC | X~ / ndf 34.92 /23
150 — p0 197.4 + 0.8157
i pl 0.003675 + 2.496e-05
— ov"”
— [
400 [— o
350 —
300 |—
250 :—
b a @
200?
1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 4, Channel 13, Enable 1, Hold=35, ADC Noise vs DAC

14

12

10

Tlﬁm
—@—

o
1T

Chip 4, Channel 13, Enable 1, Hold=35, ADC Residuals vs DAC |
s
i 44 b
Tt 8 é
| IS +%% fagt T



Chip 4, Channel 13, Enable 2, Hold=35, ADC Mean vs DAC | X~ / ndf

pO0
pl

$

223.3/23
218.3 +£0.7873
-0.008673 * 2.402e-05

20
[

100

-100

-200

-300

-400

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

o
Juny
o
(@) =N
o
o

Chip 4, Channel 13, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1
60000

13

12

11

10

Chip 4, Channel 13, Enable 2, Hold=35, ADC Residuals vs DAC |

10
®
QQQQ.Q e

0g,00°
é ®

o
.QQC§.

-10

1 hLIIII| IIII|I
@

*

-30

-40

005

®

¢

10000 20000 30000 40000 50000

o

60000

70000




| Chip 4, Channel 13, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 21.41 /23
400 pO 199.2 +0.7985
L pl 0.002737 £ 2.517e-05
— v
— o® ®
350 |— o
300 |—
250 [—
Lo ®
e
1 1 1 1 1 1 1 1 1 1 1 I 1 1 1 1 1
0

1 I 1 1 I 1 1 I 1 1 1 I 1 1 I
20000 30000 40000 50000 60000 70000

| Chip 4, Channel 13, Enable 3, Hold=35, ADC Noise vs DAC
13

12

11

10

| Chip 4, Channel 13, Enable 3, Hold=35, ADC Residuals vs DAC |

g

‘e

10000 20000 30000 40000 50000 60000 70000

o



Chip 4, Channel 13, Enable 4!, Hold=35, ADC Mean vs DAC

30000

25000

20000

15000

10000

5000

BT
@

x° I ndf
pO0
pl

7876123
375.3 £0.9018

0.4952 + 4.055e-05

o°®

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 4, Channel 13, Enable 4!, Hold=35, ADC Noise vs DAC

45

40

35

30

25

20

15

10

5

50000

1 I 1
60000

-
70000

++ +++++§

!
0 4

s

Chip 4, Channel 13, Enable 4!, Hold=35, ADC Residuals vs DAC

20

-200
-400
-600
-800
-1000
-1200
-1400
-1600

ik

o

10

000

20

000

30

000

40

000

50000

60

000

70000




Chip 4, Channel 13, Enable 5, Hold=35, ADC Mean vs DAC | X~ / ndf 117.1/23

pO 205.4 +0.8497
pl -0.007584 + 2.598e-05

20

il

100

-100

-200

-300

1 1 I 1
40000 50000

1 I 1 1 I 1
20000 30000

o
[

Chip 4, Channel 13, Enable 5, Hold=35, ADC Noise vs DAC

12

11

H
o
®
®

~ (o] ©
O

]

&}

o
TTTT

Chip 4, Channel 13, Enable 5, Hold=35, ADC Residuals vs DAC |

10

.ﬂ'.

I ||| 1 ||| [ UH 1 ||| TTT ||| 1 |||
-0
@
—@—
o
Y

-10

-15

10000 20000 30000 40000 50000 60000

o



Chip 4, Channel 14, Enable 0, Hold=35, ADC Mean vs DAC | X~ / ndf

pO0
pl

20.08 /23
328.1+0.7513
0.002897 * 2.123e-05

500

480

460

440

420

[ X X A J

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 4, Channel 14, Enable 0, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

14

12

GERERRIACTE

1 I 1 1 I 1 1 I 1 1 I 1 1
10000 20000 30000 40000 50000

Chip 4, Channel 14, Enable 0, Hold=35, ADC Residuals vs DAC |

ATt

-10

| IIII|I III|II II|IJi‘hLIII1

-15

§+§§§§§++

’
t

10000 20000 30000 40000 50000

o
I

60000 70000



Chip 4, Channel 14, Enable 1!, Hold=35, ADC Mean vs DAC | | Xx°/ndf 7313 /23
_ p0o 543.1+1.001
— pl 0.4953 + 4.173e-05
30000 —
= o e® oV
25000 —
20000 —
15000 (—
10000 (—
5000 |—
Ca @
O.- 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 4, Channel 14, Enable 1!, Hold=35, ADC Noise vs DAC

50

40

30

20

10

JIIII|””|H”|””||H
@
@
@
@
®
®
@
[ J
®
H@H
@
@

o
Juny
o
Ol
o
o

Chip 4, Channel 14, Enable 1!, Hold=35, ADC Residuals vs DAC |

o

-500

-1000

-1500

10000 20000 30000 40000 50000 60000 70000

-2000 o
0



Chip 4, Channel 14, Enable 2, Hold=35, ADC Mean vs DAC

bl
®

300 )
200

100

-100

-200

o
IIII|IIII|IIII|IIII|IIII|IIII|

-300 1 1

x° I ndf
pO0
pl

182.5/23
346.1+ 0.839
-0.008623 * 2.638e-05

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 4, Channel 14, Enable 2, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

12

11

10

©

e}

Chip 4, Channel 14, Enable 2, Hold=35, ADC Residuals vs DAC

10

L X

®é

@
@
@
L 4
@
[

-10

| IIIJ|III AL
@
@

¢

-30

-40

II|I III| TTTT

(]
*% QQQ.Q

®

10000 20000

o

30000 40000 50000 60000

70000



Chip 4, Channel 14, Enable 3, Hold=35, ADC Mean vs DAC |

x° I ndf

520
500
480
460
440
420
400
380
360

pO0

pl

27.32/23
328.6 + 0.824
0.00283 + 2.504e-05

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 4, Channel 14, Enable 3, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

Chip 4, Channel 14, Enable 3, Hold=35, ADC Residuals vs DAC |

' ' 1 1 =
o) [« B N O N B » [e¢] (=]

o_}lI|III|III|III|III|IILLLHLLUI1I

.

—@—
—@—
—@—

—@—
—@—

P
gt

—@—

}+ % 233

10000 20000 30000 40000 50000

60000 70000




| Chip 4, Channel 14, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 34.08/23
pO 326.7 +0.8172
pl 0.003022 * 2.482e-05

540

520 v
P

500 o®
480
460
440
420
400
380
360

340,

320 £~

1 1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 14, Enable 4, Hold=35, ADC Noise vs DAC

13

12

1

[N

10

©

| Chip 4, Channel 14, Enable 4, Hold=35, ADC Residuals vs DAC |
12

10

£

20000 30000 40000 50000 60000 70000

o N
||||||||||||||||II|III|III TTT
—@—
—@—
—@—
—@—
—@—
@
—@—
—@—
—@—
—@—
—@—
—@—

o
=
o
o
o
o



Chip 4, Channel 14, Enable 5, Hold=35, ADC Mean vs DAC | X~ / ndf

pO0
pl

129.8/23
335.2 £ 0.8109
-0.00779 * 2.432e-05

300

200

100

o

-100

-200

o
|I III| TTTT |III I|II II|I III|

1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000

Chip 4, Channel 14, Enable 5, Hold=35, ADC Noise vs DAC

12

11

10

Chip 4, Channel 14, Enable 5, Hold=35, ADC Residuals vs DAC |

10

* 4.4
§%§§+§+ 4% t

+++§$

'| 1 Ll;ij T I| TTTT |I

®

-10

-15

44

10000 20000 30000 40000 50000

o
[T




Chip 4, Channel 15, Enable 0, Hold=35, ADC Mean vs DAC

420

400

380

360

340

320

300

280

260

18.78 /23

243.7 £0.8182

0.002856 * 2.604e-05

PYX Dl

o

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 4, Channel 15, Enable 0, Hold=35, ADC Noise vs DAC

50

000

1 I 1
60000

-
70000

13
12

11

10

Chip 4, Channel 15, Enable 0, Hold=35, ADC Residuals vs DAC |

10

| T TTT | FTTT | 1 Llijij'l j I|

KN
o

¢ . ¢
ﬂﬂ“*%ﬁ#“ Mo

¢

o
T

10000 20000 30000 40000 50000 60000 70000



| Chip 4, Channel 15, Enable 1, Hold=35, ADC Mean vs DAC | X* / ndf 49.78 / 23
p0 244 +0.7842
pl 0.003083 * 2.415e-05

450

| J
0o0®
400

350

300

1 I 1 1 I 1 1 I 1 1 1 I 1
20000 30000 40000 50000 60000

-
70000

| Chip 4, Channel 15, Enable 1, Hold=35, ADC Noise vs DAC

13
12
11 ®

10

©

e}

~

| Chip 4, Channel 15, Enable 1, Hold=35, ADC Residuals vs DAC |

?@
—@—
—@—

!

10000 20000 30000 40000 50000 60000 70000

_|||||||II|III|III|III TTT
—@—
—@—
—@—
—@—

o



Chip 4, Channel 15, Enable 2!, Hold=35, ADC Mean vs DAC |

x° I ndf

30000

25000

20000

15000

10000

5000

R

pO0

@

pl

884.9/23
474.7 £1.926
0.4393 + 0.0001628

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 4, Channel 15, Enable 2!, Hold=35, ADC Noise vs DAC

160

140

120

100

80

60

40

20

1 I 1 1 I
60000 70000

ety

1

o

Chip 4, Channel 15, Enable 2!, Hold=35, ADC Residuals vs DAC |

100?

50

0

-50

-100

-150

-200

-250

|IIII|III&JIIII|IIII|IIII|IIII|II

éé*mmmﬁém*”

++{'
¢

o
[

10000 20000 30000 40000 50000

60000 70000




Chip 4, Channel 15, Enable 3, Hold=35, ADC Mean vs DAC | X~ / ndf

440 p0
pl

57.42 123
244.3 £ 0.7863
0.002597 * 2.422e-05

420
400
[
380
360
340
320
300

280

260

N
S
o

o_ .JIII|III|III|III|IH|III|III|III|II

20000 30000 40000 50000

Chip 4, Channel 15, Enable 3, Hold=35, ADC Noise vs DAC

1 I 1
60000

-
70000

12

11

JEny
B (6] (o)) ~ [ee] © o
° m

Chip 4, Channel 15, Enable 3, Hold=35, ADC Residuals vs DAC |

14
12
10

+
+ thH

AN O N A

'
[ee]

+++%++% %++

20000 30000 40000 50000

60000

70000




| Chip 4, Channel 15, Enable 4, Hold=35, ADC Mean vs DAC | X* / ndf 35.13/23
po 242.2 +0.8731
pl 0.002707 % 2.563e-05

420 v
400 PY o® ¢

380
360
340
320
300

280

260

240

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

e

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 15, Enable 4, Hold=35, ADC Noise vs DAC

13
12
11

1

0
9
8
7
6
5

1 1 1 1 I 1
0 10000

| Chip 4, Channel 15, Enable 4, Hold=35, ADC Residuals vs DAC |

14
1i£§:

% to} iy
Lt

0 10000 20000 30000 40000

1 I 1 1 1 1 I 1 1 1 1 I
50000 60000 70000




Chip 4, Channel 15, Enable 5, Hold=35, ADC Mean vs DAC | X~ / ndf 127.4/ 23

pO 250.8 + 0.8877
pl -0.008169 * 2.785e-05

200

100

-100

-200

-300

20000 30000 40000 50000 60000

o
[uny
o
o
o
o

Chip 4, Channel 15, Enable 5, Hold=35, ADC Noise vs DAC

16

14

12

10

Iiill
—@—
—@—
—@—

D
| T

o
[
[any
o
o
o
o
N
o
o
o
o
W
o
ol
o
o
N
o
o
o
o
a1
o
o
o
o
o]
o
o
o
o

Chip 4, Channel 15, Enable 5, Hold=35, ADC Residuals vs DAC |

10 i@
¢ +é+§+ ++
bo04s
AN, i "4

ﬁl

-10

"4
§§+

20000 30000 40000 50000 60000

-15

-20

o
[any
o
o
o
o



x° I ndf
pO0
pl

| Chip 4, Channel 16, Enable 0, Hold=35, ADC Mean vs DAC |

450

40.65/ 23
260.7 £ 0.8398
0.002987 * 2.566e-05

400

350

300

$e°
250O

1 I 1 1 I 1 1 I 1 1 I 1 1
10000 20000 30000 40000 50000

| Chip 4, Channel 16, Enable 0, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

13

12

11

10

| Chip 4, Channel 16, Enable 0, Hold=35, ADC Residuals vs DAC |

|f| I

10

*

t

IR
0

?

&
I |I T I| TTTT |I

-10

¢
§+f§é++%+++§++}$ $4 *{%%%

d

10000 20000 30000 40000 50000

o

60000 70000




| Chip 4, Channel 16, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 31.72 /23
p0o 261.3 £0.8291
450 — pl 0.002973 + 2.605e-05
L oY
C °o®
400 [—
350 [ —
300 [—
_. ®
250 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000
| Chip 4, Channel 16, Enable 1, Hold=35, ADC Noise vs DAC
o0
1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

Chip 4, Channel 16, Enable 1, Hold=35, ADC Residuals vs DAC |

=
o

'
(&)

10000 20000 30000 40000 50000 60000 70000

AN
o

o o
o|||||||||||||'I’III
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—



Chip 4, Channel 16, Enable 2, Hold=35, ADC Mean vs DAC |

270

26080—

250

240

230

220

210

|II II|II II|I III|I III|I TTT

%59

¢

L

x° I ndf
pO0

42.74 123
270.5 £ 0.8656
-0.0005436 + 2.584e-05

o
[

1 I 1
20000

1 I 1 1 I 1
30000 40000

Chip 4, Channel 16, Enable 2, Hold=35, ADC Noise vs DAC

13

12

11

10

©

50000

1 I 1
60000

Chip 4, Channel 16, Enable 2, Hold=35, ADC Residuals vs DAC

;

-15

-20

-25

é+§+

® .4
¢ 44 25 .0%
§+ + 349%9 497 do

¢4°

L
¢

’

o

10000

20

30000 40000

50000

60000 70000




Chip 4, Channel 16, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 31.71/23
— pO 260.4 + 0.7936
450 — pl 0.002743 + 2.369e-05
— L J
B Py o
L o
B o
400 —
350 |—
300 |—
Yy
250 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
0 10000 20000 30000 40000 50000 60000 70000

Chip 4, Channel 16, Enable 3, Hold=35, ADC Noise vs DAC

14

12

:
+ %
AR +++ s

N
|III|III|III|III|III|III TTTTT

10000 20000 30000 40000 50000 60000 70000

o



Chip 4, Channel 16, Enable 4, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

450

pl

26.17 /23
259.5 +£0.8473
0.002759 * 2.585e-05

| J
o0®
®
400

350

300

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 1
50000

1 I 1 1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 60000 70000

o
Juny
o
(@) =N
o
o

Chip 4, Channel 16, Enable 4, Hold=35, ADC Noise vs DAC

14

12

=
o

o

o
T | 171

Chip 4, Channel 16, Enable 4, Hold=35, ADC Residuals vs DAC |

12

10

S

8

|III|III|III|III|III[LL:i£lL|

-
70000

60000

50000

40000

30000

20000

o
[



| Chip 4, Channel 16, Enable 5!, Hold=35, ADC Mean vs DAC | X* / ndf 5125/ 23
po 451.9 +1.028
pl 0.477 + 3.964e-05

30000

L J
Y
25000

20000
15000

10000

5000

1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1
40000 50000

T
@

1 I 1 1 I 1 1 I 1
10000 20000 30000

| Chip 4, Channel 16, Enable 5!, Hold=35, ADC Noise vs DAC

a
o

N
o

w
o

! d

¢ ¢
1L Q**+ b4 ;

N
o

H
° o
|I 1 I| TTTT |I 1 I| TTTT |I

6o00% 000

1 I 1 1 I 1
10000 20000

| Chip 4, Channel 16, Enable 5!, Hold=35, ADC Residuals vs DAC |
200

m—rl

100
0000
.... L X

0

-100

200 [

-300 o
-400

-500

10000 20000 30000 40000 50000 60000

o



Chip 4, Channel 17, Enable 0, Hold=35, ADC Mean vs DAC

| x° I ndf

pO0

400

350

300

250

200,

pl

40.6 /23
183.5 + 0.8423
0.003312 * 2.544e-05

o®®

°rm®
- @

1 I 1 1 I 1
20000 30000

1 I 1
40000

50000

Chip 4, Channel 17, Enable 0, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

14

12

10

[ee]

D

o_rl ANRRERRRE

Chip 4, Channel 17, Enable 0, Hold=35, ADC Residuals vs DAC |

15

$

—@—

¢
¢ ¢
?
; ++++é%

| T II| T Iljih‘J_L| TTTT

KN
o

s

t

+f+$+%é

?

10000 20000 30000

o
TTT

40000

50000

60000 70000




Chip 4, Channel 17, Enable 1, Hold=35, ADC Mean vs DAC

380
360
340
320
300
280
260
240
220

200

=
[0
o

x° I ndf
pO0
pl

35.44 /23
184.6 + 0.8411

0.003019 * 2.539e-05

ve

o
|III|III“II|III|HI|III|II”III|III“I

1 I 1
20000

1 I 1
30000

1 I 1
40000

Chip 4, Channel 17, Enable 1, Hold=35, ADC Noise vs DAC

50000

60

.
000

-
70000

14

12

10

[e] (o]
@

Chip 4, Channel 17, Enable 1, Hold=35, ADC Residuals vs DAC

10

8

@

III|I

t

o

20

000

30

000

40

000

50000

60

000

70000




| Chip 4, Channel 17, Enable 2!, Hold=35, ADC Mean vs DAC |

x° I ndf

pO0

30000

25000

20000

15000

10000

5000

pl

4465 / 23
366.9 +1.249
0.4834 +5.371e-05

o®"
°®

-
o

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

| Chip 4, Channel 17, Enable 2!, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

45
40
35
30
25
20

15

¢
°® o

10

bt

¢

§§§§§§ 0%

N,

| Chip 4, Channel 17, Enable 2!, Hold=35, ADC Residuals vs DAC |

200

Q|—r

0

-200

-400

-600

-800

-1000

-1200

o

10000

20000 30000 40000 50000

60000 70000




| Chip 4, Channel 17, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf 23.47 /23
pO 181.6 + 0.9
pl 0.002917 + 2.607e-05

380

360
340
320
300
280
260
240
220

200

180

1 1 1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

e

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 4, Channel 17, Enable 3, Hold=35, ADC Noise vs DAC

14

12

10

T T e T
—@—
—@—
—@—
—@—

| Chip 4, Channel 17, Enable 3, Hold=35, ADC Residuals vs DAC |
12
i3
8
ef_%
i3t }
X S
IR
+
—6:—r|||I|...I....I....I....I....I....I
0 10000 20000 30000 40000 50000 60000 70000



Chip 4, Channel 17, Enable 4, Hold=35, ADC Mean vs DAC |

380
360
340
320
300
280
260
240
220

200
180

x° I ndf
pO0
pl

38.71/23
182 + 0.8232
0.002854 * 2.525e-05

e

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 4, Channel 17, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

13

12

11

10

O

Chip 4, Channel 17, Enable 4, Hold=35, ADC Residuals vs DAC

12

10

|

8

—@—
—@—

ST

++++

y

© ||||||||||||||||||T1||b|||®r||
—@—
—@—

10000 20000 30000 40000

50000

60000 70000




Chip 4, Channel 17, Enable 5, Hold=35, ADC Mean vs DAC

4500
4000
3500
3000
2500
2000
1500
1000
500
o

x° I ndf

3.133e+05/ 23

p0 2757+ 1.2

pl 0.03424 + 5.265e-05

L J
°
°
°
°
°
°
°
°
°
o0®
. . . 1 I , , 1 I 1 1 1 1 I 1 I 1 1 Al
10000 20000 30000 40000 50000 60000

Chip 4, Channel 17, Enable 5, Hold=35, ADC Noise vs DAC

80
70
60
50
40
30
20
10

¢ ¢

¢

o®

0@
............‘.
1 1 1 1 1 1 1 I 1 1 I I 1 1 1
10000 20000 30000 40000 50000 60000
Chip 4, Channel 17, Enable 5, Hold=35, ADC Residuals vs DAC |
= [
2500 [— [ )
- [
2000 |—
— [
1500 —
- [
- [
1000 — '
- o
500@-g [
%0 ¢, ®
= ®eoo ®
- oo ° ° L
— A XY X
_500 __| 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 I 1 1 1
0 10000 20000 30000 40000 50000 60000




Chip 5, Channel 0, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 25.18/23

po -53.05 £ 0.6325
pl 0.00428 + 2.036e-05

250

200

150

100

50

&;III|IIII|II II|IIII|IIII|IIII|

-50

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

™

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

Chip 5, Channel 0, Enable 0, Hold=35, ADC Noise vs DAC

11

10

©
TTTTTTITTTTTTTT |IIII|IIII|I

Chip 5, Channel 0, Enable 0, Hold=35, ADC Residuals vs DAC |

S

i
+++*+%++%§+*%§+{ ++§+%+

N

o

+
s
Hﬁ

'
N

& A
TTTTTTT III|III| III|III|III|III|II

10000 20000 30000 40000 50000 60000 70000




Chip 5, Channel 0, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 18.53 /23

po -53.23 £ 0.6995
pl 0.004359 * 2.213e-05

250

v
[

200 ° eo®

150

100

a
o

o
° o o
JﬂlII|IIII|IIII|IIII|IIII|IIII|I

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

Chip 5, Channel 0, Enable 1, Hold=35, ADC Noise vs DAC

1
10 —

1 I 1
0 10000

Chip 5, Channel 0, Enable 1, Hold=35, ADC Residuals vs DAC |

10

¢
* 4
+§§+§%§§§§+§%é+++§++§§++%% +

@~

-10

ILLJ.LL I|I 1 I| TTTT |I 1 I|

20000 30000 40000 50000 60000 70000

o
=
o
o
o
o



Chip 5, Channel 0, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

200

51.85/23
-54.48 + 0.7808
0.003859 * 2.359e-05

150

100

]
o

o

o
° o
.JIIII| IIII|I III|IIII |IIII|I

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 5, Channel 0, Enable 2, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

12

11

10

o1
|IHI|IFH|II

o
Juny
o
Ol
o
o

Chip 5, Channel 0, Enable 2, Hold=35, ADC Residuals vs DAC |

it

St

% Y

¢

o & A N o

¢

-10,
-12

% .
§+++

20

000

30

000

40

000

50

000

60

000

70

000



Chip 5, Channel 0, Enable 3!, Hold=35, ADC Mean vs DAC

x° I ndf
pO0

30000

25000

20000

15000

10000

5000

pl

6572 /23
109.3 +1.019

0.4988 + 5.028e-05

[ A A4

B
L)

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 5, Channel 0, Enable 3!, Hold=35, ADC Noise vs DAC

50000

1 I 1
60000

-
70000

70
60
50
40

1

30

¢

20

10

10 ge00°%,

T

0

§++§§++$;

0 10000 20000

Chip 5, Channel 0, Enable 3!, Hold=35, ADC Residuals vs DAC

-500

-1000

-1500

-2000

-2500

10000 20000 30000 40000

o

50000

60000

70000




Chip 5, Channel 0, Enable 4, Hold=35, ADC Mean vs DAC |

250

x° I ndf
pO0
pl

14.14 /23
-54.55 + 0.698
0.004422 + 2.137e-05

200

150

100

[
o

o

n
° o
.LIIII|IIII|IIII|IIII|IIII|IIII|

1 I 1 1 I 1 1 I 1
20000 30000 40000

Chip 5, Channel 0, Enable 4, Hold=35, ADC Noise vs DAC

50000

1 I 1 1 I
60000 70000

11

10

Chip 5, Channel 0, Enable 4, Hold=35, ADC Residuals vs DAC |

8
6
4

$

-12 1 1 ] 1 1 1 ] 1 1 1 ] 1 1 1

o
1II|III|III|III|III|III|III|III

-10

+*++++%%+§%§+ }+++%§f++++}+%é

¢

0 10000 20000 30000 40000

50000

60000 70000




Chip 5, Channel 0, Enable 5, Hold=35, ADC Mean vs DAC

200

150

100

]
o

o

x° I ndf
pO0
pl

47.8 /23
-54.18 + 0.7071
0.003715 * 2.195e-05

o
° o
‘1I T I|I T I| T II| T II| T II|

1 I 1
20000

1 I 1
30000

40

000

Chip 5, Channel 0, Enable 5, Hold=35, ADC Noise vs DAC

1 I 1
50000

11

10

©
TTTT IIII|IIII|IIII|IIII|II

“IIIFIII|H

w

o

Chip 5, Channel 0, Enable 5, Hold=35, ADC Residuals vs DAC

| FTTT | TTTT | T I| I

T

KN
(6)]

—@—
—@—

é ;
SRR +H%f+ﬂw

10000 20000

30000

40

000

50000

60000




| Chip 5, Channel 1, Enable 0!, Hold=35, ADC Mean vs DAC | X° / ndf 5144/ 23
_ p0o 116.7+1.018
— pl 0.4879 + 4.778e-05
30000 |- oo
— eo®
25000 —
20000 (—
15000 —
10000 —
5000 :—
(i. , 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
10000 20000 30000 40000 50000 60000 70000

| Chip 5, Channel 1, Enable 0!, Hold=35, ADC Noise vs DAC

50
40

30

¢ % ++§+++§+§
6

20

|IIII|IIII|IIII|IIII|I
—@—

=
o

.0090600.069

S T®

1 I 1 1 I 1
10000 20000

| Chip 5, Channel 1, Enable 0!, Hold=35, ADC Residuals vs DAC |

200@

— 0000
e ee000000 00000000000
200 £ @ ...

-400

-600 o

-800
-1000
-1200
-1400
-1600
-1800

10000 20000 30000 40000 50000 60000 70000

o
TTT



Chip 5, Channel 1, Enable 1, Hold=35, ADC Mean vs DAC

200

150

100

50

e

x° I ndf
pO0
pl

23.83/23
-48.98 + 0.6451
0.004119+ 2.021e-05

1 I 1 1 I 1
20000 30000

1 I 1
40000

Chip 5, Channel 1, Enable 1, Hold=35, ADC Noise vs DAC

50000

60

. -
000 70000

T 1i|||

o1
III|IIII|IIII1IIII

o
Juny
o
Ol
o
o

Chip 5, Channel 1, Enable 1, Hold=35, ADC Residuals vs DAC

+

Lttty

II1|III|III| III|III|III|III

+%+++%+ %%++

?

20000 30000 40

000

50000

60

000 70000




Chip 5, Channel 1, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 43.32 /23

po -50.15 + 0.6938
pl 0.003851 + 2.178e-05

200

|
150 ¢

100

50

Ju III|II II|III I|IIII| IIII|II
[

-50

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

™

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

Chip 5, Channel 1, Enable 2, Hold=35, ADC Noise vs DAC

11

10

Chip 5, Channel 1, Enable 2, Hold=35, ADC Residuals vs DAC |

&

—@—
@
—@—
—@—

%#% ;
¢

—@—
—@—
—@—

! X

—@—

o
1II|III|III|III|III|III|III|I

-10

10000 20000 30000 40000 50000 60000 70000

e



Chip 5, Channel 1, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf

pO0
pl

25.93/23
-48.59 + 0.7283
0.004754 + 2.178e-05

250

200

150

100

50

o

&
(@)
omﬁl

1 I 1 1 I 1 1 I 1 1
20000 30000 40000 50000

Chip 5, Channel 1, Enable 3, Hold=35, ADC Noise vs DAC

1 I 1 1 I
60000 70000

11

10

o
TTT

Chip 5, Channel 1, Enable 3, Hold=35, ADC Residuals vs DAC |

10

TTT I| TTTT |I [T I| ITTT |I
—@—

||'|’<|3

é ¢
LTI +#*+*#é

ﬁ

20000 30000 40000 50000

o
=
o
o
o
o

60000 70000




| Chip 5, Channel 1, Enable 4, Hold=35, ADC Mean vs DAC | X° / ndf 21.16/ 23
pO -50.77 + 0.6794
pl 0.004405 + 2.146e-05

250

v
° [
200 °®
150
100

50

o

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

&
O
OTF‘I

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

| Chip 5, Channel 1, Enable 4, Hold=35, ADC Noise vs DAC
11

10

©
IIII]IIII|IIII|IIII

|||||T1|||||||| T
—@—

o
Juny
o
Ol
o
o

| Chip 5, Channel 1, Enable 4, Hold=35, ADC Residuals vs DAC |

%

++***”+*”+*m* RAM

: *

0 10000 20000 30000 40000 50000 60000 70000

N
II1|III|III|III|III|III|III|III




Chip 5, Channel 1, Enable 5, Hold=35, ADC Mean vs DAC | x° I ndf 37.37/23

pO -48.79 + 0.6957
pl 0.003712 + 2.217e-05

200

L J
o®®
150

100

50

J'III I|II II| TTT I|II II|I III|

-50

1 1 1 1 1 1 1 1 1 1 1 1 1 1
40000 50000

i

1 I 1 1 I 1
20000 30000

Chip 5, Channel 1, Enable 5, Hold=35, ADC Noise vs DAC

11

10

©
L

’TIIII

~

»

(&)

N

O_JIIII|IIII TTTTTTTT

Chip 5, Channel 1, Enable 5, Hold=35, ADC Residuals vs DAC |

TR TIPS
T gt

I O| T | 1T || 1T ||
—@—
-

°

10000 20000 30000 40000 50000 60000

H
oo
J T



| Chip 5, Channel 2, Enable 0, Hold=35, ADC Mean vs DAC | X* / ndf 26.95/23
pO 81.05 + 0.7361
pl 0.004195 + 2.317e-05

350 M
o

o®

300

250

200

150

100

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

| Chip 5, Channel 2, Enable 0, Hold=35, ADC Noise vs DAC
11

10

6 —

s F
0

| Chip 5, Channel 2, Enable 0, Hold=35, ADC Residuals vs DAC |

1 I 1
10000

8
6
4

¢
+ ; b
i ++*+“++ﬁ %"’Hﬁf i’

0 10000 20000 30000 40000 50000 60000 70000




| Chip 5, Channel 2, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf 28.99/23
pO 80.81+ 0.6581
pl 0.004495 + 2.043e-05

400

350 ° o® °v
300
250
200

150

100

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

| Chip 5, Channel 2, Enable 1, Hold=35, ADC Noise vs DAC

10

o

IN o
||||||||| [TTTTT
—@—

o
Juny
o
Ol
o
o

| Chip 5, Channel 2, Enable 1, Hold=35, ADC Residuals vs DAC |
6

4

2

RETAREE N

{ 4

Ith{illl|III|III|III|III|III|

-10

-12

10000 20000 30000 40000 50000 60000 70000




| Chip 5, Channel 2, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf 37.47 /23
pO 80.79 + 0.7476
pl 0.003919 + 2.195e-05

350

.0'
o0

300
250
200

150

100

a1
o

1 1 1 1 1 1 1 1 1 ] 1 1 1 1 ] 1 1 1
50000 60000

1 I 1 1 I 1 1 I 1 1 I
20000 30000 40000 70000

o
Juny
o
(@) =N
o
o

| Chip 5, Channel 2, Enable 2, Hold=35, ADC Noise vs DAC

11

10

©
IIIrIIII|IIII|IIII|IIII |II

| Chip 5, Channel 2, Enable 2, Hold=35, ADC Residuals vs DAC |

; *;*{ batts,t
: §++ ; ITIPSERAL. +++§+§+§

@~

o
T |I 1 I| T I| TTTT

.

[T
@~

N
(6)]

10000 20000 30000 40000 50000 60000 70000

o
[



Chip 5, Channel 2, Enable 3!, Hold=35, ADC Mean vs DAC
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Chip 5, Channel 2, Enable 5, Hold=35, ADC Mean vs DAC
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